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(OF =B 50,0003 x7H«12& 4,200
Ol 50,0002 x 1Y+ 12& 600
ouel=g 50,0003 x 18« 12& 600
OzRR4Y
12,5503 *9H = 15A| 2t 123 20,331
OZHZ A 140,002 +92 * 12 15,120
OYE IOt 24,079, 4403 x50%*23] 24,080
OHIHE &M 100, 3603 9 x20 18,065
KNS SEALS A (BX) 78,120 74,520 3,600
J| 39,060
= 7,812
Al 31,248
101 @124 d| 78,120 74,520 3,600
| 39,060
= 7,812
Al 31,248
03 SRA(RINHL) 22X E > 78,120 74,520 3,600
OSEAAET H20/12 0I21b|
25,800,000 *3H 77,400
| 38,700
& 7,740
Al 30,960
OXMZo=E W=H| 240,000 3% 720
| 360
& 72
Al 288




AGEAA BARUY
HUH2IJH(LGEAL BAZMY)
5=l EER-E)
SA - B SRIBH) - MRAR - BAS A HIDEZ
a0l 45,491 64,8% 19,405
04 HSRESS 45,491 56,096 210,606
0 ZLE(RINN) 22X FHIRLYSZ S 45,491 13,545 31,946
OZ2E (2|22 2ol J|2E
g= 407,096,380 *4. 5% 18,320
OSRH(RIIAH)22X 2ALEE |
H2E=S 16,975
(@Fakis-t= 407,096, 3802 *3.495% 14,229
OFIIRYEE 14,228,020 %12.27% 1,746
OSRA(RINHA)22X NEEE JI|&R
g= 407,096,380& *1.75% 7,125
OSRA(RINHA)2Z2 T MATHHNEE =
407,096,380 * 1% 4,07
=3l 145,363 140,918 4,445
Jl=23H] 145,363 140,918 4,445
201 Let=d] 55,323 50,598 4,725
01 AlR2teldl 48,867 43,758 5,109
QJ|2dR+A2S3HI(0IE3Y)
500,000 *39Z *97% 18,915
OSEHI(OI=23H])
8,000 x30H 82 * 12 29,952
2 S524g4l 6,456 6.840 N384
oRER= 6,45
Ooggt 4003 x720S+12& 3,45
OSJI 2,5003 1005122 3,000
202 04| 73,200 73,600 A400
01 =LHOHI 20,400 20,800 A400
OJI=&H| 20,0002 x17H+62x 122 20,400
02 XN 52,800 52,800 0
O2ARAA XL =X
200,000 ~4H 122 9,600
OsNg Y222 =4
200,000& «4H = 12& 9,600
OSHNY WA =
200,000 x14H 122 33,600
203 g4l 16,840 16,720 120
01 J|22gdR=aH] 6,000 6.000 0
OJIEH(43) 6,000,000 6,000
02 SRt =AY 4,960 4,720 240
OJ|=H 4,960
O1002! Olot 40,0003 1008 4,000
O1002! =1t 30,0002 x32& 960
M EASHLRFAH 5,880 6,000 A120
QJI= 5,880
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H
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A HEEAHA AUSHIL
=<
(=)

B =X
ol BAOZAIED|BHSF (CHol: &S1)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
= 4,833
Al 4,834
01 AL = SF S| 29,000 0 29,000
(OF [ESSES 3,300,000 «1CH 3,300
= 2,200
& 550
Al 550
Od Y AdHE 3,000,000 «1CH 3,000
= 2,000
= 500
Al 500
OdaZHAl 3,000,000 «1CH 3,000
= 2,000
= 500
Al 500
OHEZctoIB 4l 3,000,000 «1CH 3,000
= 2,000
& 500
Al 500
OEMHA 3,000,000 «1CH 3,000
s 2,000
= 500
Al 500
OZEeIEEAT A 3,000,000 *1CH 3,000
s 2,000
& 500
Al 500
O AMO0IZ2 2,000,000 «2CH 4,000
s 2,667
= 666
Al 667
O Al 5,700,000 1CH 5,700
s 3,800
= 950
Al 950
OYEDIAIRID| 1,000,000 «1CH 1,000
s 666
= 167
Al 167
etz A20X3|0| 948,881 1,055,99% A107,114
| 352,527
& 241,323
Al 355,031




2A:
X XH -
o e

=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

2 RI1EE A 240,000 240,000 0
Jl 120,000
== 36,000
Al 84,000

308 XXM SOIA 240,000 240,000 0
7l 120,000
=S 36,000
Al 84,000

1 S| 2SO0 UeZBSHASAIE 240,000 240,000 0
(©OF=FNla] 240,000,000 240,000
Jl 120,000
= 36,000
Al 84,000

ezt A2H T 31,030 33,350 A2,320
Jl 24,824
= 1,862
Al 4,344

308 AXIHSOIA 31,030 33,350 N2,320
Jl 24,824
= 1,862
Al 4,344

1 SIS0t HASAIY 31,030 33,350 A2,320
(OF=FSl:] 31,030,000& 31,030
) 24,824
< 1,862
Al 4,344

LEX OISHIXIR (MEALY) 260,380 260,380 0
= 169,247
Al 91,133

307 gl2to| & 260,380 260,380 0
=S 169,247
Al 91,133

01 22 +ZH| 260,380 260,380 0
OYetkt o ZHIKIA 260,380,000 260,380
< 169,247
Al 91,133

NS A2 A2 AL 68,480 68,480 0
Jl 34,240
Al 34,240

202 04t 500 500 0
) 250
Al 250

01 2L AL 500 500 0
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M HUEW
Ctel g5 2219101 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXI S At A2 AL 04| 500,000 500
Jl 250
Al 250
307 gl2to| & 67,980 67,980 0
Il 33,990
Al 33,990
05 git?(& = 67,980 67,980 0
OXIS AL A B ZE A 67,980,000 67,980
Jl 33,990
Al 33,990
NSAtel SSALSTAIY 201,723 213,664 A11,941
Jl 99,829
< 19,966
Al 81,928
101 e124d| 20,840 24,804 A3,964
Jl 9,389
=S 1,877
Al 9,574
04 JIZtN2 2N S 2+ 20,840 24,804 A3,964
OSEALSTAY 222 XH1E) 20,840
OQIAHI(FY) 87,7203 x 1B 262 +8F 18,246
Jl 9,124
s 1,824
Al 7,298
O =208 W=H| 240,000 *1 240
Jl 120
=S 24
Al %
Onl=tl 90,0003 *1& 0
2l 45
=S 9
Al 36
OEE=It| 200,000 113 200
7l 100
S 20
Al 80
O4HES JI2RE=3 2,064
-AYL2E 18,446,000 *3.495% 645
“HAIRAYEE 645,0002 *12.27% 80
-=23=s 18,446,000 +4. 5% 831
-UEEE 18,446,000 *1.75% 323
~SH 2 E 18,446,000 * 1% 185
201 er23| 39,683 47,860 A8 T




A A2 ALSAL
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 19,840
=S 3,969
Al 15,874
01 AtR2t2|HI 30,183 37,760 NT,577
OAHZ AT 14,183,000& 14,183
Jl 7,090
= 1,419
Al 5,674
O7Z=2AAMSE 7,000,000& 7,000
Jl 3,500
= 700
Al 2,800
OZXEAHAY 4,000,000 4,000
Il 2,000
= 400
Al 1,600
ORI
5,000,000& 5,000
Jl 2,500
= 500
Al 2,000
03 A= 9,500 9,500 0
OAHZ AT 5,000,000& 5,000
7l 2,500
= 500
Al 2,000
OZXEAHA 4,500,000& 4,500
Il 2,250
= 450
Al 1,800
301 Eet2 NS 7,500 5,000 2,500
Jl 3,750
= 750
Al 3,000
11 #AIAMHIXIZ S 500 0 500
OZX=EAASE 500,000 500
Il 250
== 50
Al 200
4Bt 23 7,000 5,000 2,000
OAEEN A&tz 7,000,000& 7,000
Il 3,500
= 700
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2A:

B A=W
Rl dEgs A2 X310 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 125
Al 500
307 elztol & 7,500 7,500 0
Jl 3,750
== 750
Al 3,000
01 22X+ 2H| 7,500 7,500 0
OZHte EAHNAIE 2A=SAES
7,500,000& 7,500
Jl 3,750
< 750
Al 3,000
KNEAR S SAXBAMEIA 95,280 102,793 AT7,513
Jl 47,640
< 9,528
Al 38,112
201 el 59,880 57,793 2,087
Jl 29,940
s 5,988
Al 23,952
01 At22t2l] 41,580 55,693 A14,113
Oos=2= ¥ UsAE 13,400,000 13,400
Jl 6,700
= 1,340
Al 5,360
oz =cIH=2d 15,000,000& 15,000
7l 7,500
= 1,500
Al 6,000
OzdHEdxd 13,180,000& 13,180
Jl 6,590
= 1,318
Al 5,212
02 s3=gHl 300 600 A300
OzHAER &oiLE 150,0002 x2H 300
7l 150
S 30
Al 120
03 A2 I 18,000 1,500 16,500
OSHUFTZ ] A
2,000,000 ~8JH 2= 16,000
Jl 8,000
=S 1,600




A A2 ALSAL
M HUEW
el dEs A2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 6,400
O=HWSTZ ] ZAH|
50,0002 *402] 2,000
Jl 1,000
= 200
Al 800
301 22N = 15,400 25,000 29,600
7l 7,700
= 1,540
Al 6,160
4Bt 2as 15,400 25,000 29,600
OBUNNTH 2Y4gY
40,0002 x2EH =180 14,400
Jl 7,200
= 1,440
Al 5,760
OAMAsSoY ZH ASEN A=
5,000 *200& 1,000
2l 500
= 100
Al 400
307 212+01& 20,000 20,000 0
7l 10,000
= 2,000
Al 8,000
01 22 +=H| 20,000 20,000 0
O=HESH2S(SHERM, 223)
40,0002 *500& 20,000
Jl 10,000
= 2,000
Al 8,000
SIRFAAS P2 H HAHEE &4 2,788,619 2,493,259 295,360
= 85,440
= 52,597
7l 1,170,861
= 463,158
Al 1,016,563
gdEAL A 107,886 72,750 35,136
[ 16,976
= 3,195
Al 88,715
101 @12A4H| 35,136 0 36,136
[ 15,976
= 3,195
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2A: NYEEHAL ALSED
Zu: AAST
&2lr QZRFAHE P Y HHEE =4 (EEEE))
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
s 21,621
= 4,325
Al 17,29
01 At 22|l 43,242 0 43,242
o= ¥ =3 43,242 ,000& 43,242
= 21,621
& 4,325
Al 17,29
307 gI2tol ™ 30,000 0 30,000
s 15,000
& 3,000
Al 12,000
01 224 +=H| 30,000 0 30,000
0o=zE8LEE 30,000,000 30,000
s 15,000
& 3,000
Al 12,000
USSR K ZAFS (RO (HBHAIY) 10,555 10,555 0
= 6,861
Al 3,694
201 B2 AY| 2,800 2,800 0
= 1,820
Al 980
01 ArR2eltl 2,800 2,800 0
oMot =222 1,000&*2,800H 2,800
= 1,820
Al 980
307 212+01™ 7,755 7,755 0
& 5,041
Al 2,714
01 22¥¢+=H| 7,755 7,755 0
%9 Y ABE 7,755,000& 7,755
& 5,041
Al 2,714
SIHUXI LA S} 2lZH] K& 430,106 355,474 74,632
| 215,053
= 64,516
Al 150,537
308 AXISHMSOIN 430,106 355,474 74,632
| 215,053
& 64,516
Al 150,537
1 SI 2SO HE B AR LAE AL 430,106 355,474 74,632
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A A2 ALSAL
Zu: AAST
&©HRl: IBFHAUAE Fs Y HLEE =4 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 299,520
=S 119,808
Al 179,712
NHaoe & AALSEAY (XEA) 25,000 25,000 0
307 212+01& 25,000 25,000
05 2ItRIE = 25,000 25,000
o=22H| 25,000,000 *10H 2~ 25,000
Haolet & HAHUSTAG (EX) 71,260 71,260 0
Jl 35,630
[ 10,689
Al 24,941
307 glztol & 71,260 71,260 0
Il 35,630
s 10,689
Al 24,941
05 2IR”IRIE = 71,260 71,260 0
o2 71,260,000 * 11 2 71,260
Jl 35,630
= 10,689
Al 24,941
SESELN =228 XA 25,000 25,000 0
[ 6,250
Al 18,750
307 glztol & 25,000 25,000 0
S 6,250
Al 18,750
05 2IHRIE S 25,000 25,000 0
o9sEN Mz L
25,000,000 * 100 2 25,000
= 6,250
Al 18,750
Aa2E X S50 XIzdl K& 13,000 13,000 0
< 3,032
Al 9,968
307 elztol & 13,000 13,000 0
& 3,032
Al 9,968
05 2IMRIE =3 13,000 13,000 0
OXta?Ag A SSMHeX=Hl A&
13,000,000 * 10 2 13,000
= 3,032
Al 9,968
NSALR A0 WERD 5 4,000 4,000 0




SH MEPAA AZEAY
M HUEW
&©HRl: IBFHAUAE Fs Y HLEE =4 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,200
Al 2,800
307 lztol & 4,000 4,000 0
= 1,200
Al 2,800
05 212t =S 4,000 4,000 0
OXSAtel Ataud WERA 5
4,000,000 * 10K 2= 4,000
=S 1,200
Al 2,800
FAY=RNEE S SAA MME8] XA 22,800 21,600 1,200
< 6,840
Al 15,960
307 elztol & 22,800 21,600 1,200
= 6,840
Al 15,960
05 21t =3 22,800 21,600 1,200
OFAABSNHE S SAHL XM IHEH]
A& 22,800,000 * 10 £ 22,800
= 6,840
Al 15,960
el EE =l XNE At 3,500 8,000 4,500
= 1,750
= 700
Al 1,050
307 @120l & 3,500 8,000 4,500
= 1,780
= 700
Al 1,050
05 2I2tRIE =S 3,500 8,000 A4,500
OoZuZe X=dl N2 Arg
3,500,000 * 10 2 3,500
= 1,750
= 700
Al 1,050
s=52e SEANYUE 2E(ExX) 167,380 164,980 2,400
= 83,690
= 25,107
Al 58,583
307 el2tol & 167,380 164,980 2,400
= 83,690
== 25,107
Al 58,583
05 21t =2 167,380 164,980 2,400
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B A=A
&©HRl: IBFHAUAE Fs Y HLEE =4 (EEEE))
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
o=2gt| 167,380,000 * 100 &~ 167,380
= 83,690
T 25,107
Al 58,583
s SEX2HEH 2 (XHA) 53,000 53,000 0
307 212+01 A 53,000 53,000
05 QIZtRES 53,000 53,000
o234l 53,000,000 100 & 53,000
SSHMHALSEAG 263,300 155,000 108,300
J| 131,650
& 52,660
Al 78,990
307 212+01 ™ 263,300 155,000 108,300
| 131,650
= 52,660
Al 78,990
05 2IZtRES 263,300 155,000 108,300
OSETAAHLBEAY
153,300,000 * 100 &~ 153,300
| 76,650
= 30,660
Al 45,990
Os=X oA XM
110,000,000 * 14 &~ 110,000
| 55,000
= 22,000
Al 33,000
e 2= AAS MHIA XA 44,500 0 44,500
| 22,250
= 8,900
Al 13,350
307 212+01 A 44,500 0 44,500
| 22,250
& 8,900
Al 13,350
05 2I2tRES 44,500 0 44,500
OXtet RE JFAE MUIA XA
44,500,000 * 10 2~ 44,500
| 22,250
= 8,900
Al 13,350
XIOHCtAldIE 2Z X 548,308 665,060 A116,752
| 438,648
T 21,931
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B A=A
&2lr QZRFAHE P Y HHEE =4 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 87,729
101 @1A4H| 23,474 0 23,474
Il 18,779
= 940
Al 3,755
MU IIRIMZZENSES 23,474 0 23,474
OXIOHtA MIES JI2HK 22 & 23,474
OglZit| 87,7203 x1H+26 2«0 20,527
Il 16,422
= 820
Al 3,285
O4i2E JI22E= 2,318,000& 2,318
Il 1,854
== A
Al 370
Og&E=Itd| 200,000 x1H 13 200
Il 160
== 8
Al 32
Os& 0y 429,000 429
Jl 343
= 18
Al 68
201 eer23y| 401,294 510,860 109,566
) 321,037
= 16,050
Al 64,207
01 At2teltl 278,470 385,876 107,406
Ogg A=< 1,372,000 x1&* 12 16,464
Jl 13,172
== 657
Al 2,635
OXS A8 22 &4 =5
100,000 »23|+8&H 1,600
) 1,280
& 64
Al 256
ou=tl 90,0003 22 1,980
) 1,584
< 80
Al 316
od=2=I| 22l 34,5002 +50H+ 122 2,070
Jl 1,656
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ma: AUEZ
&©HRl: IBFHAUAE Fs Y HLEE =4 CEEREE
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 83
Al 331
O3JIEE)| 2eltl 2,609,000& 2,609
Jl 2,087
< 105
Al 417
OADIINI=D| 2telbl 35,9003 * 122 431
Jl 344
== 19
Al 68
OS] 2teld] 600,000 600
Jl 480
[ 24
Al %
OHAZRY =8 1,381,000& «12& 16,572
Jl 13,258
< 662
Al 2,652
0YUDE T Uo 242
770,000 «1CH*10& 7,700
Jl 6,160
== 308
Al 1,232
OXIOHRFAHIE A2 218,000
OINE=22l L EII BT
48,000,000 48,000
Il 38,400
= 1,920
Al 7,680
OXIONIAD S & Olg2e At
38,000,000 38,000
Jl 30,400
= 1,520
Al 6,080
OXlfety0tEs 23 38,000,000 38,000
Il 30,400
= 1,520
Al 6,080
OXIftAEe & IS
10,000,000& 10,000
Jl 8,000
= 400
Al 1,600
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o e
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SEAA HYS
A=z
25NE 75 zH
M- ZE - BRAEN) - HRAY - BAS e
OXIofets =2
84,000,000& 84,000
Il 67,200
[ 3,360
Al 13,440
OXIOHetAHIE 2 10,444,000 10,444
Il 8,357
[ 416
Al 1,671
02 S22l 22,824
OXIOHQtA e S# =
20,000,000& 20,000
Il 16,000
= 800
Al 3,200
O & eIHARs 47,0002 128 564
Il 451
= 2
Al 9N
OXt& =l 200,000 1CH* 102 2,000
Il 1,600
< 80
Al 320
o=zel 28 130,000& +2& 260
Il 208
< 10
Al 42
03 A2 I 100,000
Oun=s, Z2# ¢ 29
50,000,000 50,000
Il 40,000
& 2,000
Al 8,000
OXIOH A OF 50,000,000& 50,000
Il 40,000
< 2,000
Al 8,000
202 04| 26,400
Il 21,120
< 1,065
Al 4,225
01 =LHA I 26,400
OXIHY R
100,000 x22H « 122 26,400
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SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| 21,120
= 1,055
Al 4,225
301 LEENSZ 12,400 17,400 5,000
| 9,920
& 4%
Al 1,984
11 SHAIAHIXI A2 10,000 15,000 5,000
ONS, T2 U B 2Y S
10,000,000 10,000
| 8,000
& 400
Al 1,600
14 JIEt2 &S 2,400 2,400 0
o2z HEX
200,000 x 15+ 12& 2,400
| 1,920
= %
Al 384
307 QIZ2t01 A 84,740 110,400 A25,660
| 67,79
= 3,390
Al 13,558
01 2 2¥+=H| 84,500 110,400 A25,900
OXIONER AMES KR
35,0003 *100F 123 42,000
| 33,600
& 1,680
Al 6,720
O2qUE L 922 ARE
20,000,000& 20,000
| 16,000
= 800
Al 3,200
OXIHEIIZE HUZAHI
150,000 *150H 22,500
| 18,000
= 900
Al 3,600
06 2832 240 0 240
OLEZIHFNLL BE3 240,000& 240
| 192
= 10
Al 38
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Al 49,034
308 AXIMSOIA 140,097 140,097 0
= 91,063
Al 49,034
11 S 2S0UeB A A AEY 140,097 140,097 0
OXIOHXI =22/ 140,097,000 140,097
s 91,063
Al 49,034
XA SSHEXH 109,115 109,115 0
& 20,733
Al 88,382
301 LEtE NS 109,115 0 109,115
= 20,733
Al 88,382
03 A2 E A0S (XILTHH) 109,115 0 109,115
OXINEX S=HET
109, 115,000 109,115
=S 20,733
Al 88,382
Aol ss=A K& 3,200 3,042 158
Jl 2,560
=S 128
Al 512
201 et 3| 800 642 158
Jl 640
= 32
Al 128
01 AtR2t2|HI 800 642 158
o8t ZXHIE S 800,000 «1H 800
Il 640
= 32
Al 128
301 EtE NS 2,400 2,400 0
Jl 1,920
= %
Al 384
14 DBt 23 2,400 2,400 0
0B2HA BEXAY
200,000« 1H =122 2,400
) 1,920
= %
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| Al 384
XIOHOIADHA X (X HEZZ O 299) 10,000 10,000 0
= 2,000
Al 8,000
201 B2 AL| 3,500 3,500 0
= 700
Al 2,800
01 ArR2eltl 3,500 3,500 0
OCXNMEEZH EE2 L USAZE S
3,500,000& 3,500
& 700
Al 2,800
301 LB F 6,500 6,500 0
= 1,300
Al 5,200
11 HALAHIXIEZ 200 200 0
OLIXIMHE T2 29 200,000 200
= 40
Al 160
14 JIEt2 43 6,300 6,300 0
©J14 X210l =Xl 6,300,000& 6,300
& 1,260
Al 5,040
240 Ots2l A2 Al 1 1,244,346 1,129,424 114,922
= 192,875
J| 44,720
= 654,375
Al 352,376
SXEAHAS 12,000 10,500 1,500
201 Let2| 12,000 10,500 1,500
01 Ar2eltl 12,000 10,500 1,500
ORXNEHAIE E2EZE ME ¥ 2 12,000
OLMRXNSHEXN S E2X HE
1,5002 *1,0002+2& 3,000
OBXNEHAIE E2=8 7
3,000 *750 x4& 9,000
HAEAME JASA o|zH| X 4,050 4,000 50
| 2,025
= 1,012
Al 1,013
308 AXIEHMSOIN 4,050 4,000 50
| 2,025
= 1,012
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,013
1 SISt AS A 4,050 4,000 50
OFAEAR YAEH 2|2H| XIH
4,050,000 4,050
Jl 2,025
= 1,012
Al 1,013
AR AIMOF A2 2] XA (HEALY) 545,640 607,488 61,848
== 381,948
Al 163,692
308 AHXIHMSO0IA 545,640 607,488 61,848
< 381,948
Al 163,692
11 SIS0t oA A A 545,640 607,488 A\61,848
OAtRAIH0F Ad22| X2
545,640,000 545,640
= 381,948
Al 163,692
S=0F A2 Fd 3,123 3,381 VAVZISS]
Il 2,498
= 188
Al 437
308 AXIHSOIA 3,123 3,381 N258
Jl 2,498
== 188
Al 437
11 SIS0t oA AS A 3,123 3,381 A258
O0gs0t gy 3,123,000& 3,123
Jl 2,498
< 188
Al 437
Slegit AL oY S 2| 1,887 1,888 AT
Jl 1,510
[ 113
Al 264
201 Ler23 | 1,887 1,888 A
Jl 1,510
s 113
Al 264
01 AtR2te|Hl 1,887 1,888 A
OAIHE2HI 1,887,000& 1,887
Jl 1,510
= 113
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| Al 264
S=0F LEH LA XA 5,050 5,050 0
Jl 4,040
= 303
Al 707
307 gl2to| & 5,050 5,050 0
Jl 4,040
= 303
Al 707
01 22X+ &H| 5,050 5,050 0
OYRO0 LT FL A
5,050,000& 5,050
) 4,040
= 303
Al 707
S&d HAOIZS A & etot2te 22,660 18,964 3,696
Jl 11,330
= 5,665
Al 5,665
307 elztol & 22,660 18,964 3,69%6
Jl 11,330
< 5,665
Al 5,665
01 22X &I 22,660 18,964 3,6%
OAEE AIOIYE AR & 802t
22,660,000 22,660
Jl 11,330
< 5,665
Al 5,665
S HEAAL 20| X2 1,625 1,000 625
Jl 812
== 407
Al 406
307 212+01& 1,625 1,000 625
v 812
=S 407
Al 406
01 22 +=H| 1,625 1,000 625
Ozl & 2FIIXE 1,625,000 1,625
Jl 812
= 407
Al 406
0l=0t & d&&0l&0t 22 H| 23,500 26,000 2,500
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| 11,750
= 5,875
Al 5,875
307 gIzHol ™ 23,500 26,000 A2,500
| 11,750
& 5,875
Al 5,875
01 224+ =H| 23,500 26,000 A2,500
O0I=0t & S L0IA0t 2 =ZHI
23,500,000& 23,500
| 11,750
& 5,875
Al 5,875
HEINEAE 829 1,718 A889
| 415
& 207
Al 207
308 AHXIHMSOIH 829 1,718 A889
J| 415
& 207
Al 207
11 312 S0eHE &R A LI 829 1,718 A889
OEEZXNEAHSE 829,000 829
| 415
= 207
Al 207
LIS T2 (MEALY) 209,400 141,700 67,700
& 157,050
Al 52,350
307 QI2Hol M 209,400 141,700 67,700
& 157,050
Al 52,350
01 9 =2¥¢+=H| 209,400 141,700 67,700
IS Al=H| AR 209,400,000& 209,400
= 157,050
Al 52,350
LR L StEtX|ISH] XA 8,152 11,260 A3,108
201 Let23| 900 900 0
01 ArR22ltl 900 900 0
OE2E ME 2,000 45074 900
307 QI2Ho1 M 7,252 10,360 A3,108
01 =24 7=H| 7,252 10,360 A3,108
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) 10,340
= 5,170
Al 5,170
307 elztol & 20,680 22,000 1,320
Jl 10,340
[ 5,170
Al 5,170
01 22X 2| 20,680 22,000 1,320
0DIFYNER oRY| X
20,680,000& 20,680
Jl 10,340
< 5,170
Al 5,170
MNASE JIMFH ZHES KA 385,750 274,475 111,275
= 192,875
< 96,437
Al 96,438
308 XtXIEMSO0IE 385,750 274,475 111,275
= 192,875
=S 96,437
Al 96,438
1 SI[2SoHe 4 EAS ALY 385,750 274,475 111,275
OMASE JIMAH =MER X
385,750,000 385,750
= 192,875
=S 96,437
Al 96,438
HY2SAH(AYEHA AASEY) 1,339,293 1,472,465 A133,172
= 81,782
Jl 387,522
= 61,329
Al 808,660
el 2| 1,249,855 1,335,313 A\85,458
[ 81,782
Jl 387,522
[ 61,329
Al 719,222
el 368,961 528,502 159,541
101 @124H| 368,961 528,502 159,541
01 E= 9,164 173,480 NT7,316
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SA - B SRIBH) - MRAR - BAS A HIDEZ
CEFEETE=,
11,1302 x24E+30A| 2+ 123 %, 164
03 SRA(RIH )22 U2+ 212,797 365,022 N\82,225
(=R 212,797
OdE=g 15,360
- Xt 40,0002 x13F 122 6,240
=5 20,0002 x3& 123 720
LU PE 20,0002 x5 123 1,200
—= M At 60,0002 x5 * 12 3,600
- AHA 100,000 x3& * 122 3,600
2&+g 648,756,000 *5% 32,438
Odcl=g 50,0003 x21H*12& 12,600
OfIg=g 50,0003 =20+ 122 12,000
oul=& 50,0002 x1&8* 122 600
Ozxl=2e=+<
18,2703 *x21H*15A1 2t 12 69,061
OZHZAH| 140,000 «21H* 123 35,280
Og &=yl 54,524, 0002 «50%*22] 54,524
OYItE 4| 97,4602 x21H 202 40,934
Zd01d 104,949 128,860 A23,911
04 HSRESS 104,949 110,460 A5,511
4 BRA(RIHA)22N HEERES S 104,949 26,672 78,277
OSRA(RIHA)22X =0z I|2=2
g3 939,202,040 *4. 5% 42,265
OZBRH(RIIAH )22 2LALEE |
2428= 36,854
OH3=EE 939,202,040 +3.495% 32,826
OFIIRAEE 32,826,000& *12.27% 4,028
OBRH(RIIA)2EX DEEE |22
= 939,202,040 *1.75% 16,437
OSRA(RINHA)ZZ2 X MATHHNEE =
939,202,040 *1.00% 9,393
XIOHRH M 2EXR(EX) 27,112 231,651 39,461
7l 216,888
= 10,846
Al 43,378
101 21AH| 256,044 217,318 38,726
Il 204,834
= 10,243
Al 40,967
02 JIEtAE = 256,044 217,318 38,726
OAEENSIIM S22 JlEa
2,186,580 7 H* 122 183,673
Il 146,940
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= 7,346
Al 29,387
OAIRHIERIQDIH S22 Sua03(7Y)
19,544,000 19,544
J| 15,635
T 780
Al 3,129
@OES=, 28,525
OIIAHEE =Y 4,320
i SN 40,0003 +3F 123 1,440
| 1,152
T 58
Al 230
) PNIE 20,0003 x2F 123 480
| 384
T 20
Al 76
=M XA 60,0003 x2F 123 1,440
| 1,152
T 58
Al 230
-=4l5 20,0003 x4F 123 960
J| 768
& 39
Al 153
OAlRteI2R4Y
9, 160 x7H+20A| 2t 123 15,389
| 12,311
T 615
Al 2,463
OEARE 104,950 +7H+ 122 8.816
| 7,052
& 353
Al 1,411
OHIIE &I 7, 5202 7B+ 77 A2t 4,04
| 3,243
& 163
Al 648
OZAHZ A 140,000& *7F + 122 11,760
| 9,408
& 471
Al 1,881
O4HEE JIARES 8,488
OHL=EH 216,281,520 *3.495% 7,560
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< 2,926
Al 11,708
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Al 11,708
03 SRA(RIH L) 222+ 29,268 24,840 4,428
OR2HIY ANAIY H2el3 elAH|I (1Y) 29,268
OelAt| 29,028,000 29,028
Jl 14,514
S 2,902
Al 11,612
Od =208 W=H| 240,000 1 240
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== 24
Al %
NEASS4 SHAXJMHIA(EX) 185,760 148,560 7,200
Jl 77,880
== 15,576
Al 62,304
101 e124d| 155,760 148,560 7,200
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= 15,576
Al 62,304
03 SR (RIH )22 U2+ 185,760 148,560 7,200
OSHAEA & M A (6Y 185,760
@)ukal:] 154,800,000 154,800
Il 77,400
=S 15,480
Al 61,920
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=S %
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gEAL2AM(EX) 163,565 144,600 18,965
= 81,782
= 16,357
Al 65,426
101 21AH| 163,565 144,600 18,965
[ 81,782
= 16,357
Al 65,426
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O32A(RIIAH )22 Xt L=
90,0003 *21 1,890
02 S3=gHl 4,920 8,820 23,900
ORER=S 4,920
Oggt 4002 +400S* 122 1,920
oSl 2,500 x100S+ 122 3,000
202 04l 37,200 61,600 A24,400
01 =LHAHI 37,200 61,600 A\24,400
OJ1=2Z2H| 20,0002 3162 x 122 37,200
203 =4l 6,120 7,440 1,320
M FAZHHIFII 6,120 7,440 1,320
OJ|I=%H 6,120
O302! Olat 400,000 <123 4,800
030! =1t 5,0002*x228 » 122 1,320
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= 636,925
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= 652,569
) 1,472,438
= 636,925
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201 Ler=23 | 23,598 0 23,598
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1,4002 «400kg* 104 2+ 123 6,720
Ol Mels=+=2 120,000 42 480
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O=83 Ml === 500,000 12 500
O=83 2848t ===
500,000 *204 2-+12] 1,000
02 S3=gHl 10,452 0 10,452
O2I=2&Hl |XH| 4,000,000 4,000
OHEZZA HAZEH
1,344 2006 CH*4E 6.452
203 HR=H] 2,000 0 2,000
03 A=A R =NH] 2,000 0 2,000
OZHEUSAE R
2,000,000 2,000
405 KHoHFSHI 63,000 0 63,000
01 ML ESFSHI 63,000 0 63,000
ozggEuEs & 63,000,000+ 1CH 63,000
gg2el MAH =5 4,763,460 7,087,715 N\2,324,255
= 652,569
Jl 1,472,438
= 636,925
Al 2,001,528
YAt 133,913 124,729 9,184
101 @124H| 38,903 27,519 11,384
MU ORINZENSES 38,903 27,519 11,384
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A AEEHA 2SHHUSW
M HUEW
chelr Zgga2el A 2= EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—Tdap 19,4003 900 17,460
“HEIFA 8,000& 100 800
(ESZEEE 8,160& »100H 816
OXITHH QIZFAHTL AL 311,900
-QIZ SR} HAIH|
10,700& 11,000 117,700
—ol20IB B Al
19,4202%10,000& 194,200
ONEEE A8 ARE(FADI S)
2,045,000 2,045
OBA 2& 43,910
O ZAt 90,0003 2002 A 18,000
OdeldAt 90,0003 »1502f A 13,500
OLH(0H=,001=) B At
90,0003 »1002f A 9,000
O (L=, 220ICI0NZA
13,0002 %100 1,300
OAZ2+E At 555,000 x22f A 1,110
O ZA 250,000 x48f A 1,000
OgAE A 24 320
ougel e=l=2 40,0003 +8& 320
05 21t =S 15,000 15,000 0
Ostdg 2e| 15,000,000 * 10 2~ 15,000
st ekt 22l X2 2,250 2,166 84
= 1,125
= 1,125
301 EtE NS 2,250 2,166 84
= 1,125
= 1,125
01 AR 2EHSHS(RNEXRTHE) 2,250 2,166 84
OMotetdel MAHIXIH
2,250,000& x1H 2,250
= 1,125
== 1,125
ololx & 4380 42,962 47,880 4,918
) 21,481
= 6,444
Al 16,037
307 elztol & 42,962 47,880 24,918
Jl 21,481
< 6,444
Al 15,037
01 22X 2| 42,962 47,880 N4,918
O©HIV/AIDS &l =H| 39,222,000 39,222




SN ASEAA ARETSY
B AY=w
chelr Zgga2el A 2= EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| 19,611
= 5,883
Al 13,728
OHIV ESHAIZZ0H S 2,000,000& 2,000
| 1,000
& 300
Al 700
odmizgy A& L XzX&
1,740,000& 1,740
| 870
= 261
Al 609
S L E S A A 2,660,952 2,740,210 AT79,258
| 1,330,476
= 399,142
Al 931,334
307 gI2tol 2,660,952 2,740,210 AT79,258
| 1,330,476
& 39,142
Al 931,334
01 224 +=H| 2,660,952 2,740,210 AT79,258
OO0l HHEE 185 1,285,596,000& 1,285,596
| 642,798
& 192,839
Al 449,959
OBONE~12H H2I0I(HEI0IE - SRS L
ZSEHM)CIE20T YA S
302,574,000& 302,574
| 151,287
& 45,386
Al 105,901
O13M U2l0l IEF AU HLEHS
44,406,000 44,406
| 22,203
& 6,661
Al 15,542
OYLF IS HTHS
9,664,000 9,664
| 4,832
& 1,450
Al 3,382
OHPV 1Xt EBS2= XAt 3,522,000 3,622
| 1,761
& 528
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A AEEHA 2SHHUSW
B AY=w
chelr Zgga2el A 2= EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 350
307 21201 & 46,276 38,292 7,984
Jl 23,138
= 6,942
Al 16,196
01 22X &l 46,276 38,292 7,984
08,213 8= H4b| 3,565,000& 3,565
Il 1,783
= 535
Al 1,247
oyAEEA LBl XN 894,000 894
Jl 447
= 134
Al 313
OZHNAET S FHAHS 2 & B=5Z
s F 2l 26,984,000& 26,984
Il 13,492
= 4,048
Al 9,444
OZsatA SAL & A K&
4,703,000 4,703
Jl 2,351
= 706
Al 1,646
OZHASIIAN L F=ZHHTAIY S
4,656,0002 4,6%
7l 2,328
= 698
Al 1,630
O=SAIE SAL 332428 g8
5,474,000& 5,474
7l 2,737
= 821
Al 1,916
308 AFAIEHMSOIE 2,000 4,000 A2,000
Jl 1,000
= 300
Al 700
1 SISt AS A 2,000 4,000 22,000
OYAAPENATY| B
2,000,000& 2,000
7l 1,000
= 300
Al 700




A AEEHA 2SHHUSW
M HUEW
chelr Zgga2el A 2= EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o2 J|2 2| At 73,530 72,298 1,232
Jl 73,530
307 21201 & 73,530 72,298 1,232
Jl 73,530
02 2IZHBYAIHE & 73,530 72,298 1,232
O2ZJ2t Btk 2elX&
36,765,000 +1E+20H & 73,530
Il 73,530
SiE2AAUSEH ZEZAIMA 2 18,000 20,000 22,000
) 18,000
307 elztol & 18,000 20,000 22,000
Jl 18,000
05 212+ =S 18,000 20,000 22,000
OFMER o - 2l
9,000,000 +2JH 2= 18,000
Jl 18,000
ozaHLSY HEZAMA 22 (22HI) 365 310 55
Il 365
202 04l 365 310 %5
Jl 365
01 =LHOLI 365 310 %5
O 2T HE HELAl 30|
365,000 365
Jl 365
d2H =SS us X 24 X& 3,400 0 3,400
Jl 1,700
= 1,700
201 =3 3,400 0 3,400
Jl 1,700
=S 1,700
01 At2teltl 3,400 0 3,400
Od=HI UHl 24 LS|
3,400,000& 3,400
) 1,700
< 1,700
I2LHY LTS 2AI(AIRYH]) 1,202,488 3,125,028 A1,922,540
= 601,244
= 180,373
Al 420,871
307 gl2to| & 1,202,488 3,125,028 A1,922,540
= 601,244
= 180,373
Al 420,871
01 22X &I 1,202,488 3,125,028 A1,922,540




A AYEHA 2BYHUSH
Zu: AAST
el Zggae] MA 2= EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
CEEINCTE:
1,202,488,000& 1,202,483
= 601,244
= 180,373
Al 420,871
ZEYUS 21,400 218,222 A196,822
201 B2 AY| 13,400 16,810 23,410
01 Al22+21H 13,400 16,810 A3,410
oz 29 4,100
OzsEws (A=
1,000 *2Z*950H 1,900
OZ#A3I|1&a3D| ZiH
200, 0002 +3)H+23] 1,200
Omga gz o
1,000,000 *13| 1,000
ougERlgAs 29 9,300
Oty & s 150,000 *207H4 3,000
OAREE 2 ABE 6,300
- K 10,0002 1004 1,000
-Gt 1,000 5004 500
HAEE 200,000& =123 2,400
-ANRES 200,000& =12 2,400
307 2I2+01A 8,000 201,412 A193,412
01 22¥ 3P =H| 8,000 201,412 A193,412
oOHdgERizA 29 8,000
Ofz8 4ABF 8,000
-=c2dE 10,0003 *4002¢ 4,000
-=A=H 4,000 *5009H4 2,000
“SAMRASH 5,000 *4007H4 2,000
DZULH9 Helg X =l 80,900 77,176 3,724
= 40,450
= 40,450
307 212+01™ 80,900 77,176 3,724
= 40,450
& 40,450
01 2 2¥+=H| 80,900 77,176 3,724
OIZ2LH9 AR X =]
80,900,000& 80,900
= 40,450
T 40,450
HASHAH|(MAYEAHA 2HHY2) 371,343 99,140 272,203
| 50,416
Al 320,927
oIz 2I| 291,649 99,140 192,509




SN ASEAA ARHGSY
. HYS2IAH(AYEHA 2HHUS)
chol: ol (19 @)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| 50,416
Al 241,233
AZ 2SI SAIS (BX) 73,592 72,360 1,232
| 36,79%
Al 36,79%
101 2124 d| 71,439 70,312 1,127
J| 35,720
Al 35,719
02 JIEt& &2 36,054 33,611 2,443
OAIZIIHLIIA Z2d JI=2
1,992,500& x 18123 23,910
| 11,955
Al 11,955
OAIZIMIEHAI M SR a3
3,398,500 *1H 3,39
| 1,699
Al 1,700
=g 1,680
OIAHRE NS 1,680
i EON; 40,0003 x1H+ 123 480
| 240
Al 240
=5 20,0003 =18+ 12& 240
J| 120
Al 120
oy PNIE 20,0003 x1E 123 240
| 120
Al 120
=7 PE 60,0002 x 1+ 12& 720
| 360
Al 360
OAIZte 2R+
9,620 x 1G+20A| 2t 123 2,309
| 1,155
Al 1,154
(Ordi=Ea=; 43,7503 *1H+ 123 525
| 263
Al 262
s 95,6403 x1H 123 1,148
J| 574
Al 574
OFAHZ A 140,000& x 19+ 12 1,680
| 840
Al 840




SN ASEAA ARHGSY
. dY2IIH(ag2A4 2HEUSD)
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O4i2E JI2RY= 1,403
OdY 28 s JIARE=S
35,708, 1602 *3.495% 1,249
) 624
Al 625
OIIRLESS JIARE=
1,249,0002 %12.27% 154
Jl 7
Al 7
03 SRH(RINAHA) 222+ 35,385 36,701 A1,316
OZHTLASAH1Y) 35,385
@)uiFal:] 35,385,000& 1 35,385
Il 17,693
Al 17,692
204 ARt AH 2,183 2,048 105
Il 1,076
Al 1,077
02 Ma2xH| 1,628 1,523 105
OAIZHEERZIIAI
155,000 12 x35/40A| 2+ 12 1,628
) 814
Al 814
03 SEZ=F3HI 525 525 0
OAIZMIERMADIAN tHel2SHI(SS3HI)
50,0002 *12+35/40A1 2+ 122 525
Il 262
Al 263
ML ES S5 AHI(EX) 27,240 26,780 460
Jl 13,620
Al 13,620
101 @1A4H| 27,240 26,780 460
Jl 13,620
Al 13,620
03 SR (RIH )22 E 4 27,240 26,780 460
ONILBES=HEIRY 2501 (19)
27,240,000& 1 27,240
7l 13,620
Al 13,620
eIl 176,648 176,648
101 @124H| 176,648 176,648
01 &2 104,177 104,177
ox2R4Y
11,1302 «26E x30A1 2+ 122 104,177
03 SR (RIH )22 U2+ 72,471 0 72,471




A AEEHA 2SHHUSW
HE: BHSIAY|(AYRAL 2AHHSH
SERRIEESS(T (Shol: &2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
=R 72,471
OJl==(2e32A) 30,593
-JI=(888) 2,549, 4102« 1E« 122 30,593
OJ&E=g 2,640
BN} 40,0003 x2&« 123 960
LU PE 20,0002 x 18~ 12 240
LN E 60,0008 x2& * 122 1,440
o5+g 91,778,400 +5% 4,589
O&d+g 50,000 x3& * 122 1,800
O%Ig+g 50,0002 3%~ 12 1,800
otlgdz2e+g
8,000 x12*102x 12 960
Oxz=2 2=
18,000 *15AI 2H+3Z = 123 9.720
O A ZAH| 140,000&x3E* 123 5,040
Og &SIl 7,648, 2302 *50%+22] 7,649
OS2 4] 96,0003 x4 »20 7,680
401 14,169 14,169
WM HsREE=S 14,169 14,169
4 SRE(RIAHA) 22X BEEHEREE S 14,169 14,169
OZRA(RINAH)22X 2LHAZ J|2=
8= 126,785,640 *4. 5% 5,706
OZRA(RINHA)2EX 2UALEE D
HEES 4,976
(@Faki-ahs 126,785,640 %3.495% 4,432
OFINRAESH 4,432,000 *12.27% 544
OSRA(RIAHN) 22X DELE JI&R
g3 126,785,640 *1.75% 2,219
OBRH(RIIH)2Z2X AGTHHEER
126,785,640 * 1% 1,268
Jl=2dsl 79,694 0 79,694
JI23Hl 79,694 0 79,694
201 =3 41,174 0 41,174
01 AtR2t2|HI 36,774 0 35,774
OJI2gR+=#ESHHI(OI1EZH])
500,000& x28H 14,000
ozgt(01E2dl)
8,000 x282 8 x 12 21,504
O3RH(RIIH )22 T=H|
90,0002 *3 270
02 S3=2g4l 5,400 0 5,400
OFRER=S 5,400
ogegt 4002 «500S* 122 2,400
OsYI 2,500& 1005+ 122 3,000




DA AYBAA AAHSDH
. dY2IIH(ag2A4 2HEUSD)
el JI=2 3 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 33,600 33,600
01 2LHoIH 33,600 33,600
OJl=2Z24| 20,0003 x28ZH+52 x 12 33,600
203 HR=4Y] 4,920 4,920
M A2 LIFLI 4,920 4,920
OJI=H 4,920
Q302! olat 400,000 123 4,800
O30e! =1t 5,0002 2 * 122 120




Al & 0Ol & AFSE Z Ml A
20233 =0llah LB AEEHA SAF M) ~ FRASHA
SN HERAL
Hu: HUEW
Hel 2ALAZ AL DJlgta=E (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NEAEAHA 17,436,088 16,537,191 898,897
= 864,251
[ 2,069,720
Jl 3,504,222
< 2,478,098
Al 8,529,797
ALSd 15,198,088 14,259,262 938,826
= 864,251
s 1,949,620
Il 3,021,330
= 2,401,952
Al 6,960,935
SHOAZAE DI+ F 3,898,644 810,275 3,088,369
= 1,912,999
== 481,237
Al 1,504,408
S MEIAZSE 138,935 135,69 3,240
101 @124H| 110,127 109,947 180
MU OIRINZZENSES 110,127 109,947 180
O2|At 110,127
@)uiFal:] 290,000« 1H+262* 122 90,480
O4lHEs JI2RE3 10,157
-AL 2 90,880,000 *3.495% 3,177
“AIRYEE 3,177,000& %12.27% 390
-=233 90,880,0002 *4. 5% 4,090
-UEEE 90,880,000 *1.75% 1,591
—SHEE 90,880,000 * 1% 909
OE &=l 200,000& 122 400
OSXZEE 300,000 x1 213 300
O&x= 290,000 *30! 8,700
Ooul=tl 90,0002 1 D
201 =3 10,808 7,128 3,680
01 At2t2lt] 10,808 7,128 3,680
OURA A 1) 3,240
Ot Nl & 80&*3,000% 240
OXSAt SAIEA 4402 +3,000% 1,320
OXSIt HdZA 1602 +3,000% 480
O=xtz 402 %30,000% 1,200
OUIEINE 2F = 100,000& « 12& 1,200
(OFSE=S2INSEINZ =V s | E
7,7003x 122 93
osclxz4d 29 945




SN HERAL
Hu: HUEW
Rl 222AZAIE J|gR= (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONEEXelE MM &
95,0002 %53 475
OHEMEHI 190,000 12 190
Ott=7¢ 10,0003 »28% 280
ou =l 1,530
O2f At 90,000 +6Y 540
O & dz=A 90,0002 11 990
OMUBES SZIH 100,0002 x2&H 200
OZBSE2dAMN =AXE2
300,000& x1E~12& 3,600
202 04l 6,000 4,800 1,200
01 2LHoIH 6,000 4,800 1,200
ozE2AAN JIEZY
20,0002 x5 62 x 12 6,000
203 HR=AH] 3,000 3,000
03 A=A PR FA| 3,000 3,000
OEZAY HRFA 3,000,000& 3,000
307 212+01& 8,200 9,700 1,500
01 22X TS| 8,200 9,700 A1,500
odzd 29 5,700
OB5AI014 =ol2tAt PRIl A&
1,000&#5,000& 5,000
osE 300,000 300
ox2s 400,000& 400
osclxzd 29 2,500
o%= 1,500,000& 1,500
(@F~==t= 1,000,000& 1,000
405 AtatsE = 800 1,120 A320
01 TR ESFSHI 800 1,120 A320
o=gl 800,000 1CH 800
2HA2S 182,073 324,201 A142,128
201 =3 178,073 199,101 A21,028
01 At22telt] 91,089 11,135 A20,046
OUAMNEE ZelHEH 7,040
ouzd 4,620
-t 220,000 x35+53] 3,300
-Sg&3J| 330,000 45 1,320
Orlza 220,000 x15+73] 1,540
O2leratel| 2151t 220,000 +4& 880
OUIAFE SALEA 1,365
ouzd 21,0003 #3652 A 735
Orlza 21,0003 202} A 420
O2leratel| 2151t 21,000 %102 A 210




SN HERAL
I ALSA
Hel 2ALAZ AL DJlgta=E (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CEENI=Ss 2,1703 %3001~ 12 782
od=2=I| 22l 2,088
o=aAL 30,0008 =20+ 122 720
(OLFaPNEN 27,0002 »2 2123 648
(@)=-FaFSi=~ 30,0003 *200 A+ 123 720
O3JIEd)| 2eltl
43,00020+90H* 122 4,644
OARSBANBO Tt 42 20,514
OLUAHIBY +42 4,620
RGP (PN 104, 50024 %20l A %128 2,508
~BATBA 88,0002+ A+ 122 2,112
OHJIZHel =& 9,174
-Z28dHJiE X 8,184
R E 550,000& x 104 2xx 123 6,600
RaPNEN 33,0002 <201 A+ 123 792
AL 33,0003 +20 A+ 123 792
—Hl==Xcl 8252 *600L 22 990
OXJetEze] a2 4,680
praPNES 100, 0002 20 e 122 2,400
-S2AMSA 95,0003 <20 A+ 123 2,280
Ott=HelAlg2te| H+=2(8 %)
170,000& 101 A% 128 2,040
O283 Xl === 250,000 23] 500
O=83 2848t ==
300,000 200 Ab+33] 1,800
OMJAE2AA 2t 2T 52,356
ogliz & 22l 4,000,000 ~12& 48,000
Ode+I| 2eld| 32,0003 =20+ 122 768
OHlbl 2l 22,0003 =2t =122 528
O371&3 37| 2l
39,0003 #4CHx 12 1,872
ORFHIES ===
99,000~ 122 1,188
2 S524g4l 86,984 87,966 2982
0382= € HA 23,064
oNIIR3 1,900,000& «12& 22,800
Ooulgd || 23
22,0003+ 122 264
OX&FNHI(2E, NHSXHA S Z8) 46,200
O&EIIXt 1,500,000 «1CH 1,500
O3t 2,700,000 +8LH 21,600
Ossit 4,900,000 *1CH 4,900
OsExt 6,500,000 1CH 6,500
OFaxt 3,100,000 *1CH 3,100




SN HERAL
Hu: HUEW
Hel 2ALAZ AL DJlgta=E (Gt H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
O3t=xt 4,300,000 +2CH 8,600
OFAA=SF A 5,620
2R 2,903
-2540I5H(0l) 4,305 x351 M« 1JH A 1,543
—20=0I5HE %) 3,8612x352m *1JH A 1,360
(@)=-FaFSi=~ 2,717
-2540loH(+0l) 4,305 %361 M *1JH A 1,587
~25015H(5H4Y) 5,648 200 * 17 & 1,130
ON&FH XY 5,320
O] |XI24 60,0002 +62CH 3,720
OFA NETH RX24
100,000& %165 1,600
O22&H| =Xl 6,000,000& 6,000
OMAEAA E2t 2F 780
O & elIHYR2s 50,000& * 122 600
(O: PAgsiil= 180,000 * 100 A 180
401 AlZHIZ S OHYI 4,000 37,000 33,000
01 A28l 4,000 37,000 /33,000
OFEA ZBANE SXE2+ 4,000,000 4,000
2AXNLEE 243,710 172,390 71,320
201 2= 14,710 19,890 25,180
01 AtR2t2lt] 1,870 2,250 A380
OANRES 190,000& *2JH 2=%22] 760
OZgHEU 209,000& x2JH 2 +22] 836
o#AdE) 2EIISK
137,000 200 A 274
02 s3=gHl 12,840 17,640 24,800
0Z332= % HMAl 12,840
OoNIIR3 500, 0003 *x2)4 A+ 128 12,000
OaB=E23(=0l)
30,000 *1H A+ 122 360
ORugss 20,0003 »20H 2% 123 480
307 212+01™ 229,000 147,000 82,000
01 22X 2| 229,000 147,000 82,000
Ogol(AA=2H0I2AXIH) 87,000
ogglz 86,000
%= 85,000,000& 85,000
-a23F 1,000,000& 1,000
Ostetdlz 1,000
%3 500,000 500
-A2F 500,000 500
O Z (A= H02AXIA) 142,000
Oogtdlg 133,500




SN HERAL
Hu: HUEW
Rl 222AZAIE J|gR= (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-3 130,000,000 130,000
-a23F 3,500,000 3,500
Ostgdlz 8,500
=] 6,000,000& 6,000
-a2E 2,500,000& 2,500
PAISARY 34,8%6 63,476 28,580
201 Ler23| 15,296 16,676 21,380
01 At2teltl 3,476 3,476 0
OANFES 190,000 204 A %23 760
OZEEY 200,000 %27 24231 83
os==2L FIIEE S2)
100,000 204 A 200
OBATZA 2YHOIS EHLT
30,0003 * 142 +20H A+23] 1,680
02 S3=gHl 9,520 10,900 1,380
O0s&s2= € MA 8,820
(OFSPIETE= 350,000 x20H 2% 123 8,400
Q&= 3 (otA)
5,000 * 1 A+ 12 60
ORdYsz 15,0003 <201 A+ 123 360
(OFSJel ERPSEA 100, 0002 <24 2 200
(OLIFSERi iy 250,000 #2042 500
03 A2 I 2,300 2,300 0
oAYsHEZY 2 2,300
OZAt= 50,0003 %201 A+ 152 1,500
OZz8 29| 400,000 *29H 2= 800
301 EetE NS 1,200 1,200
14 JIEt2a3 1,200 1,200
ORAZA 2HEAY 25+E
50,0003 *20H 2=x 122 1,200
307 elztol & 16,000 16,000
01 22X+ 2| 16,000 16,000
o%= 7,000,000& 24 2 14,000
(OFa=at= 1,000,000 #2042 2,000
405 AtatsE = 2,400 3,600 1,200
01 TR ESFSHI 2,400 3,600 1,200
OCHIS=EII(R01, 5t4)
1,000,000 2CH 2,000
O=EEF(5t4) 400,0002! 104 400
22l dEERE B WS 720 480 240
= 216
Al 504
201 Zet=Ehl 720 480 240




SN HERAL
I ALSA
Rl 222AZAIE J|gR= (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 216
Al 504
01 At2tltl 720 480 240
O=Z=u=H] 360,000 x2&H 720
= 216
Al 504
BAXSA EX01H XA 11,388 10,833 555
=S 2,7mM
Al 8,617
101 21AH| 11,388 10,833 555
< 2,71
Al 8,617
M ORNZZ2NSE S 11,388 10,833 555
OBATZA BXol2(2Y, 128)
11,083,000 11,083
= 2,71
Al 8,312
OCAlHEE JI2RE23 305
ouns=es 11,083,0002 *1.75% 194
O4tiHEe 11,083,000 * 1% [
sHE EAAZ MHIA HEALS 3,265,922 0 3,265,922
= 1,912,990
< 478,250
Al 874,673
401 AIEHIZL SO 3,154,921 0 3,154,921
= 1,852,332
=S 463,083
Al 839,506
01 AlZ8| 3,154,921 0 3,154,921
ONEEAL Ol &= 3,154,921
O3 A 1,880,000,000& 1,880,000
s 1,504,000
s 376,000
O£l 956, 158,000 956, 158
= 348,332
& 87,083
Al 520,743
O 3Nd d& 94,000,000 94,000
OusSHeE It 165,000,000 165,000
O=Z3tM A2 28,963,000& 28,963
OaT2 THoHS SHE It 30,800,000& 30,800
405 AHatE = 111,001 0 111,001
= 60,667




2A:

Hu: HUEW
Rl 222AZAIE J|gR= (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 16,167
Al 35,167
01 AL =S F = 111,001 0 111,001
SAAL IS (HIIRE)
50,000,000 1CH 50,000
= 20,000
< 5,000
Al 25,000
CEEEIPEET
43,001,000 *1CH 43,001
= 28,667
& 7,167
Al 7,167
oZstsilg 18,000,000 *1CH 18,000
= 12,000
< 3,000
Al 3,000
FFAEHRLEH 2N 21,000 103,200 282,200
201 er23| 13,000 13,000 0
02 S3=gl 13,000 13,000 0
OHZANPRUHA FANL XL
13,000,000 * 19 2 13,000
401 Al HIZ R 0HbI 8,000 11,000 A3,000
01 Al&HI 8,000 11,000 A3,000
OHFAIHRALER AIZ2 )| N EH
4,000,000& 22 8,000
g = ALK 900,679 1,063,461 A162,782
Jl 339,659
< 227,910
Al 333,110
2 RIIEHE A 269,99 269,99% 0
Jl 134,998
=S 40,499
Al 9,49
308 AtXIEHMSOIE 269,99% 269,99% 0
Jl 134,998
= 40,499
Al 94,499
11 S| 2SS HASAIE 269,99 269,99% 0
(©FE=FNlx] 269,99%,000& 269,99
Il 134,998
= 40,499
Al 94,49
S2g0rsd N HAHN 34,240 36,800 22,560
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M HUEW
Etel: 42 = 233101 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 27,392
=S 2,095
Al 4,793
308 AtXIEMSOIE 34,240 36,800 A2,560
Jl 27,392
= 2,09
Al 4,793
N sJ[2sSoterd oA 34,240 36,800 A2,560
O& &yl 34,240,000 34,240
Il 27,392
= 2,09
Al 4,793
SEX o SHIXIH (HEAL) 241,906 241,906 0
=S 157,238
Al 84,668
307 @I2to| & 241,906 241,906 0
== 157,238
Al 84,668
01 22X 2| 241,906 241,906 0
Ogetit 2l=HIXIH 241,906,000 241,906
= 157,238
Al 84,668
NS A2 A2 AL 68,556 68,556 0
) 34,278
Al 34,278
202 048l 500 500 0
Il 250
Al 250
01 =LHOHI 500 500 0
OXISH A2 A2 AL 04| 500,000& 500
7l 250
Al 250
307 glztol & 68,056 68,056 0
Jl 34,028
Al 34,028
05 2I2tRIE =S 68,056 68,056 0
OXIS Atal AL A 68,056,000& 68,056
Jl 34,028
Al 34,028
KSALS SSHESTAIS 185,901 227,844 A41,943
7l 92,951
= 18,590
Al 74,360
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M HUEW
Sl dEg = ALK (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
101 @124H| 4,334 40,069 A35,735
Il 2,167
== 433
Al 1,734
04 JIZtN2Z2 S8+ 4,334 40,069 A35,735
OSEHLSEAY 21 4,334
OLEE=r=) 4,334,000& 4,334
J| 2,167
< 433
Al 1,734
201 er23 | 49,367 52,575 23,208
J| 24,684
< 4,937
Al 19,746
01 AtR2t2lt] 25,676 33,940 A8,264
OAHZT UM TALS 9,436,000 9,436
J| 4,718
s 944
Al 3,774
O ZEAAS 6,000,000 6,000
Il 3,000
=S 600
Al 2,400
ouHEBES (AL
6,000,000 6,000
Il 3,000
== 600
Al 2,400
OXSAt2 S S THEAS 1,000,000 1,000
Jl 500
s 100
Al 400
0™ASZX o2 NRE HLIHOIK ABE
2,640,000 2,640
J| 1,320
== 264
Al 1,056
O T IBU (CANPRO) ALBE
600,000 600
J| 300
< 60
Al 240
02 S5=2g4l 2,691 4,135 A1,444
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B A=A
Rl dE & A1 (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OSEHLSIANLE EBHES PCAIERZ
2,649,000& 2,649
| 1,325
= 265
Al 1,059
oORERI 42,000& 42
| 21
= 4
Al 17
03 @At2ZH| 21,000 14,500 6,500
OALMBAA T2 2
8,500,000& 8,500
J| 4,250
= 850
Al 3,400
AL ERABHLRAY T2 2
1,000,000& 1,000
J| 500
& 100
Al 400
OYMR AYDA TR Y 2
4,000,000& 4,000
| 2,000
& 400
Al 1,600
OSgHLSTAIY AH el
7,500,000& 7,500
| 3,750
& 750
Al 3,000
301 LPBNF 8,000 10,000 A2,000
| 4,000
& 800
Al 3,200
14 J|EI2 A3 8,000 10,000 A2,000
OAIZIEN A&z 8,000,000& 8,000
J| 4,000
& 800
Al 3,200
307 QI2HO1 M 124,200 125,200 A1,000
J| 62,100
= 12,420
Al 49,680
01 22¥ 3P =H| 124,200 125,200 A1,000
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B A=A
Sl dEg = ALK (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
J| 970
Al 970
01 At2tltl 1,940 1,960 V()
Od=20e W= et
1,940,000 1 1,940
Jl 970
Al 970
NEAR S SAX2AMEIA 95,280 103,512 N8,232
Il 47,640
= 9,528
Al 38,112
201 eer23y| 52,280 62,512 A10,232
) 26,140
= 5,228
Al 20,912
01 At2teltl 50,280 60,612 210,332
OEE= % uUsis 8,080,000& 8,080
Jl 4,040
== 808
Al 3,232
osg2cld 29 10,000,000 10,000
Jl 5,000
[ 1,000
Al 4,000
Oz=daEdid 20,000,000& 20,000
Jl 10,000
[ 2,000
Al 8,000
O d3A V183 50,0002 *100H 5,000
Jl 2,500
S 500
Al 2,000
Ot 2B (A32Y) 23]
600,000 * 12 7,200
Jl 3,600
== 720
Al 2,880
2 35234l 400 500 A100
Oz=HAEE &oiLE 150,000 x2&H 300
Jl 150
< 30
Al 120
ORERS(SIAXE) 100,000 100
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M HUEW
Sl dEg = ALK (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 50
= 10
Al 40
03 A2 I 1,600 1,400 200
O3NS T2IY AL L BHQ 2
S 1,600,000 1,600
Il 800
== 160
Al 640
301 LEIE NS 13,000 11,000 2,000
Il 6,500
s 1,300
Al 5,200
14 J|Et2a s 13,000 11,000 2,000
O2UNTY 2H+g
40,0003 x2EH 150! 12,000
Jl 6,000
=S 1,200
Al 4,800
OAIZIEO Ald= 5,000 200 1,000
2l 500
=S 100
Al 400
307 212+01& 30,000 30,000 0
7l 15,000
= 3,000
Al 12,000
NIEEEEEN 30,000 30,000 0
o=ei2e|d 2Y(SHREM, A2E)
40,0002 x750E 30,000
Jl 15,000
= 3,000
Al 12,000
Zgg2e] MA 7= 4,867,867 7,186,966 A2,319,099
= 663,958
) 1,531,257
& 639,867
Al 2,032,785
YAt 115,863 105,739 10,124
101 @124H| 38,903 27,519 11,384
M IIRINZENSES 38,903 27,519 11,384
OgAALS JIINZ2Z2 Xt 38,903
Oel2b| 83, 1503 »2H 26 2L +8E 34,501
O4i2d JI22Y= 3,912
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M HUEW
ool 2gg2el A 2= (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-AYL2E 34,991,000 *3.495% 1,223
HIeIEE= 1,223,0002%12.27% 151
-=23=s 34,991,000 +4. 5% 1,575
-UEEE 34,991,000 *1.75% 613
~SHEE 34,991,000 * 1% 350
Og&E=Itd| 200,000 x22H*13] 400
201 eer23y| 2,400 2,400
02 S3=gHl 2,400 2,400
ogHA=dHl 7l 400,000 6K 2,400
206 M=l 65,560 75,820 210,260
01 M= HI 65,560 75,820 210,260
OLAAZ(ZPELSH S 53) 56,040
OEAA 30,0002 *1Lx700H 21,000
OXsgdt 30,0002 *1Lx2850H 8,550
OgNegd 30,0002 * L8834 26,490
ogdgs tNE= 720
Ooxg= 90,0003 *4&H 360
(OF3=E)] 15,0002 x4 60
Oetd gt 60,0002 ~4& 240
O=ZXt 15,0003 *4&H 60
OXSII0N 288 HEES
4,000 %251, 100 8,800
405 AHaHE = 9,000 9,000
01 ML ESF SHI 9,000 9,000
(OF= =) 1,000,000 *9CH 9,000
2ctelor DHHZD! S OHORAM 2 AI==D| &= 13,000 0 13,000
= 6,500
Al 6,500
405 AtaHE = 13,000 0 13,000
= 6,500
Al 6,500
01 TR ESF SHI 13,000 0 13,000
O 2I1ZAIZHI(OMSEHI)
6,500,000 +2CH 13,000
= 6,500
Al 6,500
aEgac 487,135 400,474 77,661
201 er23y| 53,649 47,89 5,750
01 AtR2t2|HI 18,599 13,674 4,925
ongEsd 24 14,800
OUIXHE K& S QI 702+90,000& 6,300
ongEs g=2=
1,000 x25+2, 000K 4,000
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el Zagzel M 2= EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OB2AYET SHTHAFXI(PS) HHE]
| WA 4,500,000 *1CH 4,500
oYM 2 1,799
OSMHTZESLY SHS+R
20,0003 6 *43] 480
O2gHIE(E5M S 48)
14,2503 45+ 123 684
OYAEZY| HII12 A
200,000 *3CH 600
OTAIH M 22| YR W=
35,00021+1% 3
oYY B2 2,000
oLy oY S22 2,000, 0002 2,000
2 ZZ2H| 35,050 34,225 825
OYAHIPACSHH RXI 24t
1,200,0002 *432] 4,800
(OFSPAESL 30,250
OQIS AL} HYES AHUHE
550& 52,0002 28,600
OkQl HE+Hz HLES L=
55031+3,0004 1,650
307 @I2t01 & 433,486 361,575 71,911
01 22X 2| 416,086 344,175 71,911
ougaEss 29 371,456
ORRMLES AZ(BEUHH S 55) 57,7%6
BH2UZ 5,0402+1,000 5,040
-Td 11,0002 200 2,200
~Tdap 19,4003 %2,500& 48,500
-SEIFA 8,0002 150 1,200
(ESSZEEE 8, 1602 +100H 816
ORXIXEH Q1SS AL 311,900
QIS SR} A
10,700&%11,000& 117,700
-o2J|2 85 AldH|
19,4202 %10,000& 194,200
OUZLESE 228 A2S(FADI S)
1,800,000& 1,800
O 28 44,310
O ZAt 90,0003 »2002¢ A 18,000
OHelZ A 90,0003 » 1002} A 9,000
O44 (0=, oloI= S)BAt
90,0003 1002 A 9,000
OdE (L, Set0ICIoNBA
13,0002 400 5,200
OAZI2+E At 555,000 28} A 1,110
OS&BA 250,000+ A 2,000




SN HERAL
B A=
chelr Zgga2el A 2= EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
oA 2 320
Oglael g= Jt2 40,0002 x84 320
05 QIZtRIErZ 17,400 17,400 0
OBty 22| 17,400,000 * 10 2 17,400
S & At 2te| K& 13,500 12,9% 504
= 6,750
& 6,750
301 LetENEZ 13,500 12,996 504
= 6,750
= 6,750
01 A BE X2 (2 RNEETHA) 13,500 12,9% 504
OMItEHol Al XI&
2,250,000& 6 13,500
= 6,750
& 6,750
Ol01= & S 61,316 67,680 A6,364
| 30,658
& 9,198
Al 21,460
307 gI2Hol ™ 61,316 67,680 A\6,364
| 30,658
& 9,198
Al 21,460
01 2¥ 7=l 61,316 67,680 N6,364
OHIV/AIDS & ZH| 50,778,000& 50,778
J| 25,389
T 7,617
Al 17,772
OHIV EIHAIZ0 S 3,818,000& 3,818
J| 1,909
= 573
Al 1,336
oduizgy d& 2 X=XA
6,720,000& 6,720
J| 3,360
& 1,008
Al 2,352
S Y E S A 2,597,416 2,749,434 A152,018
J| 1,298,708
= 389,612
Al 909,096
307 212+01 A 2,597,416 2,749,434 A152,018
| 1,298,708
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ohelr 2ggetel MA 25 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 389,612
Al 909,096
01 22X S| 2,597,416 2,749,434 /152,018
OO0l ES 185 1,269, 188,000 1,269,188
Jl 634,594
< 190,378
Al 444,216
OB60JHE~124 012101 (0f=I01E - RXIHY &
ESSM) OIZ20IK} HYUEE
250,652,000 250,652
Jl 125,326
< 37,598
Al 87,728
O13Ml 010l UESFAUR HLBES
40,324,000& 40,324
Jl 20,162
< 6,049
Al 14,113
OYLIT QS| HLES
10,872,000& 10,872
) 5,436
& 1,631
Al 3.805
OHPV 1XH BS2AZ At 6,754,000& 6,754
) 3,377
< 1,013
Al 2,364
OHV DIEE X 32,892,000& 32,892
Jl 16,446
< 4,934
Al 11,512
ogel HLES 983,948,000& 983,948
Jl 491,974
[ 147,591
Al 344,383
OBE2tE 4|2 E o2 A
2,786,000& 2,786
) 1,393
< 418
Al 975
A= ZSHU LA 73,665 65,906 7,759
) 36,833
= 10,675
Al 26,157
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M HUEW
chelr Zgga2el A 2= EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 3,294 4,480 A1,186
Jl 1,647
== 494
Al 1,183
01 At22telt] 3,294 4,480 A1,186
OEE2E2(2El# 8 28)
1,000 251,647 M 3,294
Il 1,647
== 494
Al 1,183
202 04l 2,500 2,940 A4
Il 1,250
Al 1,250
01 =LHAHI 2,500 2,940 AN440
OAgct2e] geht ol 2,500,000& 2,500
Jl 1,250
Al 1,250
301 Eet2 NS 1,000 1,000 0
Il 500
= 150
Al 350
01 ARRI2HHSFS(RRNERTH) 1,000 1,000 0
OYAS A dAHl X&
1,000,000& 1 1,000
Il 500
= 150
Al 350
307 @120l & 64,871 53,486 11,385
Il 32,436
= 9,731
Al 22,704
01 22X+ &H| 64,871 53,486 11,385
ogold = H4Y| 3,321,000& 3,321
Jl 1,661
< 498
Al 1,162
oyAEEA LBl XN 894,000 894
) 447
S 134
Al 313
OZHNAET S FLHS 28 & =52
s F2el 23,310,000 23,310
) 11,655
= 3,497




SA MRS
ma: AAZZ
el 2gg2el MA 25 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 8,158
OZHBXAAL L M|
17,502,000 17,502
Jl 8,751
S 2,625
Al 6,126
OZHABIINM L HELHAXAIY S
7,684,000 7,684
7l 3,842
=S 1,183
Al 2,689
OSEANE BAK H=ZHUS AT
12,160,000 12,160
Il 6,080
s 1,824
Al 4,25
308 XXM SOIA 2,000 4,000 A2,000
Il 1,000
s 300
Al 700
11 S 2S0He & EAS A 2,000 4,000 22,000
OYAAWET AN DU
2,000,000& 2,000
Jl 1,000
=S 300
Al 700
ANZZU LA (ZHAHE) 36,796 36,180 616
7l 18,398
Al 18,398
307 glztol & 36,796 36,180 616
Il 18,398
Al 18,398
02 2B YAIHE £ 36,796 36,180 616
OF24A S 2 2elXH
36,796,000 «1E 104 2 36,796
) 18,398
Al 18,398
S|ZJ| 2 Z2AC|AY 110,295 108,447 1,848
Jl 110,295
307 gl2to| & 110,295 108,447 1,848
) 110,29
02 LB HAHE L 110,295 108,447 1,848
09It ZsHatht 22X
36,765,000 *3H + 104 & 110,295
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M HUEW
ol g2 A 2= EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| | 110,29
oR&AZTIH H=ZAIMAH 24 36,000 38,000 ~2,000
Jl 36,000
307 el2to| & 36,000 38,000 22,000
) 36,000
05 2ItRIE = 36,000 38,000 22,000
oBMH oY - By
27,000,000 * 100 2 27,000
Jl 27,000
oA o - 22y
9,000,000 17 2 9,000
Il 9,000
oE ALY H2ZAIMA 2L (2LHI) 365 310 %5
Jl 365
202 048l 365 310 55
) 365
01 2LHoIH 365 310 55
Oz &L H HEZAl 20
365,000 365
Jl 365
D2LH9 Al XI=Hl X 81,200 77,176 4,024
= 40,600
== 40,600
307 elztol & 81,200 77,176 4,024
= 40,600
[ 40,600
01 2= +=H]| 81,200 77,176 4,024
OZZ2LH9 HelYE X =H|
81,200,000 81,200
2 40,600
= 40,600
g2 21,100 124,554 103,454
201 el 13,100 8,410 4,690
01 At2teltl 13,100 8,410 4,690
OZHARS 4,300
OZgs=2=S(¥523 5)
1,000& x2Z+9500H 1,900
OZHRZI|I AP BT Y e
200,000 x2H 400
OMga 81 & 2
1,000,000& 22 2,000
OHEHZA 23 8,800
Ot & &% 150,000 *10H 1,500
Octe X 10,0002 «200H 2,000
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M HUEW
chelr Zgga2el A 2= EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OF2ES 200,000 * 122 2,400
OARES 200,000 * 122 2,400
OdgaZ A PHIE 1,000 «500H 500
307 212+01™ 8,000 116, 144 108,144
01 22X 2| 8,000 116, 144 108,144
odgraA 29 8,000
O23cd=eE 10,0003 =400} 4,000
OzEA=A| 4,000 500 2,000
OZZgNgs gHedzA=H
5,000 *400H 2,000
DZLHY9 HIZLES AAI(AIRH]) 1,220,216 3,375,770 A\2,155,554
= 610,108
= 183,032
Al 427,076
307 @120l & 1,220,216 3,375,770 A2,155,554
= 610,108
= 183,032
Al 427,076
01 22X +&H| 1,220,216 3,375,770 A2,155,554
OZIZLHY HHES Al
1,220,216,000& 1,220,216
= 610,108
= 183,032
Al 427,076
SIZFUAE += & HZEE =4 4,278,922 4,052,690 226,232
= 7,418
= 36,621
Jl 1,103,554
= 397,59
Al 2,733,734
gEdL A 75,600 75,600 0
201 fet= 3| 3,600 3,600
01 AtR2t2lHl 3,600 3,600
OsE= 1,000 *3,600HK 3,600
307 212+01& 72,000 72,000
01 22X 2| 72,000 72,000
OAE L 22Z(FLH S 155)
20,00021%3,600& 72,000
Al - 10T 218 241 AZ2e] ALY 73,242 0 73,242
= 36,621
< 7,324
Al 29,297
201 Ler23 | 43,242 0 43,242
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B Y=
&©HRl: IBFHAUAE Fs Y HLEE =4 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 21,621
=S 4,324
Al 17,297
01 AtR2t2|HI 43,242 0 43,242
O2E & 28=8 43,242,000 43,242
[ 21,621
= 4,324
Al 17,297
307 21201 & 30,000 0 30,000
[ 15,000
= 3,000
Al 12,000
01 22X &Hl 30,000 0 30,000
ofzEaxZE 30,000,000 30,000
[ 15,000
= 3,000
Al 12,000
SEX XA (KoL) (D EHALY) 10,585 10,555 0
=S 6.861
Al 3,694
201 et 3| 2,800 2,800 0
== 1,820
Al 980
01 AtR2t2lt] 2,800 2,800 0
oty 22 1,000 *2,800HK 2,800
& 1,820
Al 980
307 el2to| & 7,755 7,755 0
= 5,041
Al 2,714
01 S22 &l 7,755 7,755 0
%42 R ARDE 7,755,000 7,755
s 5.041
Al 2,714
SIAUXI LS 2|=2H K& 391,006 365,474 35,5632
Jl 195,503
=S 58,651
Al 136,852
308 AFAIEHMSOIE 391,006 365,474 35,532
Jl 195,503
= 58,651
Al 136,852
11 S| 2SO0 SHASAIE 391,006 365,474 35,532
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&©HRl: IBFHAUAE Fs Y HLEE =4 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Os|HEe XAt 2=l 391,006,000 391,006
Jl 195,503
== 58,651
Al 136,852
a=gA 34,360 34,360 0
201 er23 | 34,120 34,120
01 At2teltl 34,120 34,120
OAMAZAASFAME AR SUE
1,980,000/ %122 23,760
OFAAAA(MANSIAS] MAF X B4 &
E 130,000 62 *123] 9,360
od4aAdd & T =22 M
1,000 x25+500H 1,000
301 EtE N = 240 240
11 dAMEBIXNIE S 240 240
OFAAAYA(HANRRE 28 23 7Y
20,0003 %123 240
FAMEANE 2 1,820,119 1,792,075 28,044
307 @I2to| & 1,820,119 1,792,075 28,044
10 Al SXAZEE 22X 1,820,119 1,792,075 28,044
OTATHEAIE 23HI(4H2)
1,820,119,000& 1,820,119
AL =IHE =24 51,100 64,400 113,300
Jl 25,550
== 10,220
Al 15,330
307 212+01& 51,100 64,400 213,300
Jl 25,550
=S 10,220
Al 15,330
05 glt?(& = 51,100 64,400 213,300
OFAAYSTIME 2
51,100,000 * 11 £ 51,100
Jl 25,550
= 10,220
Al 15,330
A=A IHEE 636,480 477,015 159,465
Jl 318,240
= 127,296
Al 190,944
307 @120l & 636,480 477,015 159,465
Il 318,240
= 127,296
Al 190,944




SN HERAL
Zu: AAST
&©HRl: IBFHAUAE Fs Y HLEE =4 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
05 2ItRIE = 636,480 477,015 169,465
OFAAA=TME ol2ets
636,480,000 » 100 2 636,480
Il 318,240
== 127,296
Al 190,944
THatoet & HAAUSTAG (EX) 61,106 61,106 0
Jl 30,553
[ 9,166
Al 21,387
307 lztol & 61,106 61,106 0
Il 30,553
== 9,166
Al 21,387
05 2IR”tRIE = 61,106 61,106 0
o2l 61,106,000 * 11 £ 61,106
7l 30,553
= 9,166
Al 21,387
NHaoe & AALSETAY (XEA) 25,000 25,000 0
307 212+01& 25,000 25,000
05 2ItRIE = 25,000 25,000
o2l 25,000,000 25,000
LSSk XS2eldl X 29,000 27,000 2,000
= 7,250
Al 21,750
307 el2to| & 29,000 27,000 2,000
= 7,250
Al 21,750
05 212+ =S 29,000 27,000 2,000
Of=sEA X=z22dl X
29,000,000 *1IH £ 29,000
< 7,250
Al 21,750
AaIgl 2=SHY X=Hl X 20,000 20,000 0
= 4,442
Al 15,558
307 el2tol & 20,000 20,000 0
= 4,442
Al 15,558
05 212+ = 20,000 20,000 0
OXtaAE Xt SsHE X248l X
20,000,000 *1IH 2 20,000




SN HERAL
M HYEW
&©HRl: IBFHAUAE Fs Y HLEE =4 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 4,442
Al 15,558
NSAtel AH&0Y UWERAD 2= 4,000 4,000 0
= 1,200
Al 2,800
307 gl2to| & 4,000 4,000 0
=S 1,200
Al 2,800
05 2I2t9IEr2 4,000 4,000 0
OXIAEl K0l WIERT 25
4,000,000 * 10 2 4,000
< 1,200
Al 2,800
SRAL=INHE S SAL H2Ma8] X2 20,400 16,800 3,600
= 6,120
Al 14,280
307 el2to| & 20,400 16,800 3,600
= 6,120
Al 14,280
05 glt?(& = 20,400 16,800 3,600
OFAHLFAEEH S SAL XML&
A& 20,400,000 20,400
[ 6,120
Al 14,280
ZAEE XISH XIE A 14,837 6,500 8,337
= 7,418
[ 2,968
Al 4,451
307 elztol & 14,837 6,500 8,337
= 7,418
s 2,968
Al 4,451
05 2IR”IRIE = 14,837 6,500 8,337
odalde XISHl K& At
14,837,000 * 100 2 14,837
= 7,418
=S 2,968
Al 4,451
SEHUALBSTAE 153,300 185,000 A1,700
Jl 76,650
=S 30,660
Al 45,990
307 @12t01 & 153,300 185,000 A1,700
Jl 76,650




SN HERAL
M HYEW
&©HRl: IBFHAUAE Fs Y HLEE =4 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 30,660
Al 45,990
05 2ItRIE = 163,300 185,000 1,700
OSSIAALSIAL 153,300,000& 163,300
Jl 76,650
< 30,660
Al 45,990
e 2= AAS MHIA N 44,500 0 44,500
Jl 22,250
== 8,900
Al 13,350
307 212+01& 44,500 0 44,500
J| 22,250
=S 8,900
Al 13,350
05 git?(& = 44,500 0 44,500
OXed == AT MHIA XS A
44,500,000 * 11 2 44,500
Il 22,250
= 8,900
Al 13,350
Ot HE 2SS 485,379 593,780 108,401
Jl 388,303
= 19,415
Al 77,661
201 ger=3| 344,224 412,560 68,336
Il 275,379
= 13,769
Al 55,076
01 AtR2telHl 238,877 321,560 82,683
OEHIA =& 1,372,000 x1& 122 16,464
) 13,171
= 659
Al 2,634
0BBEA NIZABIN =2
100,000 224 200
Il 160
== 8
Al 32
03e ¥4 =& 2,000
OXISAIRE M 212 &4 =
100,000 8 »23] 1,600
Jl 1,280
S 64




SN HERAL
M HYEW
&©HRl: IBFHAUAE Fs Y HLEE =4 CEEREE
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
Al 256
OXNZZSANY MBS ZA &g
100,000 »4H 400
J| 320
== 16
Al 64
OXINB22FHAIE SAME HH| S
500,000& *1H 500
J| 400
= 20
Al 80
O1l=| 90,0003 *x23H 2,070
J| 1,656
& 83
Al 331
oY% 22| 32,9002 x3[H* 128 1,185
J| 948
= 47
Al 190
CEPIEF Pl CI|
32,6502 *x6CH* 128 2,351
J| 1,881
= A
Al 376
odldl 22l 23,9002 *x2[Hx 128 574
J| 459
= 23
Al R
OFHAZEYH =42 1,176,000~ 128 14,112
J| 11,290
= 564
Al 2,258
OXIDHOHAIMHIE i & 22|H]
2,640,000 =122 31,680
J| 25,344
= 1,267
Al 5,069
ORINMXAEH| == 110,000 = 12& 1,320
J| 1,056
= 53
Al 211
OXIOHCHAIMIE] AlI2HH| 154,421
OXIHSE&e & ZIIEEAIY
22,021,000 22,021




SN HERAL
B Y=
&©HRl: IBFHAUAE Fs Y HLEE =4 (EEEE))
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
J| 17,617
= 881
Al 3,523
OXIDHOIANDNA & ofl 22| ALY
22,000,000& 22,000
J| 17,600
c 880
Al 3,520
OXloeralns 29 14,400,000& 14,400
J| 11,520
= 576
Al 2,304
OXIOHEHREE £ JIEXIJAIY
12,000, 000& 12,000
J| 9,600
c 480
Al 1,920
OXIOHoHAINIE 20 2 =Y
84,000,000& 84,000
J| 67,200
= 3,360
Al 13,440
OXIOHCHAIMIE, 29|
1,000,000& *x12& 12,000
J| 9,600
= 480
Al 1,920
02 S32ZH| 49,897 53,000 A3,103
OXIOCHAIMIE REE U522
36,300,000 36,300
J| 29,040
o= 1,452
Al 5,808
o1V & oI 2 53,900& x12& 647
J| 517
= 26
Al 104
OXIOHRHAIMIE 2222 =
1,000,000& 128 12,000
J| 9,600
= 480
Al 1,920
OdLtE)| K2 75,0002 = 10CH 750
J| 600
= 30




CIRFMNE 75 U AUHY X4
M- -E - B2A(E) - AIRAY - B e
Al 120
o=del 283 100,000& 2 200
Il 160
&< 8
Al 32
03 &A= 55,450 38,000
OmnT, TR U AH 2
24,450,000 24,450
Jl 19,560
= 978
Al 3,912
OXIofetaintS 249 31,000,000 31,000
Jl 24,800
= 1,240
Al 4,960
202 04| 27,600 27,600
7l 22,080
= 1,104
Al 4,416
01 2L AL 27,600 27,600
oY EF of
20,0003 x23H 52« 12& 27,600
Il 22,080
= 1,104
Al 4,416
301 EetE2 NS 9,495 9,620
Il 7,5%
= 380
Al 1,519
11 #AIAHIXIZ S 9,49 9,620
oOnSs, ZRIY U A 2Y S
6,195,000& 6,195
Jl 4,95
= 248
Al 991
OXIfeta0tE 23 3,300,000 3,300
Jl 2,640
= 132
Al 528
307 @20l & 104,060 144,000
Jl 83,248
= 4,162
Al 16,650
01 22X +&H| 103,760 144,000




A MEAEAL
=

M HYEW
&©HRl: IBFHAUAE Fs Y HLEE =4 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXIOHEtA AUES X2
32,0002 x140H 123 53,760
Jl 43,008
[ 2,150
Al 8,602
OolotE U 0|28 ADE
20,000,000& 20,000
) 16,000
< 800
Al 3,200
OXIHZI|BE H LS At
30,000,000 30,000
Jl 24,000
S 1,200
Al 4,800
06 28= 300 0 300
orxz ) FUA 2= 300,000 300
) 240
= 12
Al 48
XIOHXIZ 22 8l (MBI X (HEALY) 112,838 112,838 0
= 73,345
Al 39,493
308 AtAIEMSOIE 112,838 112,838 0
== 73,345
Al 39,493
11 SI[2S0He & EAS A 112,838 112,838 0
OXIONxI =2/l 112,838,000 112,838
< 73,345
Al 39,493
Nf=Ql SS=A N2 1,882 1,969 87
Jl 1,505
< 76
Al 301
201 el 82 169 N7
Jl 65
= 4
Al 13
01 At22t2l] 82 169 A8
OA B2 I HE S
82,0003 82
Jl 65
=S 4
Al 13




SN HERAL
M HYEW
&©HRl: IBFHAUAE Fs Y HLEE =4 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 1,800 1,800 0
Jl 1,440
== 72
Al 288
14 JIEt2 = 1,800 1,800 0
o3s=20 ESX2|
200,000 x1H <02 1,800
Il 1,440
== 72
Al 288
X S SHE XA 114,218 109,218 5,000
= 21,701
Al 92,517
301 EtE N = 114,218 0 114,218
= 21,701
Al 92,517
03 A2 H A0S (XILTHH) 114,218 0 114,218
OXIHet At =S e X
114,218,000& 114,218
== 21,701
Al 92,517
XIDHQIADHAXIR (IR 2208 2H) 10,000 10,000 0
= 2,000
Al 8,000
201 er23 | 3,500 3,500 0
= 700
Al 2,800
01 AtR2t2|HI 3,500 3,500 0
ocligrz1d g2= # USNHE S
3,500,000 3,500
s 700
Al 2,800
301 2eEN= 6,500 6,500 0
& 1,300
Al 5,200
11 dALEEIXIZE S 200 200 0
OQXNE T2l 2 200,000 200
S 40
Al 160
4Bt 2as 6,300 6,300 0
OJ1«4XI5101 SXZHI(0F)
6,300,000& 6,300
< 1,260
Al 5,040




A MEAEHA
M HYEW
&©HRl: IBFHAUAE Fs Y HLEE =4 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ot AE R SSAtY X2 90,000 100,000 10,000
Jl 45,000
Al 45,000
307 el2to| & 90,000 100,000 10,000
) 45,000
Al 45,000
02 QIZtEHAEE X 90,000 100,000 10,000
OBYUHA NN TRIY 2AT
90,000,000 90,000
Jl 45,000
Al 45,000
21 otsel ASAt S 1,248,076 1,140,965 107,111
= 192,875
Il 45,460
= 654,743
Al 354,998
SXEAHA 14,250 15,400 1,180
201 er23| 14,250 15,400 A1,180
01 AtR2t2|HI 14,250 15,400 AT1,150
OZTEAAY E2=25 A & 78 14,250
OYuNSIHEX & 2K M=
1,5003 x25 950 2,850
ORIEHANY E2=5E 7Y
3,000 *4Z+950H 11,400
FAEME JaEA o=l A& 4,050 4,000 50
) 2,025
= 1,012
Al 1,013
308 AXIMS0IA 4,050 4,000 50
Jl 2,025
[ 1,012
Al 1,013
11 SIS0 EAS A 4,050 4,000 50
OEAEAD AMBA ABHIXIH
4,050,000& 4,050
Jl 2,025
[ 1,012
Al 1,013
AR A A2 22| RIAI (HEALY) 545,640 607,487 A\61,847
= 381,948
Al 163,692
308 AHXIEMSOIE 545,640 607,487 N\B1,847
= 381,948
Al 163,692




SN HERAL
Hu: HUEW
CHol: DA} 0FS 2l HAUAIE PE (Srol: 22)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 SIS0t 4 A AS A 545,640 607,487 A\B1,847
OAtRAIH0F Ad2e| K&
545,640,000 545,640
= 381,948
Al 163,692
Sleagit AL oY S S22 1,887 1,888 A
Il 1,510
= 13
Al 264
201 er2 3| 1,887 1,888 A
) 1,510
= 13
Al 264
01 At2teltl 1,887 1,888 A
OAIHE2HI 1,887,000 1,887
Il 1,510
< 113
Al 264
=0 A2F A 3,123 4,851 A1,728
Jl 2,498
[ 187
Al 438
308 AtXIEMSO0IH 3,123 4,851 A1,728
Il 2,498
== 187
Al 438
11 SI[2S0 e YA A A 3,123 4,851 A1,728
Ogs=0t Hald 3,123,000& 3,123
Il 2,498
= 187
Al 438
S=0F LEH LA X 5,050 5,050 0
Jl 4,040
= 303
Al 707
307 @120l & 5,050 5,050 0
Il 4,040
= 303
Al 707
01 22X +&H| 5,050 5,050 0
OE =0t LET0 FEZAH
5,050,000 5,050
Il 4,040




SN HERAL
Hu: HUEW
CHol: DA} 0FS 2l HAUAIE PE (Srol: 22)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 303
Al 707
S&d A0S A & etot2te 28,840 24,136 4,704
Il 14,420
< 7,210
Al 7,210
307 lztol & 28,840 24,136 4,704
Il 14,420
== 7,210
Al 7,210
01 22X 2| 28,840 24,136 4,704
OHEE AIOIYZ AR & B0t
28,840,000 28,840
Il 14,420
== 7,210
Al 7,210
S HEAAMN E 2| X 1,625 1,000 625
Jl 812
s 406
Al 407
307 @I2t01 & 1,625 1,000 625
7l 812
= 406
Al 407
01 22 +=H]| 1,625 1,000 625
Ozl & 2FIIXE 1,625,000& 1,625
Il 812
= 406
Al 407
0l=0t & d&&0l&0t 2= H| 18,800 26,000 AT,200
Il 9,400
= 4,700
Al 4,700
307 el2tol & 18,800 26,000 A7,200
) 9,400
S 4,700
Al 4,700
01 22X+ &H| 18,800 26,000 7,200
O0I=0t & HdEH0I40t 2/ =H|
18,800,000& 18,800
) 9,400
= 4,700
Al 4,700




SN HERAL
Hu: HUEW
Cel: @41 01E2l A2 AIETE (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HEDNE2HE 829 1,718 A889
Jl 415
== 207
Al 207
308 XXM SOIA 829 1,718 A889
Il 415
=S 207
Al 207
1 S| 2SO0 UeZBSHASAIE 829 1,718 A889
OEERXNEAHSE 829,000& 829
Jl 415
= 207
Al 207
YRS (HEAY) 209,400 141,700 67,700
== 157,050
Al 52,350
307 212+01& 209,400 141,700 67,700
< 157,050
Al 52,350
01 22X &I 209,400 141,700 67,700
HARE Al=Hl X2 209,400,000& 209,400
= 157,050
Al 52,350
HYRE SHUXIZH XZ A 8,152 11,260 23,108
201 fer= 3| 900 900 0
01 AtR2tc|HI 900 900 0
OZE2= HH 2,000 *450H 900
307 212+01& 7,252 10,360 A3,108
01 22X 2| 7,252 10,360 23,108
OHYRE stLX=H| X2
1,086,000& x7H 7,252
VRSN 2 =H| X 20,680 22,000 1,320
Il 10,340
< 5,170
Al 5,170
307 glztol & 20,680 22,000 1,320
Il 10,340
== 5,170
Al 5,170
01 22X 2| 20,680 22,000 1,320
OIS UME 2| X2
20,680,000 20,680
Il 10,340




SN HERAL
Hu: HUEW
Cel: @41 01E2l A2 AIETE (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 5,170
Al 5,170
MNASE JIHF ZHES XNEAS 385,750 274,475 111,275
= 192,875
== 96,437
Al 96,438
308 XXM SOIA 385,750 274,475 111,275
= 192,875
== 96,437
Al 96,438
11 S [2S0 e YA AS A 385,750 274,475 111,275
OMASE JIMA - ZH2= NE
385,750,000 385,750
= 192,875
== 96,437
Al 96,438
ojefzte| 3,900 4,905 1,005
Jl 1,400
s 600
Al 1,900
ZJ2 S N=s8d 1,900 2,905 1,006
201 =3 1,900 2,905 A1,005
01 At22t2lt] 1,900 2,905 21,005
OKIACIe S & At E2=
9503 *2,000H 1,900
224 MEUSE 28X 2,000 2,000 0
Jl 1,400
< 600
307 el2to| & 2,000 2,000 0
) 1,400
= 600
01 22 +=H] 2,000 2,000 0
OS=S2AZHE 2,000,000 = 1SET 2,000
Jl 1,400
= 600
HH2IBHI(MAEHL) 2,238,000 2,277,929 A\39,929
[ 110,100
Il 482,892
== 76,146
Al 1,568,862
el 23 2,072,774 2,073,963 A1,189
= 110,100
Jl 482,892




SA HRSAA
MY B™ A (M BAL)
s lIEE2ghl EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 76,146
Al 1,403,636
o1yl 878,136 935,4%6 A57,360
101 @124 d| 878,136 935,4%6 A57,360
01 2= 180,306 232,621 Ab2,315
opx 180,306
EF =L
11,1303 *45 x30A| 2+ 12F 180,306
2 JIEFR 24 73,35 62,715 10,639
CHEIERI 3.468
eENEL S
14,4462+ 1H+20A| 2t 12 3,468
O3ZEAH AL 69,886
o2y 40,0003 x5F =128 2,400
OXlzes&eizad 64,800
-9/t 1,350,000 x2Y* 12 32,400
—-5tol b, Xt 900,000 x3H*12& 32,400
Ox=22Y 2,686
-t 13,3692 x2Z #4A| 2t 123 1,284
=9 9,736RA*3H4A| 2H12F 1,402
03 SR (RIHL) 22X 624,476 640,160 A15,684
©el2t| 624,476
oJles(gersr 181,151
2453(Jt=) 3,444,250 2B+ 128 82,662
-28z2(It=) 3,388,400 x1H+ 128 40,661
-7538(0t3) 2,493,250 x1Z»12& 29,919
45 E(0t2) 2,325,670 x1H+12& 27,909
Oois=e 20,160
i N 40,0003 *22Z = 12& 10,560
&5 20,0003 10+ 12& 2,400
o PE 20,0003 x5« 123 1,200
=M A 60,0002 x5 12& 3,600
oy PNIE 100,000 2F 122 2,400
o2s5sY 1,084,539, 1203 *5% 54,227
O&eise 50,0002 +33H*12& 19,800
OslErg 50,00021533%+ 128 19,800
oHla224g
8,000 x2H 10« 12& 1,920
OxunZ2
19,2103 *33H * 15A[ 2H+12& 114,108
(@FSELI=Eala] 140,000 33+ 12& 55,440
O E St 90,266,000 x23| *50% 90,266
OdItE 4| 102,430& 33 »20 67,604




SN HERAL
MY B™ A (M BAL)
chol: ol (19 @)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Jaold 170,501 197,722 N27,221
04 HSRESS 170,501 170,522 A21
M BRA(RIAY) 22X BE2RE=3 S 170,501 41,173 129,328
OBRH(RIIAH 22X 2eALEE |
HEE= 59,874
(@Falz gt 1,525,874 860 +3.495% 53,330
OFIIQALEE 53,330,000 *12.27% 6,544
OSRA(RIHA) 22X =0z I|2=2
g3 1,525,874,800& +4. 5% 68,665
O3 (RINAH)22X NEEE J|2=R
g= 1,525,874,860& *1.75% 26,703
OZRA(RINAH)22 X MATHEE S
1,525,874,860& * 1% 15,259
ANZZHULAIS (2X) 73,592 72,360 1,232
Il 36,796
Al 36,796
101 @124H| 71,439 70,312 1,127
Il 35,719
Al 35,720
02 JIEta 2= 36,055 33,611 2,444
OAZEERLIIN SFE JI2s
1,992,500« 1E 128 23,910
Jl 11,995
Al 11,995
OAIZIEERIZINN SFE dtati=
3,398,500& x1H 3,39
Il 1,699
Al 1,700
OIH2d=+E 1,680
(OLIE\, 40,0002 x1&* 122 480
Il 240
Al 240
Ol 20,0002 * 1«12 240
Il 120
Al 120
ORMAHHA 20,0003 18 x 128 240
Il 120
Al 120
OSMXHHA 60,0002 x 1 * 122 720
Il 360
Al 360
OAIZRZR4E
9,620 1H*20A 2+ 123 2,309
Il 1,185
Al 1,154
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SN HERAL
MY B™ A (M BAL)
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 JIEtME = 254,677 217,944 36,733
OAIZIEERZININ S22 JI2a
2,186,660 7 H* 122 183,680
Jl 146,944
< 7,347
Al 29,389
O4i2E JI2RY= 8,793
OAHLEE 224,086,800 *3.495% 7,832
Jl 6,265
= 314
Al 1,253
OFIIRUYEE 7,832,0002%12.27% 961
) 769
= 38
Al 154
OAIZHEEHAIIN SR8 duaoi=(7d)
19,544,0002 19,544
Il 15,636
= 782
Al 3,126
o=x=g 26,846
OIEse 2,640
BN} 40,0003 x2&* 123 960
Jl 768
=S 38
Al 154
L PE 20,0002 28 122 480
Jl 384
=S 19
Al 7
=Mt 60,0002 x1& 122 720
Il 576
S 2
Al 115
e 20,0002 x28 * 122 480
7l 384
= 19
Al 7
OAlRAZ 25
9, 1603 »7&*20AI 2Hx 123 15,389
J| 12,311
=S 616
Al 2,462
OS=22=g 104, 9603 7~ 123 8,817




M HERAA
M HAHPAIH(MAS2AL)
ohel: oI 23| EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 7,054
=S 353
Al 1,410
Ot 4] 7,520RAx7E 7T A2+ 4,054
7l 3,243
= 162
Al 649
(©FSRU= Rl 140,000& x7 =123 11,760
Il 9,408
= 470
Al 1,882
204 MR AH| 15,068 14,333 735
Jl 12,054
= 603
Al 2,411
02 Mz2 =] 11,393 10,658 735
OARIEEHHMAIIM (92 & E)
155,000 x7 & #35/40A1 2+ 12 11,393
Jl 9,114
= 4%
Al 1,823
03 S3E =3I 3,675 3,675 0
OAIZIIE AN el 2SH(SSE+&
=) 50,0003 x7 & *35/40A1 2+ 122 3,675
7l 2,940
= 147
Al 588
KA SEALSUAL(EX) 277,840 244,300 33,540
7l 138,920
S 27,784
Al 111,136
101 21AH| 277,840 244,300 33,540
Il 138,920
= 27,784
Al 111,136
03 SRA(RIH )22 U2+ 277,840 244,300 33,540
OSEAHLYSTAY 25 (1E) 277,840
OglZit| 275,200,000 275,200
Jl 137,600
= 27,520
Al 110,080
O&Eels W=l 240,000& 11 2,640
Il 1,320




SN HERAL
Hu: HESAAY (NP
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 264
Al 1,056
XAtEI S 4 SHRAMEIA(ER) 185,520 148,320 7,200
Il 77,760
== 16,552
Al 62,208
101 @124H| 185,520 148,320 7,200
J| 77,760
== 16,552
Al 62,208
03 SRA(FIH )22 U2+ 185,520 148,320 7,200
OSHAYA & SARMLH(6H) 165,520
Oel2H| 154,800,000 154,800
Jl 77,400
== 15,480
Al 61,920
OsSgAY dE0e WS
240,000 39 720
Jl 360
S 72
Al 288
LS S5 AH(EX) 27,240 26,780 460
Jl 13,620
Al 13,620
101 @124H| 27,240 26,780 460
Jl 13,620
Al 13,620
03 SR (RIH )22+ 27,240 26,780 460
ONLFESTHH2E 2S5 (1E8)
27,240,000& 1 27,240
Jl 13,620
Al 13,620
SHRHL LML (EX) 220,200 216,708 3,492
= 110,100
< 22,020
Al 88,080
101 e124d| 220,200 216,708 3,492
= 110,100
=S 22,020
Al 88,080
03 SR (RIH )22 E 4 220,200 216,708 3,492
ogEAdae MEIH(9H) 220,200
@)ulal:] 218,040,000 218,040




SN HERAL
M HAHPAIH(MAS2AL)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 109,020
=S 21,804
Al 87,216
Ou=H| 240,000 9 2,160
= 1,080
S 216
Al 864
=&l 165,226 203,966 A38,740
JI23Hl 165,226 203,966 A38,740
201 2= 81,806 93,456 A11,650
01 At2t2lt] 68,906 79,3% 210,450
CPIELCES TETISIE=M)
500,000& x52H 26,000
ozgt(01E2dl)
8,0003x52H 8« 123 39,936
O3RH(RIIH )22 L=H|
90,0002 +33& 2,970
02 S5=24g4l 12,900 14,100 21,200
oRER= 12,900
oggt 4002*1,0005+12& 4,800
OSJI 2,5003 1605122 4,800
OB (AEESF)
5503 +500S+ 122 3,300
202 04l 69,600 89,200 19,600
01 2LHoIH 55,200 72,400 A17,200
Ozl 20,0003 x46H 52 x 122 55,200
02 A0 14,400 16,800 2,400
OQAARYA XEEHE =
200,0003 x4 *122 9,600
OS8XS g22H =X
200,000 2F 122 4,800
203 HR=&H] 13,820 21,310 AT,490
02 FRIHAA =AY 3,440 4,030 A50
OFIRIE R 3,440
O100¢! Olst 40,0002 «86< 3,440
M FA2S LRSI 10,380 11,280 A900
ORMEgER=Y 10,380
(OL=FaE 7,380
-30Q! Olot 400,000& <123 4,800
-3091 =1t 5,0003 %43 * 12 2,580
OXIOH et M 3,000
-15¢! 0lat 250,000 * 122 3,000




g 8 A A

SN EHEAA
M HUEW
Bl BAAZ AL B TR (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SHEHA 15,343,565 18,397,153 A3,063,588
= 1,003,552
[ 110,021
Jl 4,009,944
== 2,600,701
Al 7,529,347
ALSd 12,971,523 16,033,907 A3,062,384
= 1,093,552
s 36,621
Il 3,544,282
= 2,535,014
Al 5,762,054
SAOARAIEI|ERF 1,161,158 1,087,573 73,585
= 7,466
Al 1,153,692
ME MBI A2 St 221,830 151,531 70,299
101 21AH| 185,884 109,947 75,937
04 JIZtN2Z2XNSE+ 185,884 109,947 75,937
O2At 110,127
@)uFal:] 290,000 x1H*262 * 122 90,480
O4i2E JI2RY= 10,157
AR k= 90,880, 0002 *3.495% 3,177
“HIQYEE 3,177,000 %12.27% 390
-=0x=3 90,880,000 4. 5% 4,090
-1ELE 90,880,000 *1.75% 1,591
~SHHEE 90,880,000 * 1% 909
Og &= Itd| 200,000 x12H 23] 400
O=ArelE 300,000& *1 300
O&l &= 290,000& 30 8,700
Oul=H| 90,0001 0
O2IAH(EHAl) 75,757
OglZit| 290,000 x1H 262+ 67,860
O4ES JI2RE=23 7,607
-AY2E 68,060,000 +3.495% 2,379
“AIRYEE 2,379,000& %12.27% 292
-=2d=s 68,060,000& *4. 5 3,063
-UEEE 68,060,000 *1.75% 1,192
—SHEE 68,060,000 * 1% 681
OgESItd| 200,000& x1& 12 200
Oul=H| 90,0002 x1& 12 0
201 fet= 3| 13,826 13,734 R
01 AtR2te|H] 13,826 13,734 2




SN EHEAA
M HUEW
Bl BAAZ AL B TR (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OURA A O} 952
Ot Nl & 80& 4,000 320
OXSIt SAIEA 4402 +1,000% 440
OXsxt HeZA 1602 %1,200% 192
OUIEINE 2F 2 50,000& * 122 600
Ozt 2ALEMEIA
7,403 x 122 89
O=clizd, stga 29 2,165
ONME2Hels MH S
95,0002 %52 475
OHE & BIEIZ MIEHI
190,000 %12 190
Ostda AIEAHH 200,000 6SET 1,200
Ott= 10,0002 *30& 300
O1l=H| 2,220
O2f At 90,0003 *7d 630
Oud & da=A 90,0002 *15& 1,350
OFAZE 120,000 18 x22] 240
OZBSE2dAM =sAXE2
300,000& x2E~12& 7,200
ONtEE2 SXZIH 100,000 6 600
202 04t 7,200 7,200
01 =LHOHI 7,200 7,200
OB A2A JI=ZH]
20,0002 «6EH 62 * 12 7,200
203 =4l 3,000 3,000
03 A=A 2= 3,000 3,000
O=2AAY eR=a 3,000,000 3,000
307 elztol & 11,920 16,120 A4,200
01 22X+ 2H| 11,920 16,120 N\4,200
Otlzs 29 7,600
OB5MI01 a4 = I=tAt SFAIET A1
1,000& 7,000 7,000
OF = 300,000& 300
OxE2E 300,000 300
Oo+ait 24 120
Oorz 35,0002 3
oxl2s 85,000 85
oA 29 1,800
Oo%= 1,000,000 1,000
OARZ 800,000 800
oscxzd 29 2,400
OF = 1,400,000& 1,400
Ox2E 1,000,000 1,000




SN EHEAA
M HUEW
Bl BAAZ AL B TR (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
BAARS 614,181 614,480 VAVESS)
101 @124H| 111,501 86,823 24,678
M ORNZZE2NSE S 111,501 86,823 24,678
OF A2l JIZHHZZ2IHEAR) 111,501
@)uiFal:] 81,778
-Jl==2 2,271,6102 38128 81,778
O4HES JI2RE=2 9,549
-AYL2E 85,435,000 +3.495% 2,986
“HAIRYEE 2,986,000& %12.27% 367
-=23=s 85,435,000 *4. 5% 3,845
-UEEE 85,435,000 *1.75% 1,49%6
~SHEE 85,435,000 * 1% 855
Og&E=Itd| 609,480 x32 +23] 3,657
OSXZEE 80,0008 x3& * 12 2,880
O&lx= 13,637
=J12HAl 2,271,610& 23 4,544
-S54 9,093,000& x1H 9,093
201 er23| 446,909 431,633 15,276
01 At22te|Hl 109,841 189,778 A\49,937
OZZARE ZelHEH 3,960
oglad 2,640
-ggt 220,000 x25+32] 1,320
-Sgea)l 330,000 x4 5+13] 1,320
Otlzd 220,000 x15+43] 880
O2oletzte| eIt 220,000 x25+13] 440
OLAAIRE SALEX 735
ouzd 21,0003 202} A 420
Otlzd 21,0003 %102 A 210
OLlerzte|elsi ot 21,0003 +58r A 105
OZEMN=E 2,170 +2801 122 730
O3tE4d A 40,0003 38t Ax 12 1,440
O=Et= 28,500 12t Ax 123 342
OF A2 BAES 2,000,000& 2,000
Ood=2=I| 22t 6,300
OEHA 35,0002 +6LH* 122 2,520
OE2AX 2 35,000 ~4LH =122 1,680
o=ATZA 36,0002 #5CH* 12 2,100
O3JIEE)| 2eltl
43,0002 «11CH= 122 5,676
O=2AXA & dZA HIAHASZ(9HA)
60,0002« 12& 720
OFANE 22ES 2,8%




SM: BEEAA
HM: AUSA
Bl BAAZ AL B TR (Cte: M
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Od2tg &2l 56,0002 *16L 8%
OAl&8 242 T 100, 0002 x20Z 2,000
OAAZEANTO St =42 81,638
ORUAHIES +48 17,208
—2AA 400,0002 10§ A% 128 4,800
—EAA (L) 176,0002 1 A 128 2,112
S=-EADNEN 104, 50024 *47H A% 1224 5,016
—EANBA 88,0002 *50 2+ 128 5,280
O5ZI| HIIZA =2 420
—2AA 150, 00024 %1l A% 13] 150
—EAA (L) 150,000&4 %17l A*13] 150
—EANA(23)
120,002 %17l A% 13] 120
O] orEe| 3s42 5,688
—2AA 221,0002 1 A% 128 2,652
—EAA (L) 143,0002 * 1 A% 128 1,716
—EANA(23)
1100002 * 1 A 128 1,320
OFIIAL HIIZA 1,010
—2AA 1,010,00024%17H A% 13] 1,010
OFD|otEBR| 42 19,29
R=RAEN 550,0002 1Dl A% 128 6,600
~EAA(E ) 650,0002 1Dl 4128 7.800
-RaDNEN 102,0002 #4122 4.8%
OAH(L3hHAIE B HEds=>2 8,040
RRAEN 420,0002 * 1 4128 5,040
—EAA(ER) 250,0002 1Dl 4128 3,000
Odt&=xelAlgZel Uas4+2 10,200
—2AMBA 170,0002 +50H A 128 10,200
OSTIIA(ING) BIIZA =28 320
—2AA 10,0002 %17l A% 13] 100
~EAA(E ) 20,0002 * 170 A% 13] 220
OHDIg HMeltl 19,456
~ZHSHIIE Hel ++2 18,096
AL 1,130,002 171 A% 128 13,560
S EHAX L 42,0002 x40 2+ 128 2,016
CEANBA 42,0002 5 2+ 128 2,520
~Bl%=% el 8502 *400L*43] 1,360
OE2E Mol +42 880,0002 x23] 1,760
OF2A2| X NFS=H| 1,644
OAg(2a 82 UA)
255,000 *3% 765




SA: BHBAA
L IETETE
Bl BAAZ AL B TR (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Osl(=22, 822N ,28)
22,0003 44 88
OJA (=2 g) 358,000 2 716
Oosa(g2) 75,0002 1 75
2 S52g4l 337,068 271,855 65,213
0=32=  HAl 166,296
Odstes 65,0002~ 12 780
ool 1082l 93
22,0002+ 122 264
Oo&IIe3 90,000
-2 3,000,000& ~12& 36,000
-2Ax(E2) 4,500,000~ 12 54,000
Odotees 20,400
-2 700,000& * 128 8,400
-2AN(EH) 1,000,000& «12& 12,000
OEAIARS 54,000
-2AL 2,000,000& «12& 24,000
-E2AN(EH) 2,500,000 12& 30,000
Ordedss 492
-SAL 30,0002~ 12& 360
SEAL(ED) 11,0002 %122 132
OUIRQIE QIEWRD
30,0002 x 122 360
OJtAAILD HHARAE S
20,0003 *2IH 2=%12] 40
OMSALLT HHAHYEE
210,000& %13 210
OusS7rLEFHES 3,163
(OL=Fabn 2,363,000& %12 2,363
OB2A(EH) 800,000 12 800
OXSEFXBI(2E, ANHSKHA S Z8) 51,800
Odxt 2,700,000 *7CH 18,900
OsEX 4,900,000 *3H 14,700
Osgxt 6,500,000 1CH 6,500
O3t=xt 4,300,000 ~2CH 8,600
(OE=PN; 3,100,000 *1CH 3,100
OM==x B4 10,0002 x100= 23] 2,000
ON=+Zx +HIA =8
100,0002 %12 100
OF3stx A 15,0002 *70E*12] 1,050
OHl&E &I X2l 1,946
ORFU(ZR) 1,78421+5 #5023 446
O=AXbl 1,500,000 *1CH 1,500
OFArAZSFAIHI 42,676




SA: BHBAA
M HUEW
Rl 2AAZAIED|BHS (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=2A(22) 104016t
2,4813%6,216M 15,422
O=2A(g2) 204015t
3,861&+2,701m 10,429
(OLFaPNEN 13,602
-15015t 3,230 x938 m' x4l A 12,119
20016t 3,801 +384M * 11 A 1,483
(@)-FaFSi=E~ 3,223
-15&0lot 3,230 *180m" % 1JH 2 582
201013} 3,861 171 *40H A 2,641
024U HT(BB) 2,500,0002 2,500
OF4A Wes)| HZ U 26(22)
6,800,000& 6,800
024 - Wug 2#EDT Fy|
2,000,000 2CH 4,000
O35 AN&E A AA(E2)
3,300,000 *23] 6,600
O2I=2&tHl || 6,000,000& 6,000
OAZZEHl S 41,887
Odl| KX 41,887
-GHP e 1,260,000 * 11CH 13,860
—£HP & teD| 96,8003 *410H 3,969
—GHP & KT Xl 1,218,800 * 10CH 12,188
-HIY - 00A FA & E
11,870,000 11,870
401 AlEHIZL S0 55,771 51,784 3,987
01 Al&H| 85,771 51,784 3,987
OFA =& &l 1,301& 5,634 m x33] 21,990
O=xt=2 & ANMHFHEH EXSAM
14,971,000& 14,971
OHEEAANS A SaeZAL
18,810,000& 18,810
SANEAXNAR2E 137,524 132,326 5,198
101 @124H| 34,89%6 28,317 6,579
M ORINZZ2NSE S 34,8%6 28,317 6,579
(OF=EN] 34,8%
@)uFal:] 2,271,6108«18« 1238 27,260
OAHEE JI2RE2 3,185
A2 28,479,000 *3.495% 9%
-AI|RYEE 996,000 *12.27% 123
-=2H3 28,479,000& *4. 5% 1,282
-IELE 28,479,000 *1.75% 49
—SHHEE 28,479,000 * 1% 285
OEE=It| 609,480 1 +23] 1,219




SA: BHBAA
M HUEW
©2l: BHAZBAILD|E S (CHol: &S1)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
O=XzelE 80,000 18 =128 960
OISy 2,271,6103 1813 2,272
201 L= 93,098 100,974 AT7,876
01 AFS2t2ltl 22,712 27,267 A4,555
OMRES 95,0002« 122 1,140
OZEHEN 220,000 x65+22 2,640
od==D| iz 35,0002 =2CH+ 12 840
OAARESINS0 Ut == 9,586
ORFHIESY ===
180,000& 104 2+ 122 2,160
OsZINEINEAN =2
150,000 * 14 A+13] 150
Osletdze| Hde==g
157,300 * 104 2+ 122 1,888
O&Jerdze| Has=+=2
164,000& 104 2+ 122 1,968
OAg(ZHAIE 2 Hels5
230,000& x 14 A+ 128 2,760
OSEItA AZAE HIIEA =22
60,0003 *1JH A 60
O=&&Hl BIIEM =2
600,000& *1JH 2=%12] 600
O A3 WHI(3.3g)
33,0003 *32JHh 1,05
ong=zsd 29 900
OLEARFE 90,000& 105 900
OFAES & FAN22UES
2,500,000& 2,500
QI - HIIANE - 22 S 2SIHN 800
OxgJI7 S 23 25,0003 *325 800
OZANEAXN L 2S MNP EE2= 3,250
OHLSENE EEES
1,000&+1,000H 1,000
OXISGAtISHHEMNY EE2E & W=
1,900 +1,000K 1,900
OXx2g T2 Y
70,0003 *50H 350
02 E32g4l 51,2%6 61,357 210,061
0=222 % HAl 35,640
Odsates 6,000& 122 72
ORuegss 14,0008 122 168
odlIes 1,300,000& <122 15,600
Odlot=ER3 350,000 * 122 4,200
OZANARS 1,300,000& « 122 15,600
OM+E £HAA 242
66,0002 %12 66




SHEHA
A=z
SABAILIIUTE =)
S - EE - BRI(EH) - AIRAY - BAS of v A 2
OM==x B4 385,000 23] 770
OXZRALI(2E - HSkHAl & Z8) 5,400
O3 xt 2,700,000 *2CH 5,400
OJtAALDHR A ZHY
20,0002 %12 20
o2zl FAl2c 500,000 <23 1,000
OAE&EBIS X 700,000& 12 8,400
03 A= 19,090 12,350 6,740
oZsd & SduZz )Y 2 14,500
OO0z 22 ud A2
50,0002 602 3,000
Og=st gdell IAE
50,000& 602 3,000
OAL 2L B ud BAE
50,000% %602 3,000
OlEANIY 2Swd AR
50,0002 602 3,000
OddAZual A=
50,000%*302 1,500
OdZEZ2 I8 TH=H| 1,000,000& 1,000
OXSAtelSY HEZZ2Y 29 4,590
O MHEwa ZAI=Z
50,000& *402] 2,000
OFHel TtEL2Y AR
60,0002 x153] 900
OZ0je FHolws ZAE & MEHI
130,000& » 132 1,690
307 elztol & 3,030 3,035 VaNs)
01 22X+ &I 3,030 3,035 AN
ongzsd 29 2,030
O3 1,400,000 1,400
ox2s 630,000 630
OHESANE 225 1,000,000& 1,000
405 AHAHE S 6,500 0 6,500
01 AL =S F=H 6,500 0 6,500
(OFSINE=IN D) 5,500,000 = 1CH 5,500
O2 A A 1,000,000 *1CH 1,000
kA PN Entage: 59,172 51,100 8,072
201 er=23y| 45,952 43,880 2,072
01 AtR2t2|HI 4,472 3,200 1,272
OARES 250,0003 404 2x23] 2,000
OZEHEU 209,000 x2E5*4 ) 2+ 13] 1,672
OB A A UPS BiEIC] WAl
800,000 *1H 800
02 S3=4gl 40,680 40,680 0




SA: BHBAA
M HUEW
Bl BAAZ AL B TR (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0=52= # HAl 40,680
Odaes 6,000 50 A+ 122 360
OodIIR3 3,200,000~ 128 38,400
Odlot= = 30,0003 »40H A+ 12 1,440
ORdgsz 10,0003 *4 I 2+ 12 480
03 A= I 800 0 800
oAYsdEZ2 Y 2Y 800
OoZz8 24| 200,000 *40H A 800
307 21201 & 7,220 7,220
01 2222 7,220 7,220
02EEAX A 2,000
o= 1,500,000 1,500
OARZ 500,000 500
OLEHHE A2 500
OL2Z 500,000& 500
OZUHEAX A 1,600
O3 1,200,000 1,200
OARS 400,000 400
O=s4tEAX A 1,600
O 1,200,000 1,200
(@FN=-F— 400,000 400
OSeUxzd 23(25,34) 1,520
olF(AEXIZAH) 7,00024 100K 700
OAL2E(NFUXRIIME S)
82,0002 %105 820
405 AHAHE S 6,000 6,000
01 AL =S F = 6,000 6,000
O™Al M W& 6,000,000 1CH 6,000
PAISARY 98,183 102,555 N4,372
201 er2 3| 41,933 41,255 678
01 AtR2telHl 8,690 8,700 A10
OANRES 190,000 501 A:+23] 1,900
OXZgHEU 209,000& x25+50 2 2,090
OES2AMEA 5 S=HI
100,000 54 2= 500
OFAd=z4 2HE2A HA+E
30,0002 * 14 +5I A-+23] 4,200
02 S3=gHl 28,493 27,805 688
0332 & HMAl 25,092
oHIIR3 1,900,000& «12& 22,800
Odot=== 912
-OIEd+=(3H,.5%)
5,000& 21 A+ 122 120




SA: BHBAA
M HUEW
ol BAOZAIED|BHSF (CHol: &S1)
SN - ZB - C9(B) - MRAY - BES il &k e HlmS2
ST (BE A2 )
22,0003 +3 L+ 122 79
(OFFal-l1=d 23,0003 50 A% 12 1,380
oA ZHI(ENH) 1,344 20 *80 2,151
Ot MAEH 250,000 57K A 1,250
03 A2 EHI 4,750 4,750 0
oAHZBNEZH 2 4,750
OZA=Z 50,000 *5JH A+ 153 3,750
OE2d 249H| 200,000 57 A 1,000
301 LEBNZ 3,000 3,000
14 JIEt2 43 3,000 3,000
OBHEZA 2SS E Y
50,0003 54 2+ 128 3,000
307 QI2Hol A 51,000 56,000 25,000
01 9= P=H| 51,000 56,000 A5,000
O=s=2HAZ A 10,000
O 9,200,000& 9,200
Ox2E 800,000& 800
OHHEEAHRZ A 10,000
(OISl 9,200,000& 9,200
OL2E 800,000& 800
O HEAHEZ A 13,000
(OEII 12,000,000 12,000
OA23F 1,000,000& 1,000
OAX2EAHAZA 10,000
O 9,200,000& 9,200
Ox2E 800,000& 800
OsEEAHAZA 8,000
(OEIel— 7,200,000 7,200
OL2E 800,000 800
405 Kot S| 2,250 2,300 AB0
01 IR =SFSHI 2,250 2,300 AB0
Ols SEII(2H) 1,000,000 *1CH 1,000
OEgs 2XH2H) 300,000 =174 300
OHEN(AZ) 550,000 *14 550
O3JNIEHIN(E=E) 400,000 *1H 400
2HEZ MEESRR B WK 1,800 1,200 600
& 540
Al 1,260
201 B2 AL| 1,800 1,200 600
= 540
Al 1,260




SA: BHBAA
M HUEW
Bl BAAZ AL B TR (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 1,800 1,200 600
O=Z=u=H| 360,000 5% 1,800
= 540
Al 1,260
2HiEA Bxe™ T 28,468 27,081 1,387
s 6,926
Al 21,542
101 ©1AH| 28,468 27,081 1,387
< 6,926
Al 21,542
M ORINZZ2NSE S 28,468 27,081 1,387
OBATZA BX0l2 (58, 128)
27,705,000 27,706
= 6,926
Al 20,779
OCAlEE JI2RE23 763
ouns=es 27,705,000 *1.75% 485
O4tiEe 27,705,000 1% 278
dErs A2 X910 1,084,567 1,210,069 125,502
Jl 353,381
< 262,564
Al 468,622
AIALSE 75,757 75,621 136
101 @124H| 75,757 75,621 136
M ORIMZZ2NSE S 75,757 75,621 136
OXI 2 AL 75,757
@)uFal:] 290,000 x1H+26 2«0 67,860
OAHEE JI2RE23 7,607
-2 EE 68,060,000 +3.495% 2,379
-AI|RYEE 2,378,697 &*12.27% 2R
-=2H3 68,060,000 *4. 5% 3,063
-1ELE 68,060,000& *1.75% 1,192
—CHHEE 68,060,000 1% 681
OEE=IH| 200,000 x1H =13 200
OLl=H| 90,0002 *1& 0
2 X01Ea A Y 299,992 299,992 0
Jl 149,996
< 44,999
Al 104,997
308 XXM SOIA 299,992 299,992 0
Il 149,99
== 44,999
Al 104,997




2A:
X XH -
o e

=aak

0% I o
fir 08 &

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

11 SIS0t 4 A AS A 299,992 299,992 0
(OF=FSl:] 299,992,000 299,992
Jl 149,996
< 44,999
Al 104,997

eSS HA A2 ET 24,610 26,450 1,840
Jl 19,688
< 1,476
Al 3,446

308 XXM SOIA 24,610 26,450 1,840
Jl 19,688
=S 1,476
Al 3,446

1 S| 2SH U B XA AIE 24,610 26,450 1,840
(©OF=FNla] 24,610,000 24,610
Jl 19,688
= 1,476
Al 3,446

LEX QSHIXIR (MEALY) 287,220 287,220 0
< 186,693
Al 100,527

307 212+01& 287,220 287,220 0
< 186,693
Al 100,527

01 22X+ &I 287,220 287,220 0
Ogetit 2lZHIXI# 287,220,000 287,220
= 186,693
Al 100,527

NS AR 242 AL 68,632 68,632 0
Il 34,316
Al 34,316

202 04| 500 500 0
Jl 250
Al 250

01 =LHO LI 500 500 0
OXIS A2l AZZAL OFH| 500,000 500
Jl 250
Al 250

307 el2to| & 68,132 68,132 0
Jl 34,066
Al 34,066

05 212+ = 68,132 68,132 0
OXIS Atal AZ A 68,132,000 68,132




SA: BHBAA
ma: AUEZ
el MEs A2 X210 EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| 34,066
Al 34,066
KAt SEHLSEALY 228,276 244,583 A16,307
| 99,341
= 19,868
Al 109,067
101 eI t| 18,676 49,217 A30,541
| 8,541
= 1,708
Al 8,427
0 IRII22IsEE S 18,676 49,217 30,541
OSEABSTAY JIZH22XHK0IEH
CHxilel=d) 18,676
OQlAbI(AMIE A2 oflgt2e])
2,271,610 x1Z 63 13,630
J| 6,815
= 1,363
Al 5,452
O E St 609,480 1 *13] 610
J| 305
= 61
Al 244
O=XELE 480,000& 14 480
J| 240
= 48
Al 192
Oul=t| 90,0002 1 0
| 45
= 9
Al 36
Of&Z 2,271,610&*1H 2,272
| 1,136
= 227
Al 909
O4UEE JI2RY=3 1,594
-H2AEE 14,240,000 *3.495% 498
AL E 498,000&%12.27% 62
-=0AH3 14,240,0002 *4. 5% 641
-NESE 14,240,000& *1.75% 250
—ATHEE 14,240,000 * 1% 143
201 L2 | 35,100 45,866 A 10,766
| 17,550
& 3,510




FA S8EHL
M AYEW
el dEs A2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 14,040
01 AtR2t2|HI 24,000 29,986 25,986
O7Z=E2AAE 5,000,000 5,000
Il 2,500
= 500
Al 2,000
OAHB YA 15,000,000& 15,000
Il 7,500
= 1,500
Al 6.000
OfLlE 2T A 4,000,000 4,000
Jl 2,000
= 400
Al 1,600
03 A= SHI 11,100 15,880 A4,780
OAHBUSAUTAI 60,0002 602 3,600
Il 1,800
= 360
Al 1,440
OIS MEIZATHE ALY
90,0002 *502] 4,500
Jl 2,250
= 450
Al 1,800
OZX=ZAHASE 300,000 %102 3,000
Il 1,500
= 300
Al 1,200
301 EetE2 NS 7,000 8,000 21,000
Il 3,500
= 700
Al 2,800
14 DBt 2 a=S 7,000 8,000 1,000
OANEEMEA=S 7,000,000& 7,000
) 3,500
S 700
Al 2,800
307 el2tol & 139,500 141,500 22,000
) 69,750
< 13,950
Al 55,800
01 22X S| 139,500 141,500 /2,000
OTZEAANY ARF 6,000,000& 6,000
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SN EHEAA
M AYEW
el MEs A2 X210 EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| 47,640
T 9,528
Al 38,112
201 B2 AY| 37,880 72,803 A34,923
| 18,940
& 3,788
Al 15,152
01 A=R2teld| 35,780 71,003 N35,223
os2= & U=z 6,400,000& 6,400
| 3,200
& 640
Al 2,560
osoadxry 3,060,000& 3,060
| 1,530
& 306
Al 1,224
O=dH&E3X JIE3 50,0002 1004 5,000
J| 2,500
& 500
Al 2,000
O23dZ2Y I (SMYEHX A ELEH)
20,000,000& 20,000
| 10,000
& 2,000
Al 8,000
o= L 55,0003 «2CH*12& 1,320
| 660
& 132
Al 528
02 SE==29| 600 300 300
O3 AtlEE 150,000 *4Z 600
| 300
= 60
Al 240
03 A2 G| 1,500 1,500 0
03T Y U A 29
1,500,000& 1,500
| 750
& 150
Al 600
301 LB F 27,400 6,000 21,400
| 13,700
& 2,740
Al 10,960




SA: BHBAA
M AYEW
Ctel g5 2219101 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
14 IIEt2 8= 27,400 6,000 21,400
O d 28=E
40,0002 x4 *1652 26,400
Jl 13,200
< 2,640
Al 10,560
ONA=HAL BHC AUEON A=
5,0002x200H 1,000
) 500
S 100
Al 400
307 el2to| & 30,000 24,000 6.000
) 15,000
< 3,000
Al 12,000
01 22X &I 30,000 24,000 6,000
SH2LH 2 (SHEXN, 223)
40,000 x750H 30,000
Jl 15,000
< 3,000
Al 12,000
2y 2Ll A= 6,515,272 9,667,472 23,152,200
= 894,258
Jl 2,068,745
= 912,007
Al 2,640,262
SR gae] YN g 126,123 116,939 9,184
101 21AH| 38,903 27,519 11,384
04 JIZtN2 2N S 2+ 38,903 27,519 11,384
OYAASIIZtNZ2 2 Xt 38,903
@)uFal:] 83, 1503 x2 B x26 L +8F 34,591
O4li2E JI2RY= 3,912
-AY L2 34,991,000 %3.495% 1,223
“HIQAYEE 1,223,0002%12.27% 151
-=0=3 34,991,000 4. 5% 1,575
-1ELE 34,991,000 *1.75% 613
~SHEE 34,991,000& * 1% 350
Og &SIl 200,000 x2EH*13] 400
201 et 3| 2,400 2,400
02 s3=gHl 2,400 2,400
OgHA=HHl KA 400,000 ~6LCH 2,400
206 MH=HI 76,820 87,020 210,200
01 MZH| 76,820 87,020 10,200
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SA: BHBAA
M HUEW
Celr 23Y 2eldAHR= (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oHEdNY s2=Y 2,000
OoHgd g s2= 2,000,000 2,000
02 S3=gHl 37,910 36,590 1,320
O AHS PACS MBI FXIE==H]
1,200,000 *42] 4,800
(OFSPAESL 33,110
OQISRAL HHES AHUHEI
550& 57,0002 31,350
OkQl HEHz HLES L=
5502 +3,2004 1,760
307 212+01& 444,846 402,510 42,336
01 22X 2| 424,846 382,510 42,336
ougaEss 29 380,576
ORRMLES AZ(BEUHH S 55) 36,856
B2t 5,040&+1,000& 5,040
-Td 11,0002 100 1,100
~Tdap 19,4003 %1,500& 29,100
-ZEIEA 8,0002!+100% 800
_ESSZEEE 8, 1602 x100H 816
OXIXEH Q1SS AL 342,020
QIS I A} WA
10,700& %12,000& 128,400
- 2J|2 85 AldH|
19,4203 %11,000& 213,620
OULESE 228 A22S(FADI S)
1,700,000& 1,700
OB 28 43,950
O ZAt 90,0003 » 1508} A 13,500
OHelZ A 90,0003 #1502 A 13,500
OZH(0H=,001=) B At
90,0003 508 A 4,500
Od"E (L&, Set0ICIoNBA
13,0002 x300& 3,900
OAgI2+E At 555,000 102 A 5,550
O3 ZA 250,0003 * 122 A 3,000
OgAda 24 320
OglEel e=0tz 40,000 x8H 320
05 2ItRIE = 20,000 20,000 0
Ostdd 2e| 20,000,000 * 11 2 20,000
st et Xt 22l X3 4,500 4,332 168
= 2,250
& 2,250
301 LEtE N = 4,500 4,332 168
= 2,250




FA: EEHEAL
M HUEW
Rl ZEY 22NAHRF EER=E)
SN - ZB - C9(B) - MRAY - BES il &k e HlmS2
= 2,250
01 A BRA>HZ(SLEETH 4,500 4,332 168
OTHOLSHAIO! A7)
2,250,000 2% 4,500
= 2,250
& 2,250
GIoI= Y AdHEoe 57,248 63,720 NG, 472
| 28,624
= 8,587
Al 20,037
307 2I2+0l™ 57,248 63,720 NGB, 472
| 28,624
& 8,587
Al 20,037
01 =2 +P=H| 57,248 63,720 NB,AT2
OHIV/AIDS &2 51,648,000& 51,648
| 25,824
& 7,747
Al 18,077
OHIVEICEAI 2 S04 4,000,000& 4,000
| 2,000
& 600
Al 1,400
odmizgd d& 2 XI=X&
1,600,000& 1,600
| 800
& 240
Al 560
=t E SAA 3,895,480 4,088,912 A193,432
| 1,947,740
& 584,322
Al 1,363,418
307 QI2Hol ™ 3,895,480 4,088,912 A193,432
| 1,947,740
& 584,322
Al 1,363,418
01 9= PZH| 3,895,480 4,088,912 A193,432
Ol HEES 2,310,094,000& 2,310,094
| 1,155,047
= 346,514
Al 808,533
©B0IHE~12H OElol (o1& FAEM A
ZEEHM) IERARXL O
433,870,000& 433,870




SA: BHBAA
M HUEW
ol 2EYE 2A2MAFS EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
7l 216,935
=S 65,081
Al 151,854
O13MI 0120l AS AL} HBES
59, 186,000 59,186
Il 29,593
s 8,878
Al 20,715
OYUNR AZZUT} HYRE
20,258,000 20,258
Il 10,129
== 3,039
Al 7,090
OHV 1Xt S22t 8,388,000 8,388
Il 4,1%
== 1,258
Al 2,936
OHV DIESI 40,556,000 40,55
Il 20,278
== 6.083
Al 14,195
odol HEES 1,017,974,000& 1,017,974
Jl 508,987
s 152,696
Al 356,291
OB 2tE &2 M2 AL
5,154,000& 5,154
J| 2,577
== 773
Al 1,804
A2 ALS 71,104 56,892 14,212
Il 35,551
== 10,291
Al 25,262
201 2= 5,004 5,168 A114
Jl 2,521
= 758
Al 1,769
01 AtR2te|H] 5,004 5,168 A114
O8EZ2(2Els+ S 28) 5,054,000 5,054
Il 2,521
= 758
Al 1,769
202 04| 2,500 2,940 AN440




SN EHEAA
M HUEW
&Pl g 2l A= EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| 1,250
Al 1,250
01 =WO4bI 2,500 2,940 A440
oAadtH2e g2 ol 2,500,000& 2,500
| 1,250
Al 1,250
301 LPENF 1,000 1,000 0
| 500
& 150
Al 350
01 AISIBE XS (2 RETME) 1,000 1,000 0
oYY MY X2
1,000,000 *1H 1,000
| 500
& 150
Al 350
307 212+01™ 60,550 41,784 18,766
J| 30,274
& 9,083
Al 21,193
01 2¥ 7=l 60,550 41,784 18,766
Ogod =X J&d| 4,919,000 4,919
| 2,459
= 738
Al 1,722
OZHMET A Y WEH X2
8,179,000& 8,179
J| 4,089
= 1,227
Al 2,863
oYATAX LJAHl XA 894,000 8%
J| 447
= 134
Al 313
OZHNRAE T S FHYHS 2 L H=Z
a2t 2t 22,838,000 22,838
J| 11,419
T 3,426
Al 7,993
OZHABIIAMN & HESZHIXAIY S
11,794,000 11,7%
| 5,897
& 1,769
Al 4,128




SN EHEAA
M HUEW
Rl ZEY 22NAHRF EER=E)
SN - ZB - C9(B) - MRAY - BES il &k e HlmS2
OSENE AN B=ZHA 2
11,926,000 11,926
| 5,963
= 1,789
Al 4,174
308 RXIHMSOIH 2,000 6,000 24,000
| 1,000
= 300
Al 700
11 S 2SI E &R E A 2,000 6,000 24,000
OY A=A SHRE S
2,000,000& 2,000
| 1,000
& 300
Al 700
o|gJ|2t A Zte At 36,765 36, 149 616
| 36,765
307 gI2tol ™ 36,765 36,149 616
| 36,765
02 QIRHHAAIHE X 36,765 36,149 616
O2ZJ|2 ZHetkt 22X
36,765,000 x1H*1JH A& 36,765
| 36,765
olzaAUAY HEZAIMA 29 18,000 20,000 A2,000
| 18,000
307 QI2H0| M 18,000 20,000 22,000
| 18,000
05 QI2tREr S 18,000 20,000 22,000
OFHEA ol - 2teld|
9,000,000 *20H 2~ 18,000
| 18,000
olEAIEY H22AIMMH 29 (22I) 365 310 55
| 365
202 Ot 365 310 55
| 365
01 =WOdbI 365 310 55
oozt HE22Al 30|
365,000 365
| 365
MEBHH ==sUHERAF s L X2 3,400 0 3,400
| 1,700
& 1,700
201 B2 AL| 3,400 0 3,400
| 1,700




SN EHEAA
M HUEW
&Pl g 2l A= EER=E)
A - B G(3H) - NRAY - HES ol b e HlmS2
= 1,700
01 At 22|l 3,400 0 3,400
OM2H A il =& LBt=+=ZH|
3,400,000 3,400
| 1,700
& 1,700
DELH9 Ze|dJXISHl K& 114,800 112,254 2,546
= 57,400
= 57,400
307 212+01 A 114,800 112,254 2,546
= 57,400
= 57,400
01 224 +=H| 114,800 112,254 2,546
O©OZ2LH9 A2|LJA X =ZH|
114,800,000 114,800
= 57,400
& 57,400
DZLHY IYE S AAI(AIHE]) 1,649,716 4,482,842 A2,833,126
= 824,858
& 247,457
Al 577,401
307 QIZ2t01A 1,649,716 4,482,842 A2,833,126
= 824,858
& 247,457
Al 577,401
01 9 =2¥¢+=H| 1,649,716 4,482,842 A2,833,126
OIDZLH9 HIZES AltH|
1,649,716,000& 1,649,716
= 824,858
& 247,457
Al 577,401
ZEEUS 21,540 218,052 A196,512
201 B2 AY| 13,540 16,640 A3,100
01 At 2elt] 13,540 16,640 A3,100
CEETINE 4,240
OELELEETCCEEE)
1,000 *2Z*620H 1,240
OZHA3I|a7)| &3 & ZH
200,000 *5CH*13] 1,000
Oxgal ¢x o 2y
1,000,000 *22| 2,000
odgiigs 2% 9,300
Ot ¥ S5t 150,000& 2074 3,000
Oct X 10,0002 %1004 1,000




SA: BHBAA
L IETETE
Rl ZEY 22NAHRF EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oz 1,000 «500H 500
OBAES 200,000 * 122 2,400
OARES 200,000& * 128 2,400
307 212+01™ 8,000 201,412 A193,412
01 22X 2| 8,000 201,412 A193,412
odgraA 29 8,000
O23cd=eE 10,0003 »400f A 4,000
OHEHNLE YFdZLSH
5,0002 *400K 2,000
Ox~=E=ElF 10,0002 +200H 2,000
SIZFGAES 75 & HEEE =4 2,526,338 2,506,999 20,339
= 6,419
[ 36,621
Il 1,059,446
== 420,208
Al 1,003,644
gEAHL2CIAIE 75,500 107,861 A32,361
201 =3 3,500 3,500 0
01 AtR2t2lt] 3,500 3,500 0
O&g== 1,000 3,500 3,500
307 lztol & 72,000 72,000
01 22X+ &H| 72,000 72,000
OgEAL A 72,000
OAE & 223 (FLH S 1558)
20,0002 3,600 72,000
Al - 10T D18 o241 222 AL 73,242 0 73,242
[ 36,621
= 7,324
Al 29,297
201 fer= 3| 43,242 0 43,242
[ 21,621
= 4,324
Al 17,297
01 AtR2telHl 43,242 0 43,242
O8E « 2823 43,242,000 43,242
[ 21,621
= 4,324
Al 17,297
307 el2to| & 30,000 0 30,000
= 15,000
& 3,000
Al 12,000
01 22X+ &H| 30,000 0 30,000




SA: BHBAA
Zu: AAST
&©HRl: IBFHAUAE Fs Y HLEE =4 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O2A=EZAZE 30,000,000& 30,000
= 15,000
== 3,000
Al 12,000
SEXE KA (RHOH) (R EFALY) 10,555 10,555 0
= 6,861
Al 3,694
201 Ler=23 | 2,800 2,800 0
= 1,820
Al 980
01 AtR2te|HI 2,800 2,800 0
onty g2= 1,000& 2, 800H 2,800
=S 1,820
Al 980
307 212+01& 7,755 7,755 0
& 5,041
Al 2,714
01 22X &I 7,755 7,755 0
o%sE d a2E 7,755,000 7,755
= 5,041
Al 2,714
SIACX G E A SHIXZ 508,307 420,106 88,201
Il 254,153
= 76,246
Al 177,908
308 AXIHMSOIA 508,307 420,106 88,201
) 254,153
& 76,246
Al 177,908
1 SIS0t 4 EAS A 508,307 420,106 88,201
Os|HEeAt 22t 508,307,000 508,307
Jl 254,153
< 76,246
Al 177,908
SIAUXIGEEA I Z208 23 2,000 0 2,000
201 er23| 1,800 1,800
03 A=Y 1,800 1,800
OZAt £ TH=H] 900,000 *23] 1,800
301 EtE2 N = 200 200
11 #AIAMHIXIZ S 200 200
OCttEHI 100,000 %23 200
oA 2,000 54,000 /52,000




SA: BHBAA
Zu: AAST
&©HRl: IBFHAUAE Fs Y HLEE =4 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 2,000 34,000 A32,000
01 At2teltl 2,000 34,000 /32,000
oZAAY & TNy E2=
2,500 *800H 2,000
SEHEANE 29 148,932 144,811 4,121
307 @12to| & 148,932 144,811 4,121
10 Al SXAZEE 22X 148,932 144,811 4,121
OZAHEAIE 23|
148,932,000 * 14 2 148,932
HAALZXME 2L (KA 20,000 20,000 0
307 lztol & 20,000 20,000
05 2IIRIE =3 20,000 20,000
OXNY - JAALSEAIL
20,000,000& 20,000
A= AME =2 51,100 64,400 13,300
) 25,550
= 10,220
Al 16,330
307 elztol & 51,100 64,400 A13,300
Jl 25,550
[ 10,220
Al 15,330
05 2ItRIE =2 51,100 64,400 A13,300
OFAHI=XHEH 2
51,100,000 » 100 2 51,100
Jl 25,550
[ 10,220
Al 15,330
JAAL ST =S 599,040 508,816 90,224
Jl 299,520
< 119,808
Al 179,712
307 212+01& 599,040 508,816 90,224
Jl 299,520
=S 119,808
Al 179,712
05 git?(&= 599,040 508,816 90,224
OFAAL=THE ol2tstE
599,040,000 * 11 £ 599,040
Jl 299,520
=S 119,808
Al 179,712
SESELN =228 XA 38,000 38,000 0
< 9,500




SA: BHBAA
L IETETE
&©HRl: IBFHAUAE Fs Y HLEE =4 (EEEE))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 28,500
307 212+01™ 38,000 38,000 0
T 9,500
Al 28,500
05 2IZteEer g 38,000 38,000 0
OR2SEA Xlz2eldl Xd
38,000,000 *1IH A 38,000
= 9,500
Al 28,500
AHarIE Xk 82 XIzdl XA 36,000 36,000 0
& 8,322
Al 27,678
307 212+01™ 36,000 36,000 0
T 8,322
Al 27,678
05 2IZte e g 36,000 36,000 0
OXtaLIEX S=sHExI=H XA
36,000,000 *1IH 2 36,000
= 8,322
Al 27,678
KSAS Ao HERA 25 4,000 4,000 0
& 1,200
Al 2,800
307 212+01™ 4,000 4,000 0
T 1,200
Al 2,800
05 2IZteEe g 4,000 4,000 0
OXIGAt2] [taNY WERD 2=
4,000,000 x 10 2 4,000
= 1,200
Al 2,800
FAAL=XNME S SA HHMEH XA 21,600 16,800 4,800
& 6,480
Al 15,120
307 212+01™ 21,600 16,800 4,800
& 6,480
Al 15,120
05 QIZtRIEr S 21,600 16,800 4,800
OFAMAL=XNLEEH S SAHA M KIH&HI
X& 21,600,000 10 2 21,600
= 6,480
Al 15,120
SAEE XZHl KJAA 12,837 8,400 4,437
= 6,419




FA S8EHL
M HYEW
&©HRl: IBFHAUAE Fs Y HLEE =4 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 2,567
Al 3,851
307 lztol & 12,837 8,400 4,437
= 6,419
== 2,567
Al 3,851
05 2ItRIE = 12,837 8,400 4,437
OFeEe =4l N2 A
12,837,000 * 104 12,837
= 6,419
== 2,567
Al 3,851
FAALERNEEH A UIZAY K& 34,592 36,489 ABI7
Il 17,296
== 6,918
Al 10,378
307 212+01& 34,592 35,489 ABI7
Jl 17,29
= 6,918
Al 10,378
05 212+ =S 34,592 36,489 ABI7
OFAHLFAIHEH HAHZAIE X2
34,592,000 * 11 £ 34,592
Jl 17,296
= 6,918
Al 10,378
SEFUALSIAEY 213,300 215,000 A1,700
Jl 106,650
= 42,660
Al 63,990
307 gl2tol & 213,300 215,000 1,700
Il 106,650
= 42,660
Al 63,990
05 2I2tRIE S 213,300 215,000 1,700
OSSIAALSIAI
213,300,000 * 100 £ 213,300
) 106,650
= 42,660
Al 63,990
At 2= AAE MHIA XZAH 44,500 0 44,500
Il 22,250
= 8,900
Al 13,350




SN EHEAA
L IETETE
&©HRl: IBFHAUAE Fs Y HLEE =4 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 44,500 0 44,500
Jl 22,250
== 8,900
Al 13,350
05 2I2t9IEr2 44,500 0 44,500
ONASE AAE AHIA KB
44,500,000 * 104 2= 44,500
Il 22,250
== 8,900
Al 13,350
XIOHet MIE 2SR 414,734 605,562 190,828
Il 331,787
== 16,589
Al 66,358
101 e/24d| 27,891 4,951 22,940
Jl 22,312
= 1,116
Al 4,463
04 JIZtN2Z2 XS 27,891 4,951 22,940
OXIH2IAIE D122 2 At 27,891
OelAt| 87, 7203 x 1262« 11E 25,088
7l 20,070
= 1,004
Al 4,014
O4ES JI2RE=23 2,803,000& 2,803
Il 2,242
= 12
Al 449
201 =3 279,443 391,586 A112,143
Jl 223,555
= 1,177
Al 44,711
01 AtR2t2lHl 183,303 297,386 114,083
OEgE2AAN =& 1,372,000 x1& 128 16,464
Il 13,171
= 659
Al 2,634
OBS=A A2ZAF EOAM =8
100,000& * 124 100
l 80
S 4
Al 16
03e B4 =& 1,400




SN EHEAA
ma: AUEZ
&©HRl: IBFHAUAE Fs Y HLEE =4 CEEREE
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S EEEENEEE S
100,000& x2& #53] 1,000
Jl 800
[ 40
Al 160
OXINZZR AN Alelislel &al 4
100,000 x4 400
) 320
< 16
Al 64
oul=H| 90,0003 *21 1,890
) 1,512
S 75
Al 303
Od2=+I| 2eldl 33,0002 +3CH* 12 1,188
Jl 951
== 47
Al 190
OFLES =2
1,093,000 x1&* 12 13,116
) 10,493
S 525
Al 2,008
ORIt A0 Sz
90,0003 x 12 1,080
) 864
= 43
Al 173
oxtg gz 770,000& 102 7,700
Jl 6,160
< 308
Al 1,232
OXIHRFAHIE At 2SI 128,365
OXSE2l & ZIIBEAE
4,365,000 4,365
Jl 3,492
= 174
Al 699
OXIOHIADN S & M2 At
20,000,000 20,000
Jl 16,000
= 800
Al 3,200
OXlofetaiots 24 10,000,000& 10,000
7l 8,000




SA: BHBAA
L IETETE
Rl Y2FHOAS A2 H AYEE X4 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 400
Al 1,600
OXIOettEE & OFEEAEA
10,000,000 10,000
) 8,000
S 400
Al 1,600
OXIofetaie] 20 2 82
84,000,000 84,000
Jl 67,200
= 3,360
Al 13,440
OXIHtAHIE! 24|
1,000,000« 128 12,000
Il 9,600
== 480
Al 1,920
02 S3=gHl 36,140 44,200 28,060
OXIHQtAMIE RERS S
34,150,000 34,150
Jl 27,320
= 1,366
Al 5,464
oW & eIHA 2= 45,0003 122 540
Jl 432
&< 22
Al 86
OXIHtAHIE XtE =X
125,000 10 1,250
7l 1,000
S 50
Al 200
O=aQ 2= 100,0002 x2&H 200
Jl 160
S 8
Al 2
03 A= 60,000 50,000 10,000
ous, Z2d % BH =24
40,000,000 40,000
7l 32,000
= 1,600
Al 6,400
OXIofetaintS 249 20,000,000 20,000
Jl 16,000
= 800




FA S8EHL
M HYEW
&©HRl: IBFHAUAE Fs Y HLEE =4 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 3,200
202 04| 25,200 25,200 0
Jl 20,160
= 1,008
Al 4,032
01 2L AL 25,200 25,200 0
OXINY R EZ0iH)
100,000 x21H =122 25,200
Il 20,160
= 1,008
Al 4,032
301 EetE2 NS 10,000 11,200 1,200
Il 8,000
= 400
Al 1,600
11 #AIAMHIXIZ S 10,000 10,000 0
OmE, TR Y AH 2% S
8,000,000 8,000
Il 6,400
= 320
Al 1,280
OXlifeteits 29 2,000,000& 2,000
Il 1,600
== 80
Al 320
307 gl2to| & 72,200 127,200 /55,000
Jl 57,760
= 2,888
Al 11,552
01 22X+ &H| 71,900 127,200 55,300
OXIOfEtAt AUES X2
35,0002 «70H*12& 29,400
) 23,520
= 1,176
Al 4,704
OoAE L =28 A2E
20,000,000 20,000
Il 16,000
= 800
Al 3,200
OXIHZEI | BE H LA A
150,000 150 22,500
Il 18,000
= 900




SA: BHBAA
Zu: AAST
&©HRl: IBFHAUAE Fs Y HLEE =4 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 3,600
06 28= 300 0 300
oZzY FUI 283 300,000& 300
Jl 240
= 12
Al 48
XIOHXIZ2eldl(2FAIH]) R (HEALY) 121,463 121,463 0
< 78,951
Al 42,512
308 XtXIEMSO0IH 121,463 121,463 0
< 78,951
Al 42,512
11 SIS0t 4 A AS A 121,463 121,463 0
OXIOXI =2l 121,463,000 121,463
= 78,951
Al 42,512
Aol S3=2A K& 2,800 2,900 A100
Jl 2,240
= 12
Al 448
201 Zet=Ehl 400 500 2100
) 320
< 16
Al 64
01 AlR2telHl 400 500 2100
oy EXt HIZ S 400,000+ 1 400
Jl 320
S 16
Al 64
301 EtE NS 2,400 2,400 0
Jl 1,920
< %
Al 384
14 JIEt2d = 2,400 2,400 0
o3s=d0 ESX2|
200,000& x1H~12& 2,400
Il 1,920
== %
Al 384
XA S SHE XA 81,836 81,836 0
= 15,550
Al 66,286
301 EtE N = 81,836 0 81,836




SN EHEAA
Zu: AAST
&©HRl: IBFHAUAE Fs Y HLEE =4 (EEEE))
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
= 15,550
Al 66,286
03 MBI B & 6I2(RILTHE) 81,836 0 81,836
OXIOHEtK SSHEX& 81,836,000 81,836
& 15,550
Al 66,286
XIOHOIADHMA X (X HEZZ2 I 299) 10,000 10,000 0
T 2,000
Al 8,000
201 B2 AY| 3,500 3,500 0
& 700
Al 2,800
01 ArR222lt| 3,500 3,500 0
OXMEEZZH S22 & USIE S
3,500,000& 3,500
& 700
Al 2,800
301 LEtBEF 6,500 6,500 0
= 1,300
Al 5,200
11 HAIAHIXI A2 200 200 0
OLIXIME T2 29 200,000& 200
= 40
Al 160
14 JIEt2 43 6,300 6,300 0
©J124X1210| E=sXI&Y| 6,300,000& 6,300
& 1,260
Al 5,040
240 Ots2l AL At 7S 1,670,308 1,540,724 129,584
= 192,875
| 61,310
= 932,169
Al 483,954
SAEHA 22,500 9,500 13,000
201 L2 | 22,500 9,500 13,000
01 AtR222lt| 22,500 9,500 13,000
ORXNEAANY EEEE ME & 2 22,500
OYMNEXNSUHEXN S EZX HE
1,500&*25+1,5004 4,500
OZXE2AHAY E2EF F2
3,000 x45+1,5004 18,000
HAEME IS4 O|ZH] XI& 4,050 4,000 50
| 2,025




FA S8EHL
M HUEW
CHol: DA} 0FS 2l HAUAIE PE (Srol: 22)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
< 1,013
Al 1,012
308 XXM SOIA 4,050 4,000 50
Jl 2,025
== 1,013
Al 1,012
11 S [2S0 e YA AS A 4,050 4,000 50
OHAEMD AMBN ORHIXIY
4,050,000 4,050
Il 2,025
== 1,013
Al 1,012
AR AIHOF A2 2] XA (HEALY) 818,460 911,232 N2, 772
= 572,922
Al 245,538
308 AHXIEMSOIH 818,460 911,232 ANG2,772
= 572,922
Al 245,538
1 SIS0t HAS A 818,460 911,232 N2, TT2
OXZ YO AZ2te| K&
818,460,000& 818,460
s 572,922
Al 245,538
gkt ALHE oY S 2| 1,888 1,887 1
Jl 1,510
s 113
Al 265
201 et 3| 1,888 1,887 1
7l 1,510
= 113
Al 265
01 AtR2t2|HI 1,888 1,887 1
OArE S=2HI 1,888,000& 1,888
Il 1,510
= 13
Al 265
=0 A2 FA 3,122 4,116 aNere:
Il 2,498
= 187
Al 437
308 AXIHMSOIA 3,122 4,116 N9%4
) 2,498
& 187




SN EHEAA
B A=A
Cel: @41 01E2l A2 AIETE (SHol: )
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 437
11 BI2SHEHE A ELAE AL 3,122 4,116 2994
OZ =0 Z&H| 3,122,000& 3,122
| 2,498
& 187
Al 437
R0t Y0 HUZAHl K& 5,050 5,050 0
| 4,040
& 303
Al 707
307 212+01™ 5,050 5,050 0
J| 4,040
= 303
Al 707
01 24P =H| 5,050 5,050 0
OgGR0t LEE YA A
5,050,000& 5,050
J| 4,040
= 303
Al 707
SAEAE HAOIAZ AL 2 2ot 28,840 24,136 4,704
| 14,420
= 7,210
Al 7,210
307 212+01 A 28,840 24,136 4,704
| 14,420
& 7,210
Al 7,210
01 =¥ 37=H| 28,840 24,136 4,704
OKNES CHAIOIATZ A & EHot2telt]
28,840,000& 28,840
| 14,420
T 7,210
Al 7,210
MY HEAA Y BED| KA 1,625 1,000 625
| 813
T 406
Al 406
307 2Iz2+0l™ 1,625 1,000 625
| 813
& 406
Al 406
01 224+ =l 1,625 1,000 625




SN EHEAA
Zu: AAST
ol DAD OISQ ALAIEPE (12l M2
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OZAHl & B&I| XA 1,625,000& 1,625
| 813
T 406
Al 406
Ol=0t & AdFS0|&H0F 2 ZH| 28,200 39,000 10,800
| 14,100
T 7,050
Al 7,050
307 QIZ2t01 A 28,200 39,000 210,800
| 14,100
T 7,050
Al 7,050
01 2 2¥+=H| 28,200 39,000 A10,800
OO0I=0t & A& H0IA0F 2=
28,200,000 28,200
| 14,100
& 7,050
Al 7,050
SAEHAIY EX01E| 16,434 14,800 1,634
| 7,390
& 3,69
Al 5,349
101 2124t 16,434 14,800 1,634
| 7,390
& 3,69
Al 5,349
M I1RIMZ2Z2XsEs 16,434 14,800 1,634
OB XEAHAIE EX012Y| 16,434
Ol 14,780,000&*1H 14,780
| 7,390
& 3,69
Al 3,695
O4UEE J|122g= 1,654
-H2EE 14,780,000 *3.495% 517
AT E 517,000& *12.27% 64
=03 14,780,000 *4. 5% 666
-IEEE 14,780,000 *1.75% 259
MHEE 14,780,000& * 1% 148
HESXNEASE 829 1,718 889
| 414
T 207
Al 208
308 AXISHMSOIA 829 1,718 A\889




FA S8EHL
M HUEW
CHol: DA} 0FS 2l HAUAIE PE (Srol: 22)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
Il 414
=S 207
Al 208
1 S 2SI U ZBSHASAIE 829 1,718 A889
OEERXNEAHF 829,000& 829
Jl 414
= 207
Al 208
YRS (HEAY) 314,100 212,550 101,550
== 235,575
Al 78,525
307 212+01& 314,100 212,550 101,550
< 235,575
Al 78,525
01 22X &S| 314,100 212,550 101,550
AR Al=Hl K& 314,100,000 314,100
= 235,575
Al 78,525
HYRE LI SHIXNHAIE 11,260 11,260
201 fet= 3| 900 900
01 AtR2tc|HI 900 900
OZE2= HH 2,000 *450H 900
307 212+01& 10,360 10,360
01 22X 2| 10,360 10,360
OHYRE stLX=H| X2
1,036,000& 10 10,360
VRSN 2 =H| X 28,200 26,000 2,200
Il 14,100
< 7,050
Al 7,050
307 lztol & 28,200 26,000 2,200
Il 14,100
== 7,050
Al 7,050
01 22X TS| 28,200 26,000 2,200
OIS UME 22| X2
28,200,000 28,200
Il 14,100
== 7,050
Al 7,050
NASS JIMAH ZHESR XA 385,750 274,475 111,275
= 192,875
s 96,438




FA S8EHL
M HUEW
CHol: DA} 0FS 2l HAUAIE PE (Srol: 22)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 96,437
308 AtXIEHMSOIE 385,750 274,475 11,275
= 192,875
= 96,438
Al 96,437
1 SIS0t EAS A 385,750 274,475 111,275
ONASE JIMA, ZMER N2
385,750,000 385,750
= 192,875
= 96,438
Al 96,437
ojeftel 13,880 22,070 8,190
) 1,400
= 600
Al 11,880
sSs2= 7,380 12,420 A5,040
201 Ler23| 6,900 11,940 25,040
01 At2teltl 5,850 10,890 A5,040
dH M= 4EUSE 2Y 5,850
OdHAd=s u= 223
5002 *2,500H 1,250
OdHads s 2=
2,000 <950 H 1,900
Onsg ZHl A2F(HE S)
90,0002 *30H 2,700
03 A= 1,050 1,080 0
OM43l E=Al 44 dHAds JHUE 1,050
OtlAt=E 200,000 *3& 600
OB M2 50,0002 1H 50
OZ2U=1E 0Ll THH
200,000 *2CH 400
301 EetE NS 480 480
11 #AIAHIXIE S 480 480
ORM43l E=Al 344 dHAds JHUE 480
OCH+EH| 8,000 ~60& 480
o=ll2 5 N=&8d 1,900 2,450 2550
201 er23| 1,900 2,450 2550
01 At2teltl 1,900 2,450 A550
ONIACIS & A E2=
950 +2,000H 1,900
AL ASUSE 2SN 2,000 2,000 0
Il 1,400
= 600
307 212+01™ 2,000 2,000 0




SA: BHBAA
M HYEW
el Slerae EERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 1,400
=S 600
01 22X S| 2,000 2,000 0
O =EIE= IS 2,000, 0002 *1SET 2,000
Jl 1,400
S 600
224 HS4ES3)| uH 2,600 2,600
405 AtatE = 2,600 2,600
01 TR ESFSHI 2,600 2,600
(OINE=roEse-—Rap) 2,600,000 *1CH 2,600
HY2AIH(EEE2A L) 2,372,042 2,363,246 8,79%
= 73,400
Jl 465,662
= 65,687
Al 1,767,293
el 2| 2,152,918 2,124,394 28,524
[ 73,400
Jl 465,662
[ 65,687
Al 1,548,169
el 1,069,137 1,129,411 AN\60,274
101 @124H| 1,069,137 1,129,411 A\60,274
01 &= 224,381 283,876 AB9,495
oggry 224,381
Oox=22=g
11,1303 x56E *30A| 2+ 123 224,381
02 JIEtME = 98,432 102,329 23,897
OZ eI 3,468
Ozxl=2e=+<
14,446 x 1 +20A1 2t 122 3,468
o¥ag 2,182
Oxz=22=¢ 2,182
-3 12, 91+ 1BAI2H 123 2,182
OSSEAHA R,782
Oofgae=g 40,0002 62+ 123 2,880
Otlzgsdd=s 86,400
-2 1t 1,350,000 x4H 122 64,800
-8t ot XI 1t 900,000 x2&+12& 21,600
Ozxu=z2e=g 3,502
-t 13,3692 x4 *4A| 2t 123 2,567
-S4 9,736 =2H*4A 2123 935
03 SRA(RIH )22+ 746,324 743,206 3,118
O3%A 746,324




SA: BHBAA
M BMAH|(EBAL)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OJl=s(2e32A) 309,563
-0s3 3,667,9203 1 +12& 44,016
255 3,332,570 «2F 128 79,982
1SS 2,493,250« 1& 128 29,919
6= 2,437,310 x2E 12 58,497
25 (OI2 165 E)
2,996,880 x1H 122 35,963
-S8FZA(IS8EE)
2,549,410 2F 122 61,186
OJ&E=g 20,640
-8B X 40,0002 x18F 122 8,640
=5 20,0002 x3& 122 720
e PNE 20,0002 x11& 128 2,640
—=M XA 60,000 7 * 122 5,040
- AHA 100,000 x3& * 122 3,600
O2s+8 1,048,797,000& 5% 52,440
Od=¢g 50,0002 x33H *12& 19,800
O%g+d 50,0002 #33E « 128 19,800
OHIN2R4Y
8,00021%124x 102122 90
OxBISAY
18,9602 x33Z 1542+ 123 112,623
OF A S A 140,000 «33E 122 55,440
OEZE=It| 88,317,320 »50%*22] 88,318
OS2 4| 101, 1203 +33E «20! 66,740
a0l 165,869 188,407 N22,538
04 HASRE2SS 165,869 162,007 3,862
04 22X (DI 22N PHELLYS S 165,869 39,118 126,751
OBRH(RIAL)2EX 2 J|2=2
g= 1,484,414,6002 4. 5% 66,799
OSRA(RINHA)2Z2 X SAHLEE D
= = 58,247
(@Faki-—ts: 1,484,414,6002 %3.495% 51,881
OFIIRAEE 51,881,000& *12.27% 6,366
OSRA(RINH)2Z2X NELE J&R
g= 1,484,414,600& %1.75% 25,978
OZRA(RINAH)22 X MATHEE =
1,484,414,6002 * 1% 14,845
ANZ 20 LA (EX) 73,592 72,360 1,232
Jl 36,796
Al 36,796
101 @124H| 71,439 70,312 1,127
) 35,720
Al 35,719




SA: BHBAA
. HY2IHH(EG22AHL)
s lIEE2ghl EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
02 JIEtA S 36,054 33,611 2,443
OAIZMIEHIAIIH SR JI22
1,992,500& =123 23,910
| 11,955
Al 11,955
OAIRMHERIYIIR T2 HUN0IB
3,398,500& 3,39
| 1,69
Al 1,700
ORI E=E = 1,680
O/ EIN; 40,0002 *12& 480
J| 240
Al 240
O&tl5 20,0002+ 128 240
| 120
Al 120
OFM XA 20,0002 x 128 240
| 120
Al 120
OEM A 60,0002 122 720
| 360
Al 360
OAIZI2I22+Y
9,620 x 1H+20A| 2t 123 2,309
| 1,155
Al 1,154
otss+4Y 43,7502+ 1H 128 525
J| 263
Al 262
OEARE 95,6403 x1H 123 1,148
| 574
Al 574
O&FMUZ Al 140,000 x1H* 123 1,680
| 840
Al 840
O4UEE J|2ARE= 1,403
OAHZEEZ 35,708,160 *3.495% 1,249
| 624
Al 625
OFIIRUYSE 1,249,000 *12.27% 154
| 77
Al 7
03 SRH(RINHS) 22X 2+ 35,385 36,701 A1,316
OZHME2IS AL 35,385




SN EHEAA
B #E2AAY|(ELPAL)
Crel: ol et (ol @)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Oelzi| 35,385,000 1Y 35,385
| 17,693
Al 17,692
204 MR AY| 2,153 2,048 105
| 1,076
Al 1,077
2 AZE2x| 1,628 1,523 105
OAIZHIEHI IR (924 )
155,000 x1H*35/40A1 2+« 128 1,628
| 814
Al 814
03 EEg=Z| 525 525 0
OANZIHAERHIADIN CHele s (SSE+8
=) 50,0002 *1H+35/40A1 2++12& 525
| 262
Al 263
XIOHetMHIE 2HXR(Ex) 267,020 232,212 34,808
| 213,616
& 10,681
Al 42,723
101 2124t 251,952 217,879 34,073
| 201,562
& 10,078
Al 40,312
02 JIEt& 2 251,952 217,879 34,073
OAZHEEHAIIN SR JI =
2,145,080& x7F 122 180, 187
| 144,150
& 7,207
Al 28,830
OHIANHZ(7H) 18,695,000& 18,695
| 14,956
& 748
Al 2,991
o= 29,090
OiE= 5,760
i SN 40,0003 x5F x12& 2,400
| 1,920
T %
Al 384
S DNIE 20,0003 x2H 123 480
| 384
T 19
Al 77




SN EHEAA
M HEHSHA|(EHPAL)
ool olzegy| &)
SA - B ORI(B1) - HIRAY - BES A
-SMXHA 60,0003 =2+ 12& 1,440
| 1,152
T 57
Al 231
oW DNIE 100,000 x1H* 123 1,200
| 960
T 48
Al 192
-=HI% 20,0003 12123 240
| 192
& 10
Al 38
ONEIEEEER
9, 160 *7G+20Al 2t 123 15,389
| 12,311
= 616
Al 2,462
OE2RE 94,5302 x7E« 123 7,941
| 6,353
T 318
Al 1,270
OAHIIE 4| 7,380 7H+77 A2t 3,978
| 3,182
& 159
Al 637
OFAHZ A 140,000&+7Hx 122 11,760
| 9,408
& 470
Al 1,882
O4UEE J|12ARE S 8,242
OHLEES 210,038,640 *3.495% 7,341
| 5,873
= 294
Al 1,174
O&IIRYEEZ 7,341,000 %12.27% 901
| 721
= 36
Al 144
204 AR AY| 15,068 14,333 735
| 12,054
= 603
Al 2,41
02 AZExH] 11,393 10,658 735




FAN: S8EAL
Hu: #HESAAY|(SHPAL)
s lIEE2ghl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OALEEHHMAIIHM (92 2 )
155,000 8 72 x35/40A1 24+ 12 11,393
Jl 9,114
< 456
Al 1,823
03 S F3H 3,675 3,675 0
OAIZIIHHLIIA Y BSH (ZET 48
=) 50,0002 «7 & x35/40A1 2+ 122 3,675
) 2,940
& 147
Al 588
XHALE] SEHYBEAIL(EX) 273,540 236,340 37,200
) 136,770
< 27,3%
Al 109,416
101 @124H| 273,540 236,340 37,200
Jl 136,770
== 27,354
Al 109,416
03 SRA(RIH )22 U2+ 273,540 236,340 37,200
OSSHLSIUAMY HEH 273,540
OTSBOIZ 0121H]
2,150,000 x10E*12& 258,000
Jl 129,000
< 25,800
Al 103,200
Od=Eog elAd(aLlgztae olgael)
2,150,000 «1E6& 12,900
) 6,450
& 1,290
Al 5,160
Od=228 W=H| 240,000+ 11 2,640
) 1,320
& 264
Al 1,056
XAtEI S 4 SHRAMEIA(ER) 129,720 123,720 6.000
) 64,860
= 12,972
Al 51,888
101 @124H| 129,720 123,720 6,000
Jl 64,860
== 12,972
Al 51,888
03 SRA(FIH )22 U2+ 129,720 123,720 6,000
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SA: BHBAA
Hu: HESAAY|(SHPAL)
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OQJ12dR+A2S3HI(0IE3Y)
500, 000268 34,000
O328I(0I1EZY)
8,000 «68%H x82 12 52,224
OB (RI|H 22X T=y|
90,0002 +33& 2,970
02 S5=g4l 19,640 19,640 0
oRERs 19,640
oggt 40023*1,8005+12& 8,640
=P 2,5003 2205+ 128 6,600
O E(AEESF) 5503+8,000& 4,400
202 04l 97,200 112,000 14,800
01 2LHoIH 66,000 78,400 A12,400
Ozl 20,0002 x55Z 52« 12 66,000
02 A0 31,200 33,600 2,400
Ool%ReA EE 22
200,0003 x4 *122 9,600
OS8XS g22H =X
200,000 0« 122 21,600
203 HR=H] 13,090 14,260 AT1,170
02 FRItAA =AY 4,030 4,420 A3
OFAINAALETY) 4,030
O100¢! Olst 40,0002 +100& 4,000
010091 =1t 30,0002 1 30
M EASHLRFAH 9,060 9,840 AT80
OR NSRRI 9,060
o=aAaA 9,060
-30@! Olat 400,000 12& 4,800
-3091 =1t 5,0003+71&x 122 4,260




E 0 & AHE E A A

20233 & 20lah LB AYEAH AHN ~ HASBHD
HAPAHL
A=z
SAHAZ AL = EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
ABAHLA 12,825,756 15,010,342 A2,184,586
= 908,831
= 137,252
| 3,458,416
= 2,308,403
Al 6,012,8%4
B 10,728,060 12,990,79% N2,262,735
= 908,831
iy 63,852
| 3,004,323
& 2,243,108
Al 4,507,946
A2 Z A& RS 963,581 876,570 ®,01
Fay 27,231
T 17,261
Al 924,089
S MHIA 25 131,871 130,163 1,708
101 2124 d| 110,127 109,947 180
M IIRINZ2Z2XsEs 110,127 109,947 180
O 2| At 110,127
Oelz| 290,000 18 +x262 122 90,480
@ZIN 1= == 10,157
=013 90,880,000 *4.5% 4,090
2HLEE 90,880,000 x3.495% 3,177
AL E 3,177,000 *12.27% 390
-IEEE 90,830,000&*1.75% 1,591
—ATHEE 90,880,000 * 1% 909
OYGE It 200,000 1Y +23] 400
O=XEQIE 300,000 *1H %13 300
O&&= 290,000 *30! 8,700
OLl=t| 90,000 x1H*13] 0
201 Ler23| 4,34 3,816 538
01 AtR2elt] 4,354 3,816 538
ORIA KA Q14| 810
O2LHbIRE 80&*2,000% 160
OXsISAIRA 4403 «1,00052 440
OXsSTHEL LA 160&*1,0005 160
OAHBAHZ NN 2= AMEAN
502 *1,000% 50
OXIZEIIE EF 2 38,0002+ 12& 456
Ox =&tk 2ALE AblA
7,700+ 128 3
Oo=2clXz4, A 29 475




2A:

Hu: AUEA
©l: BAHAZAILI|BHSE CEEREE
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
ONEEXeE MMl S
95,0003 *33| 285
OHENIEHI 190,000& *13] 190
o1ul=tl 2,220
O2LI A 90,0002 x6H*12| 540
Opll 9 ARA
90,0003 *16H*13] 1,440
OFaZZ 120,000& *1H*23] 240
OMUBES s2I)
100,000&*3F * 13| 300
202 0idl 6,000 6,000
01 =WHO4bI 6,000 6,000
CEEEREISIET
20,0002 x5F+5U « 12& 6,000
203 YR =&IH| 3,000 3,000
03 A FAIH R FAIH| 3,000 3,000
O2AHANH JRFA 3,000,000& 3,000
307 2I2+0l™ 7,400 7,400
01 =¥ 7=H| 7,400 7,400
oxlgs 299 3,200
OB5MI01 & =ol2k Xt <k rIbl X
1,000& 2,000 2,000
o= 600,000& 600
OLBE 600,000& 600
ostr = A 29 3,000
O%= 2,200,000& 2,200
OABE 800,000& 800
o=z 29 1,200
O%E 840,000& 840
OX2E 360,000& 360
405 KHFSH| 990 990
01 ML =ZFSHI 990 990
OFHHRLIE 990,000 *1CH 990
SAHALARY 462,252 357,454 104,798
101 2124 d| 57,245 62,649 Ab,404
M IIZINZ2Z2 NS Es 57,245 62,649 AB,404
OT ALY H2A 15,528
(@)eiFal:] 87,7203 1B +x26 A +6H 13,685
O4UHEE JI2RE= 1,553
=03 13,885,000 *4. 5% 625
-H2AEE 13,885,000 *3.495% 486
AL E 486,000&%12.27% 60
-1E8E 13,885,000& *1.75% 243




2A:
X XH -
o e

=aak

SAQAZAIEIERF

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
~SHEE 13,885,000 * 1% 139
OE &=l 200,000 x1H*13] 200
oul=tl 90,0003 *1&+13] D
OF A2 AR (ZFEZ 4,717
@)ulal:] 2,271,6108 18123 27,260
O4i2E JI2RY= 3,185
-=2d=s 28,479,0002 *4. 5% 1,282
222 28,479,000 *3.495% 9%
-HIIRLES 996,000 *12.27% 123
-1ELE 28,479,000 *1.75% 49
—SHHEE 28,479,000& * 1% 285
Og &S Itd| 609,480% x12H*23] 1,219
O=ArelE 80,0003 x1&» 122 960
O&l &= 9,093,000 9,083
201 Ler23| 265,307 264,805 502
01 At2teltl 80,576 78,343 2,233
OURANTE ZelHEH 3,520
ouzrd 2,200
-t 220,000 x25+23] 880
-Seeadl 330,000 x45+13] 1,320
Otlzd 220,000 x15+23] 440
O2lefate| st 220,0002 *45*13] 880
OZEAMNFE SAIEX 525
o 21,0003 158 A 315
Otlza 21,0003 x5 A 105
O2lerate| 2151t 21,0002 +58 A 105
oI ZHIESZ 5,108
OSEM=&E 14,5002 x3&5+ 122 522
Os=E= 28,5003 x3H A« 122 1,026
OtE Xl 40,0002 x22t A% 123 960
OAdE A=Al S
100,000& *265 2,600
OFAI2e| HAES 150,000 *22] 300
Od2+I| 2eld| 6,156
(OL-FaE 30,0002 +6CH* 12 2,160
(@L=FaPNEN 34,0002 +3 A+ 122 1,224
(@)-FaFSi=tn 33,0003 *7H A+ 128 2,772
O3JI1EEI| 2ell
43,0003 <1404~ 12 7,224
OLZESINSH tet =2 56,143
OfeFHIES 13,626
-Ea(22) 160,000& * 101 A+ 122 1,920




SN BERAL
Bo: AU
Bl BAAZ AL B TR (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
~SBAL(XI0H A HIES)
40,0002 %174 %122 480
AT A 110, 0002374 £+ 122 3,960
—BARRA 86,5001 %7} 2+ 122 7,266
OB2INFIIAA 448
96,0002 13| «2LH 90
OBIIEBE| He+4+E
135, 0002 +2CH 122 3,240
OFIIEBIE| (442 9,412
224 5775002+ 10l 4 1228 6,930
BRI L 103, 40024 x4 2% 122 2,482
OAYAIE BEOY 48 4,320
AL (KA ME, BRAABHE
2g) 360,002 1 2+ 122 4,320
OAgoIEBRIN DESEY)
200,0002%12 200
OBt R2IAE BRI8+4+8 7,920
-Z8 M4 Yo ATEL
220,0002+37H A 1224 7,920
OLNGMBAIE FIIZA +42
53,0002!13] 53
ORI FALY 248
440,00021+53] 2,200
OHDIZ M2l +42 14,982
2 HHIE Hel 9,900
CEIPS 495, 000217 2+ 122 5,940
CEID(ES 33,0002 +30H A 122 1,188
SAAZA 33,0002 #7 I A #1228 2,172
S B 84721 +5002 4+ 1 2+ 122 5,082
0285 Mol 448 500,0002423] 1,000
OESE AWt 248
300, 00024 %27H £:+13] 600
02 BB 184,731 186,462 A1,731
OFAMRAZRAII 20,583
O=212 (108015 2,48124x4,922 2,212
O2X£ 3,532
~10E1015H(=01) 2,48124+308 988
~15L4015H( L) 3,200 x343 1,108
~30L0I5H 2) 5,02021%286 1,436
O=ATSA 4,839
~15E1015H(R2l) 3,2802L 187 605
-20H1015H (44, 245, X3
3,8615502m 1,939
-25L1015H (Ot B2l 22 %)
4,305 4522 2,205




2A:

B AYEX
Gl EHAZAILD|B RS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0=52= # HAl 75,624
OFSPIEei=) 2,900,000& *12& 34,800
Ogolr=ER= 600,000& * 122 7,200
OPJES T =] 2,750,000 128 33,000
ORugsH S 30,0002 * 12 360
Ooulga || 23
22,0003~ 122 264
o8z S 9,840
Oxg2ez ¥ USXHAl
600,000& »15CH 9,000
OMSAIZEX BlaMyES
210,000& %13 210
OIIAAR DB BMYEE
30,0002 %12 30
OAZAHSRE HEEZSES
600,000 %12 600
OXt& = All 43,200
Odxt 2,700,000 *3CH 8,100
OsEsxt 4,900,000 *3CH 14,700
Osgxt 6,500,000 ~2CH 13,000
O3t=xt 4,300,000 = 1CH 4,300
O=gxt 3,100,000 *1CH 3,100
ONZHI(SE2 2HAH)
1,3442 5002 | E1+32 2,016
OM==Z2elt 2,080
ONMz=Z 4 990,000& 22 1,980
OM=a=% =8 Meg
100,0002 %12 100
OAIE2&H| |XIH| 23,788
Odted| |AI2=H| 11,408
—IHAAN(GHP) D |
1,914,400 +50H 9,572
&I A (EHP) )| 200,000 2CH 400
m1= k! 16,5002 87CH 1,436
224 0V RAIE4=H
665,000 * 122 7,980
OAI2 &l FAI2=H]
400,000 * 1100 2 4,400
O2I=2&Hl || 6,000,000 6,000
OuNEREREYS 1,600,000& 1,600
401 Al HIZL S 0HYI 134,200 30,000 104,200
01 Al&HI 134,200 30,000 104,200
OxZ A& 2| 5,700,000& 5,700
OXBIFIE & S-S AE
90,000,000& 90,000




2A:

Hu: AUEA
ol BAOZAIED|BHSF (CHol: &S1)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
OBFUAAME A2 ol2g
19,500,000& 19,500
OE&S WNBA 19,000,000 19,000
405 XHotE S| 5,500 5,500
01 ML =S FSHI 5,500 5,500
(OFSPNEIND) 5,500,000& *1CH 5,500
SHXNL2Z 134,400 132,060 2,340
201 Let2| 29,400 29,460 AB0
01 ArR2eltl 3,780 3,660 120
oAe8E S 7Y
190,000 *3IH A +23] 1,140
OXZ2IHEH 220,000 x2Z+3H 22+23] 2,640
02 23244l 25,620 25,800 A180
02322 ¥ MAl 25,620
odIe2 1,000,000& *20H 2+ 123 24,000
Odot=ER3 30,0003 *30 A+ 12 1,080
O Fal-11= 15,0002 *301 2+ 123 540
307 gI2tol ™ 105,000 102,600 2,400
01 9 2¥+=H| 105,000 102,600 2,400
Ol 2,500
OuZ (e, stet) 2,000,000& 2,000
OA2ZE (e, 5t 500,000& 500
@)k 2,500
OS (e, &) 2,000,000& 2,000
OAR2E (L8, &) 500,000& 500
O=0l(/%ZH0I2AXI) 100,000
O%Z (e, st 99,000,000 99,000
OA2Z (e, &g 1,000,000 1,000
BAHIZARY 156,835 167,100 A 10,265
201 L2 | 59,260 59,120 140
01 At 22|l 12,320 12,180 140
OAREE & ¥
190,000& 7 2%22] 2,660
OXZ2IHEH 220,000 x2S 7 2+13] 3,080
os=EEHAzA HIIE: S5
100,000 *7JH 2~ 700
oA=L 2AYEOS AM&dH
30,000& *14E »7 I 2 +23] 5,880
02 2324l 38,890 38,890 0
o0zE2=2 % HAl 36,540
OoMIIRZ 400,000 74 A+ 128 33,600
Oiot=ER3 25,0003 x7 I L+ 123 2,100
OReYs=z 10,0002 70 2+ 123 840




2N BALAA
M AUSZ

el ES;%AIQNE@% (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OBlaMAES 250,000 70 A 1,750
(OFSkeI ENPSEN 15,0003 x40E+13] 600
03 A2 8,050 8,050 0
oHLEWER U 8,050
OLAE 50,0002 %70 A *153] 5,250
OmzaEe| 400,00021%7 94 2 2,800
301 LBIEHI 4,200 4,200
14 JIEL2 A S 4,200 4,200
OBATEL SYHIANT BS4Y
50,0003 *7H A+ 128 4,200
307 @I2to| & 93,000 98,000 /5,000
01 22 +ZH| 93,000 98,000 25,000
OPJES; 9,000
Oo%= 8,000,000 8,000
(@F~=-F 1,000,000& 1,000
Ogvel 17,000
OF = 16,000,000 16,000
Ox2E 1,000,000 1,000
O%cl 9,000
o= 8,000,000& 8,000
ox2s 1,000,000& 1,000
o444 10,000
o= 9,000,000& 9,000
(@F~=-F 1,000,000& 1,000
©got 12,000
OF = 11,000,000& 11,000
Ox2E 1,000,000 1,000
o= 8,000
o= 7,000,000& 7,000
oxl2s 1,000,000& 1,000
o2=2% 28,000
Oo%=s 27,000,000 27,000
OAR2Z 1,000,000& 1,000
405 Attt = 375 5,780 A5,405
01 ML ESFSHI 375 5,780 A5,405
od2o1(gel) 100,000 *1CH 100
O3JI0IAKIDI(Z5t) 275,000 *1CH 275
HAHAE MEERE B WS 2,520 1,680 840
= 756
Al 1,764
201 er23 | 2,520 1,680 840
= 756




2A:

X XH -
o=

Rl 2AAZAIED|BHS (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,764
01 AtR2t2|HI 2,520 1,680 840
O2+u=H| 360,000 7 2,520
s 756
Al 1,764
A=A EX01E XA 39,855 37,913 1,942
& 9,697
Al 30,158
101 @124H| 39,855 37,913 1,942
= 9,697
Al 30,158
MU IIRINZZE2NSES 39,855 37,913 1,942
OZHIZA BxolA (7Y, 12€)
38,788,000 38,788
=S 9,697
Al 29,091
OC4AES JI2RE=2 1,067
OunE:es 38,788,000 *1.75% 679
O4tEe 38,788,000& * 1% 388
s0HE EAASMEIA JHEALS 40,848 50,200 N9,352
[ 27,231
= 6,808
Al 6.809
405 KHaHF S| 40,848 50,200 N9,352
= 27,231
& 6,808
Al 6.809
01 AL =S F = 40,848 50,200 N9,352
OosdHAl 5,480,000 =4CH 21,920
= 14,613
[ 3,653
Al 3,654
OYAMOIZ 1,840,000 *1CH 1,840
= 1,227
S 306
Al 307
OdlOAARIE 2,900,000 *1CH 2,900
= 1,933
== 484
Al 483
OBIE ZctoIt Al 2,900,000 = 1CH 2,900
= 1,933
== 484




2A:
X XH -
o e

=aak

SAQAZAIEIERF

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 483
OclO=ZellA 3,200,000 *1CH 3,200
[ 2,134
= 533
Al 533
o=t 2,900,000 *1CH 2,900
[ 1,933
&< 483
Al 484
O Al (OtE) 2,888,000 *1CH 2,888
[ 1,925
= 481
Al 482
OY = MAZALEHI(E2l)

2,300,000 *1CH 2,300
[ 1,533
= 384
Al 383

des A2 X311 792,718 812,570 19,852
Jl 292,843
T 198,532
Al 301,343

2B A 190,012 190,012 0
Jl 95,006
= 28,502
Al 66,504

308 AXIHSOIA 190,012 190,012 0
Jl 95,006
== 28,502
Al 66,504

1 SIS0t EAS A 190,012 190,012 0
(OF=FSl:] 190,012,000 190,012
Jl 95,006
== 28,502
Al 66,504

eSS HA A2 HE 17,120 18,400 1,280
Il 13,696
== 1,027
Al 2,397

308 AHXIHMSO0IA 17,120 18,400 1,280
7l 13,696
= 1,027
Al 2,397




2A:
X XH -
o e

=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

11 SIS0t 4 A AS A 17,120 18,400 1,280
(OF=FSl:] 17,120,000 17,120
Jl 13,696
< 1,027
Al 2,397

LE OISHIXIR (MEALY) 214,620 214,620 0
= 139,503
Al 75,117

307 el2to| & 214,620 214,620 0
= 139,503
Al 75,117

01 S22 &Hl 214,620 214,620 0
ogatht o=ZHIXIA 214,620,000& 214,620
s 139,503
Al 75,117

NS A2 A2 AL 68,480 68,480 0
Il 34,240
Al 34,240

202 04| 500 500 0
Jl 250
Al 250

01 =LHOHI 500 500 0
OXISHAt2AZ AL 08| 500,000 500
Jl 250
Al 250

307 212+01& 67,980 67,980 0
Jl 33,990
Al 33,990

05 2IZtAE = 67,980 67,980 0
OXIS A2l A2 At 67,980,000 67,980
Il 33,990
Al 33,990

NSAtel SSALSTAY 181,602 191,591 A\9,989
) 90,801
= 18,160
Al 72,641

201 Ler23| 40,102 56,491 16,389
Jl 20,051
[ 4,010
Al 16,041

01 At2t2ltl 32,102 38,491 26,389
OAHB U AT 17,102,000& 17,102
Il 8,551




SN BADAL
L TETETE
Ctel g5 2219101 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,710
Al 6.841
O-Z=EAAS 8,000,000& 8,000
Jl 4,000
== 800
Al 3,200
odlgade o2 At
6,000,000& 6,000
) 3,000
S 600
Al 2,400
OXSAt2S A HEA 1,000,000& 1,000
) 500
S 100
Al 400
03 A= SHI 8,000 18,000 10,000
OAHBUS AT 4,000,000 4,000
) 2,000
& 400
Al 1,600
O A= AAS 4,000,000& 4,000
) 2,000
< 400
Al 1,600
301 EtE N = 7,000 5,600 1,400
Jl 3,500
== 700
Al 2,800
14 JIEt2 8= 7,000 5,600 1,400
OAIZIEN Ald= 7,000,000& 7,000
Jl 3,500
== 700
Al 2,800
307 glztol & 134,500 129,500 5,000
Il 67,250
== 13,450
Al 53,800
01 22X 2| 134,500 129,500 5,000
OFZEANY ARF 8,000,000& 8,000
Jl 4,000
=S 800
Al 3,200




SH: BEBAL
L TETETE
el MEs A2 X210 EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OYAR FLtH 2 E=2A
16,000,000& 16,000
| 8,000
= 1,600
Al 6,400
ONIEBTE KRN ADE
6,000,000& 6,000
J| 3,000
= 600
Al 2,400
OYAZAAAY HEME
86,2502 *100H 122 103,500
J| 51,750
& 10,350
Al 41,400
OMEAY 228 ABE 1,000,000& 1,000
J| 500
= 100
Al 400
KEAel S SHXR AL 116,084 127,507 A11,423
J| 56,700
= 11,340
Al 48,044
101 eI H| 20,804 25,115 24,31
| 9,060
= 1,812
Al 9,932
M IIRNZ2EXsSEs 20,804 25,115 24,31
OSHAEAN(1H) 20,804
Oel| 2,271,610« 1H 62 13,630
| 6,815
= 1,363
Al 5,452
O&&Z 4,490,000 1 4,490
| 2,245
& 449
Al 1,7%6
O4UHEE JI2RE= 1,54
-=0H=z 14,240,000 *4. 5% 641
—2ALEE 14,240,000 *3.495% 498
-EIIQYEE 498,000&%12.27% 62
-NEZE 14,240,000& *1.75% 250
—ATHEE 14,240,000 * 1% 143
O E St 609,480 1H*13] 610




SH: BEBAL
M AYEW
el dEs A2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OsX=EIE 80,0002 x1H+6E 480
201 er23| 51,880 58,792 N6,912
) 25,940
& 5,188
Al 20,752
01 At2t2ltl 49,930 56,842 N6,912
OEE= ¥ usls 14,930,000 14,930
Jl 7,465
< 1,493
Al 5,972
os=¢2cld 29 10,000,000& 10,000
Jl 5,000
< 1,000
Al 4,000
osgsadry 20,000,000 20,000
Jl 10,000
== 2,000
Al 8,000
O=ad3XA V183 50,0002 *100H 5,000
Il 2,500
== 500
Al 2,000
2 s3=234l 450 450 0
Oz=HAEE &oiL2E 150,000& 3 450
Il 225
== 45
Al 180
03 A= &I 1,500 1,500 0
O3 WE T2 ZAHI
50,0002 *302] 1,500
Jl 750
& 150
Al 600
301 LEtE NS 15,400 13,600 1,800
Il 7,700
[ 1,540
Al 6,160
14 JIEt2 8= 15,400 13,600 1,800
O=dIcd 28=E
40,0002 x3E 120! 14,400
Jl 7,200
== 1,440
Al 5,760




SN HALAL
M AYEW
CHel: ME= AU (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONA=HAL A AN A3
5,00024x200H 1,000
7l 500
< 100
Al 400
307 elzto| & 28,000 30,000 22,000
Jl 14,000
[ 2,800
Al 11,200
01 22X &I 28,000 30,000 /2,000
0=¢12e|H 2Y(SHREM, L2E)
40,0002 700 28,000
Jl 14,000
< 2,800
Al 11,200
NS EHAE 25=Atell €= SE23 WSAS 1,940 1,960 A0
Jl 970
Al 970
201 er23| 1,940 1,960 A0
) 970
Al 970
01 AtR2t2|HI 1,940 1,960 A0
OX=2oH Wx Zdd|
1,940,000& x1H 1,940
Jl 970
Al 970
SrHEE MEIH 4 (FMTP) 2,860 0 2,860
Il 1,430
Al 1,430
201 er2&| 2,800 0 2,800
Il 1,430
Al 1,430
01 AtR2t2|HI 2,860 0 2,860
Od=20H Wx Zdd|
2,860,000& x1H 2,860
Il 1,430
Al 1,430
2y 2L A= 5,297,834 7,735,017 AN2,437,183
= 713,706
Il 1,765,217
= 727,880
Al 2,001,031
gyt 115,803 109,739 6,064
101 @12A4H| 38,903 27,519 11,384
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SH: BEBAL
M AYEW
Rl ZEY 22NAHRF EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 AL =S F=HI 9,020 0 9,020
OAZTHE (2 AHY) 9,020,000 *1CH 9,020
2cteloF DHOHZD!1 S OHOHAM ZHAIs=D| &= 13,000 0 13,000
= 6,500
Al 6,500
405 AtatE = 13,000 0 13,000
= 6,500
Al 6,500
01 Tt =S F=HI 13,000 0 13,000
OUYDI|2AIZHI(ONS)
6,500,000 ~2CH 13,000
= 6,500
Al 6,500
st ekt 22l X2 11,250 15,162 A3,912
= 5,625
< 5,625
301 EetE2 NS 11,250 15,162 A3,912
= 5,625
= 5,625
01 Al EE A S(FRNEXM) 11,250 15,162 23,912
OMotetdiel AAHIXIH
2,250,000 x6H 11,250
= 5,625
=S 5,625
SHElQITII oAbt TIIoHAL A4 &+ K| 69,360 89,760 /20,400
= 69,360
301 2eEN= 69,360 89,760 /20,400
= 69,360
01 Al EE A S (2 RDEXMA) 69,360 89,760 /20,400
OsHHOI IO At TIoH AL 42X
170,000 x34E 122 69,360
= 69,360
olol= & 4380 50,930 56,848 Nb5,918
Jl 25,465
= 7,640
Al 17,825
307 elztol & 50,930 56,848 25,918
Il 25,465
< 7,640
Al 17,825
01 22X+ 2| 50,930 56,848 Nb5,918
O©HIV/AIDS &l =H] 47,202,000 47,202
Jl 23,601




SN HALAL
M AYEW
el Z28Y 2ACIMAR= EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 7,081
Al 16,520
OHIV &IHAISF F0H S 2,750,000& 2,750
Jl 1,375
< 412
Al 963
odizEd 38 € X=X
978,000& 978
) 489
& 147
Al 342
Y ESAA 3,242,684 3,433,972 A191,288
) 1,621,342
& 486,403
Al 1,134,939
307 glztol & 3,242,684 3,433,972 A191,288
Jl 1,621,342
< 486,403
Al 1,134,939
01 22X 2| 3,242,684 3,433,972 191,288
OO0igl0l HEES 183 1,961,320,000& 1,961,320
Jl 980,660
=S 294,198
Al 686,462
O60IHE~12A ORI0I(U201E - FXIHE &
EEEM) QIESIT HYRE
353,350,000 363,350
Jl 176,675
s 53,003
Al 123,672
O13MI 0120l QIS AL} HBES
46,774,000 46,774
Il 23,387
== 7,016
Al 16,371
OYAIR QST HLES
18,094,000 18,094
Jl 9,047
< 2,714
Al 6,333
OHV 1Xt ES2= At 6,420,000& 6,420
Jl 3,210
== 963
Al 2,247




SH: BEBAL
L TETETE
Rl ZEY 22NAHRF EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OHV OIS At 31,090,000 31,090
J| 15,545
T 4,664
Al 10,881
odol HEESs 821,040,000 821,040
| 410,520
T 123,156
Al 287,364
OB 2t =402 MlZALS
4,5%,000& 4,5%
| 2,298
= 689
Al 1,609
AN 20 AL 71,409 79,213 AT,804
J| 35,705
= 9,11
Al 26,593
101 2124d| 8,166 35,501 N27,335
| 4,083
Al 4,083
M I1RHNZ2Z2XSEs 8,166 35,501 A27,335
OZH&A| MY 2T A 8,166
OPII=t= 2,031,6102x15+33 6,09
J| 3,048
Al 3,047
O4UEE J|12Rg= 746
=013 6,665,000& *4. 5% 300
| 150
Al 150
-H2AEE 6,665,000 *3.495% 233
J| 116
Al 117
-IIQYEH 233,000&*12.27% )
J| 15
Al 14
-1E2E 6,665,000& *1.75% 117
| 58
Al 59
HEE 6,665,000 *1% 67
| A
Al 33
OFAHZ AL 140,000 * 1«3 420
| 210




SH: BEBAL
M AYEW
el 28 2eMAT=E (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 210
O&d+¢< 50,0002 x1H+32 150
Jl 75
Al 75
OS=8%2g 50,0008 x1H+3& 150
Il 75
Al 75
Ooflgae=g 50,0003 x1H+3 150
Jl 75
Al 75
O04H| 80,000 x1H+32 240
7l 120
Al 120
Ol = 125,000& %1 125
Jl 62
Al 63
Oul=s| 90,0003 *1&x13] 0
Il 45
Al 45
201 el 4,451 4,136 315
Il 2,225
== 668
Al 1,558
01 At22t2l] 4,451 4,136 315
Os=2E(2tl# S 28
1, 1502 351,290 4 4,451
Jl 2,225
s 668
Al 1,558
202 04| 2,500 2,940 N4
Jl 1,250
Al 1,250
01 SLHoIH 2,500 2,940 A440
OAgctae] geht ol 2,500,000& 2,500
Jl 1,250
Al 1,250
301 EetE2 N = 1,000 1,000 0
Il 500
= 150
Al 350
01 ARRIE2EHSFS(RNEERTHE) 1,000 1,000 0
OYHS A dAHl X3
1,000,0002 %1 1,000




SH: BEBAL
M AYEW
Rl ZEY 22NAHRF EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Jl 500
=S 150
Al 350
307 212+01& 53,292 31,636 21,656
7l 26,647
= 7,993
Al 18,652
01 22 +=H] 53,292 31,636 21,656
Ogod B S 2,813,000 2,813
Jl 1,407
= 422
Al 984
oyZEEA LAl X 894,000 894
Il 447
= 134
Al 313
OZHIAET S FHAAHS 2 & B=52Z
sy g 2tel 24,420,000 24,420
Jl 12,210
= 3,663
Al 8,547
OZHASIIAN L E=ZHHTAIY S
10,388,000 10,388
7l 5,1%
= 1,558
Al 3,636
OZ SR L XX
4,375,000 4,375
Jl 2,188
=S 656
Al 1,531
O=SAIE SAL &=29428 g8
10,402,000 10,402
Il 5,201
== 1,560
Al 3,641
308 XXM SOIA 2,000 4,000 A2,000
Jl 1,000
s 300
Al 700
11 SI[2S0 e EAS A 2,000 4,000 22,000
OHAAPENAT| B
2,000,000& *12 2,000
Jl 1,000




SH: BEBAL
M AYEW
Rl ZEY 22NAHRF EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 300
Al 700
o|Z T2 Fe2c At 73,530 36,149 37,381
Il 73,530
307 212+01& 73,530 36,149 37,381
7l 73,530
02 QIZtEHAEE X 73,530 36,149 37,381
o2 gJ|a ZHeA 22 XH
36,765,000 2B+ 104 2 73,530
Jl 73,530
Slz2td ZEE HEZAIMA 29 9,000 10,000 21,000
Jl 9,000
307 lztol & 9,000 10,000 21,000
Jl 9,000
05 git?(& = 9,000 10,000 21,000
oz o - 22yl
9,000,000 *1JH 2 9,000
Jl 9,000
oz 2EY HEZAMA 24 (23Hl) 175 150 25
Jl 175
202 04l 175 150 25
Il 175
01 =LHO LI 175 150 25
ooz &L HEZAl 20|
175,000 175
Il 175
DZ2LH9 ZelSJAX =] K& 84,100 77,176 6,924
= 42,050
=S 42,050
307 glztol & 84,100 77,176 6,924
= 42,050
== 42,050
01 22X +&H| 84,100 77,176 6,924
OZ=ZLH9 Al X =H|
84,100,000 84,100
= 42,050
= 42,050
Z848US 12,500 166,481 153,981
201 2= 4,500 20,860 216,360
01 At2t2lt] 4,500 20,860 16,360
LN 4,500
OELELEICCELE)
1,000& x2Z+950H 1,900




SH: BEBAL
M AYEW
Rl ZEY 22NAHRF EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ogdiz SJ1az)| g & 2
200, 00021 %3CH+13] 600
OmMga 3= o e
1,000,000 «1CH=23] 2,000
307 212+01& 8,000 145,621 A137,621
01 22X 2| 8,000 145,621 137,621
odgrzAs 29 8,000
Ofzg 22F 8,000
-Zcl2dE 10,0003 =400 4,000
—EASH 4,000 500 2,000
“LHA A=A 5,000 400K 2,000
DZLHY9 HILES AAI(AIRH]) 1,180,342 3,315,739 A2,135,397
= 530,171
s 177,051
Al 413,120
& 1,180,342 3,315,739 A2,135,397
= 530,171
= 177,051
Al 413,120
IEECREEN 1,180,342 3,315,739 ~2,135,397
©22LHY 0
1,180,342,000& 1,180,342
= 590, 171
= 177,051
Al 413,120
=] = 2,033,401 1,995,100 38,301
= 2,250
= 36,621
7l 898,263
= 374,019
Al 722,248
gEAL A 54,600 54,470 130
201 fer=3| 2,600 2,470 130
01 AtR2t2|HI 2,600 2,470 130
O=E= 1,000 *2,600k 2,600
gIZtoId 52,000 52,000
B 52,000 52,000
og=zaelA 52,000
o%s & 15E)
20,0002 %2,600H 52,000
GE=V 73,242 0 73,242
[ 36,621
= 7,324
Al 29,297




SN HEBAL
Zu: AAST
&©HRl: IBFHAUAE Fs Y HLEE =4 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 43,242 0 43,242
= 21,621
== 4,324
Al 17,297
01 At22telt] 43,242 0 43,242
OEE2 ¥ 2I=E 43,242,000 43,242
= 21,621
=S 4,324
Al 17,297
307 212+01& 30,000 0 30,000
= 15,000
=S 3,000
Al 12,000
NIEEEEETT 30,000 0 30,000
OYYAE S 42E 7Y
30,000,000 30,000
= 15,000
= 3,000
Al 12,000
SEX XA (KO ) (M EAL) 10,555 10,555 0
[ 6,860
Al 3,695
201 Eer23 | 2,800 2,800 0
= 1,820
Al 980
01 At2teltl 2,800 2,800 0
oMY EE= 1,000& 2, 800H 2,800
= 1,820
Al 980
307 @I2t01 & 7,755 7,755 0
== 5,040
Al 2,715
01 22X 2| 7,755 7,755 0
oz d 2R2E 7,755,000 7,755
< 5,040
Al 2,715
ARG E e 2= NS 430,106 452,422 N22,316
Il 215,053
< 64,516
Al 150,637
308 XXM SO0IH 430,106 452,422 N22,316
Il 215,053
== 64,516




SN HALAL
M AYEW
&©HRl: IBFHAUAE Fs Y HLEE =4 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 180,537
1 S| 2SS SHASAIE 430,106 452,422 N22,316
Os|HE&At 2= H] 430,106,000 430,106
Il 215,053
= 64,516
Al 180,537
a2 A 1,900 1,900
201 fet= 3| 1,900 1,900
01 AtR2te|H] 1,900 1,900
OFAAY & THUTAE S22 A 1,900
OMBAE A2 HE
1,5002 *1,000% 1,500
OsE=s 78 500 +800H 400
SeAL=AWE =2 51,100 64,400 13,300
) 25,550
= 10,220
Al 16,330
307 elztol & 51,100 64,400 213,300
Jl 25,550
[ 10,220
Al 15,330
05 2IZtAE = 51,100 64,400 13,300
OFMAHI=XHEH 2
51,100,000 » 100 £ 51,100
Jl 25,550
< 10,220
Al 15,330
HAUAL=ZETHH 2L (KHAI) 20,000 20,000 0
307 elztol & 20,000 20,000
05 2IHRIE S 20,000 20,000
OXNY - SAALSTAIL
20,000,000 * 100 2 20,000
SAALSAHE RS 486,720 413,413 73,307
Il 243,360
= 97,344
Al 146,016
307 el2to| & 486,720 413,413 73,307
) 243,360
& 97,344
Al 146,016
05 2IMRIE =3 486,720 413,413 73,307
OFAALSNME CI2AstE
486,720,000 * 10 2 486,720
) 243,360




PN HEABAL
M AYEW
&©HRl: IBFHAUAE Fs Y HLEE =4 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 97,344
Al 146,016
LSSk =2/t X 27,000 22,000 5,000
= 6,750
Al 20,250
307 gl2to| & 27,000 22,000 5,000
=S 6,750
Al 20,250
05 git?(& = 27,000 22,000 5,000
O<=sEX Xz228l X
27,000,000 * 11 2 27,000
< 6,750
Al 20,250
gl S=SHY XsH X3 13,000 13,000 0
= 3,032
Al 9,968
307 el2to| & 13,000 13,000 0
= 3,032
Al 9,968
05 glt?(& = 13,000 13,000 0
ottagi =28 X=8l XA
13,000,000 * 104 2 13,000
[ 3,032
Al 9,968
NSAtel A0 UWERAD 2= 4,000 4,000 0
= 1,200
Al 2,800
307 elzto| & 4,000 4,000 0
= 1,200
Al 2,800
05 git?(& = 4,000 4,000 0
OXISHALe taid WERA F5
4,000,000 * 10 2= 4,000
[ 1,200
Al 2,800
JUAL=SINHE S SAL MHEH N2 15,600 16,600 0
= 4,680
Al 10,920
307 el2tol & 15,600 15,600 0
= 4,680
Al 10,920
05 212+ = 15,600 15,600 0
OFAABFAHE S SAHL XIS HI
A& 15,600,000& 15,600




A FEEAL
Zu: AAST
&©HRl: IBFHAUAE Fs Y HLEE =4 (EEEE))
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
= 4,680
Al 10,920
SAEE XZHl K& A 4,500 8,000 A3,500
= 2,250
= 900
Al 1,350
307 2I2+01A 4,500 8,000 A3,500
= 2,250
= 900
Al 1,350
05 2I2tRES 4,500 8,000 A3,500
OFATE XIZY N AL
4,500,000 x 10 2 4,500
= 2,250
= 900
Al 1,350
HAALSKME KHaUEAIE X3 69,184 70,978 A1,794
| 34,592
& 13,836
Al 20,756
307 gI2tol M 69, 184 70,978 A1,7%4
| 34,592
& 13,836
Al 20,756
05 QIZtRIErZ 69, 184 70,978 A1,794
OFAMHAL=XNHE Kt ZTAISE K&
69, 184,000 *1JH 2 69, 184
| 34,592
& 13,836
Al 20,756
SSHMALYSEAG 153,300 155,000 A1,700
| 76,650
& 30,660
Al 45,990
307 QI2Hol 153,300 155,000 A1,700
| 76,650
& 30,660
Al 45,990
05 QIZtRIEIS 153,300 155,000 A1,700
OSEHAALSEIALY
153,300,000 * 14 2~ 153,300
J| 76,650
& 30,660
Al 45,990




2A:
X XH -
o e

=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
et 2= AAE MHIA XZ AR 44,500 0 44,500
Jl 22,250
== 8,900
Al 13,350
307 212+01& 44,500 0 44,500
Il 22,250
=S 8,900
Al 13,350
05 git?(& = 44,500 0 44,500
OXted == 2AE AMUIA XE A
44,500,000 * 11 2 44,500
Il 22,250
= 8,900
Al 13,350
Ot HE 2SS 349,010 463,378 114,368
Jl 279,208
= 13,960
Al 55,842
201 fer= 3| 246,625 296,892 N50,267
Il 197,300
= 9,865
Al 39,460
01 AtR2t2|HI 166,929 228,660 261,731
OEHA =E 1,372,000« 18122 16,464
) 13,171
= 659
Al 2,634
OB3=d AAXZAMELDN ¢
100,000 224 200
Il 160
== 8
Al 32
03e FH=+g 1,400
OXIG A8 M 8l BXY
100,000 5 »23] 1,000
Jl 800
S 40
Al 160
OXINSS=ZAE Atllalel Sag
100,000 +4& 400
Jl 320
=S 16
Al 64
ou =l 90,0002 *x20 *13] 1,800




SN HALAL
ma: AAEZ
CHel: RS PE U AYBY X4 (crel:xie
K- B8 S (31) - MISAY - BES Ofl by e MimE=E)
J| 1,440
= 72
Al 288
oY=240| 22| 32,0002 *x4CHx 128 1,536
J| 1,228
= 61
Al 247
OZJIHED| 22|
35,0002 *4CHx 128 1,680
J| 1,344
= 67
Al 269
OBABS 442
1,408,000& x 1~ 12& 16,896
J| 13,517
c 676
Al 2,703
02| OHEBR (HssE
145,000& 1Y« 128 1,740
J| 1,392
= 70
Al 278
OXIOHRHAIMIE] A2 H| 120,000
OINE=22l L EIIBTAI
8,000,000& 8,000
J| 6,400
& 320
Al 1,280
OXIOHIADINSA & Ol 2t A
8,000,000& 8,000
J| 6,400
& 320
Al 1,280
OxIOHRHOLE 2
1,250,000 *8IH A~ 10,000
J| 8,000
& 400
Al 1,600
OXIOHE A e Y IIEXSAY
10,000,000& 10,000
J| 8,000
& 400
Al 1,600
OXIOHetAIME 20 2 =8
84,000,000& 84,000




PN HEABAL
M AYEW
&©HRl: IBFHAUAE Fs Y HLEE =4 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 67,200
=S 3,360
Al 13,440
OXIOHRtA e 22| 5,213,000& 5,213
7l 4,171
= 208
Al 834
2 S22l 19,696 28,232 28,536
OXIOHetAdiE] PHE 2ER=
18,616,000& 18,616
Il 14,893
s 745
Al 2,978
oTv, 24, dJ3Re= 65,0002« 12& 780
Il 624
s 31
Al 125
O=2Q 28= 150,000 2 300
Jl 240
=S 12
Al 48
03 A2 I 60,000 40,000 20,000
OnS, T2 U HH 2
30,000,000& 30,000
Il 24,000
== 1,200
Al 4,800
OxIfetalts 24 30,000,000& 30,000
Il 24,000
== 1,200
Al 4,800
202 04l 24,000 24,000 0
Jl 19,200
s 960
Al 3,840
01 =LHOLI 24,000 24,000 0
ORI F £&0d|
100,000 x20&E « 12& 24,000
Jl 19,200
=S 960
Al 3,840
301 2eEN= 22,400 17,400 5,000
Jl 17,920
=S 89%6




SN HALAL
L TETETE
9l A2HONE 75 o ALY (ol m2)
M- B SRASH) - HRAR - B2 of v e HIDE2
Al 3,584
11 #AIAHIXIZ S 10,000 10,000 0
Ou=x, T2 & BHQ 2E S
8,500,000& 8,500
Jl 6.800
= 340
Al 1,360
OXlfety0tE =23 750,000 #2042 1,500
Il 1,200
& 60
Al 240
14 0Bt 2a3 12,400 7,400 5,000
oZZsA0 HEXL
200,000« 1H* 122 2,400
7l 1,920
S %
Al 384
OAIZIEO Ald= 5,000 %2,000& 10,000
Jl 8,000
= 400
Al 1,600
307 21201 & 55,985 125,086 269,101
Jl 44,788
= 2,239
Al 8,958
01 22X &l 55,785 125,086 69,301
OXIfet i FdEsE N
20,0002 130« 122 31,200
Il 24,960
= 1,248
Al 4,992
Oox%sE & A== AEFE
9,585,000& 9,585
Jl 7,668
= 383
Al 1,534
OXIHZ=I 1B E HLZ A
150,000 100 15,000
Jl 12,000
= 600
Al 2,400
06 28= 200 0 200
OZZISFOA 283
10,0002 20 200
Jl 160




SN HEBAL
Zu: AAST
&©HRl: IBFHAUAE Fs Y HLEE =4 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 8
Al 32
XIOHXIZ 22 HI(SFMIBl) RIS (HEAY) 133,196 133,196 0
= 86,577
Al 46,619
308 AHAIEMSOIE 133,196 133,1%6 0
=S 86,577
Al 46,619
1 S| 2SO0 UeZBSHASAIE 133,196 133,196 0
OXIOHXIZ 22/ 133,196,000 133,196
< 86,577
Al 46,619
A=l SS=A X2 2,000 2,900 2900
Jl 1,600
== 80
Al 320
201 2= 200 500 A300
Jl 160
=S 8
Al 32
01 AtR2t2|HI 200 500 A300
ost ZXHIE S 200,000 200
Jl 160
S 8
Al 2
301 EtE NS 1,800 2,400 2600
Jl 1,440
= 72
Al 288
14 JIEt2 a3 1,800 2,400 A600
Oo=del g=t| 150,0002 x1&* 122 1,800
Il 1,440
= 72
Al 288
ROt At S S HE A 79,888 79,888 0
=S 15,180
Al 64,708
307 21201 & 79,888 79,888 0
== 15,180
Al 64,708
01 22X 2| 79,888 79,888 0
OXIHe At =S HE X 79,888,000 79,888
& 15,180




PN HEABAL
M AYEW
&©HRl: IBFHAUAE Fs Y HLEE =4 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 64,708
XIHIADHSXI (X E T2 2F) 10,000 10,000 0
== 2,000
Al 8,000
201 =3 3,500 3,500 0
< 700
Al 2,800
01 At2tltl 3,500 3,500 0
ocligrz1d8 g2= & USSR S
3,500,000 3,500
= 700
Al 2,800
301 Eet2 NS 6,500 6,500 0
== 1,300
Al 5,200
11 AALAEIXIE S 200 200 0
OeIXeg T2 24 200,000 200
< 40
Al 160
14 IIEt2 83 6,300 6,300 0
©J14X12101 ¢SX2Hl 6,300,000& 6,300
= 1,260
Al 5,040
241 Ots2 A2 Atel 8 1,631,626 1,525,488 106,138
= 192,875
) 46,600
< 924,816
Al 467,335
SXUEAAY 18,000 12,000 6,000
201 er23 | 18,000 12,000 6,000
01 At2teltl 18,000 12,000 6,000
OZX=EANY EE2EE HA & 72 18,000
OguMLANSXHEX S 22X M=
1,500&x25+1,200% 3,600
OR2XNEAAMNE E2=5 7
3,000 x45+1, 2004 14,400
oA JAEL O|FHIXZ 4,050 4,000 50
Jl 2,025
== 1,013
Al 1,012
308 AFAIEHMSOIH 4,050 4,000 50
Jl 2,025
=S 1,013




SH: BEBAL
Hu: AYEW
Ciel: @41 1S9l 2A2AIE 7B (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,012
1 SISt AS A 4,050 4,000 50
OFAEAR US4 O ZHIXIE
4,050,000 4,050
Jl 2,025
= 1,013
Al 1,012
AR A0 A2 A KIR A (B EFALY) 818,460 911,232 N2, TT2
== 572,922
Al 245,538
308 AHXIHMSO0IA 818,460 911,232 N2, 772
< 572,922
Al 245,538
11 SIS0t oA A A 818,460 911,232 AR, T72
OXZ2AYOL AZ2e|Ab XIEH
818,460,000 818,460
= 572,922
Al 245,538
e A AZHA oL S S2H| 1,888 1,887 1
Il 1,510
= 114
Al 264
201 fer23| 1,888 1,887 1
Jl 1,510
== 114
Al 264
01 At2teltl 1,888 1,887 1
OAIHE2HI 1,888,000 1,888
Jl 1,510
[ 114
Al 264
IR0t A2 FA 3,122 2,352 770
Jl 2,498
& 187
Al 437
308 XXM SOIA 3,122 2,352 770
Jl 2,498
s 187
Al 437
11 B[ 2S0He 4 EAS A 3,122 2,352 770
Ogs=0t Had 3,122,000& 3.122
Jl 2,498
= 187




SN HALAL
B A=
Chelr DA OFSQl AAAE 7 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 437
S=0F LEH LA XA 5,050 5,050 0
Jl 4,040
= 303
Al 707
307 gl2to| & 5,050 5,050 0
Jl 4,040
= 303
Al 707
BEEEEET] 5,050 5,050 0
OYRO0 LT FL A
5,050,000& 5,050
) 4,040
= 303
Al 707
S&d HAOIZS A & etot2te 22,660 18,964 3,696
Jl 11,330
= 5,665
Al 5,665
307 elztol & 22,660 18,964 3,69%6
Jl 11,330
< 5,665
Al 5,665
01 22X &I 22,660 18,964 3,6%
OAEE AIOIYE AR & 802t
22,660,000 22,660
Jl 11,330
< 5,665
Al 5,665
S HEAAL 20| X2 1,625 1,000 625
Jl 813
== 406
Al 406
307 212+01& 1,625 1,000 625
J| 813
=S 406
Al 406
01 22 +=H| 1,625 1,000 625
OZAEl & 23| XI& 1,625,000 1,625
Jl 813
= 406
Al 406
0l=0t & d&&0l&0t 22 H| 23,500 39,000 15,500




SN HALAL
Hu: AYEW
chel: DAD 0FSOl AUAIE P (12l M2
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| 11,750
= 5,875
Al 5,875
307 gIzHol ™ 23,500 39,000 A15,500
| 11,750
& 5,875
Al 5,875
01 224+ =H| 23,500 39,000 A15,500
O0I=0t & S L0IA0t 2 =ZHI
23,500,000& 23,500
| 11,750
& 5,875
Al 5,875
HEINEAE 829 1,718 A889
| 414
& 208
Al 207
308 AHXIHMSOIH 829 1,718 A889
J| 414
= 208
Al 207
11 312 S0eHE &R A LI 829 1,718 A889
OEEZXNEAHSE 829,000 829
| 414
= 208
Al 207
LIS T2 (MEALY) 314,100 212,550 101,550
& 235,575
Al 78,525
307 QI2Hol M 314,100 212,550 101,550
= 235,575
Al 78,525
01 9 =2¥¢+=H| 314,100 212,550 101,550
IS Al=H| AR 314,100,000 314,100
= 235,575
Al 78,525
LR L StEtX|ISH] XA 8,152 11,260 A3,108
201 Let23| 900 900 0
01 ArR22ltl 900 900 0
OE2E ME 2,000 45074 900
307 QI2Ho1 M 7,252 10,360 A3,108
01 =24 7=H| 7,252 10,360 A3,108




SH: BEBAL
Hu: AYEW
Ciel: @41 1S9l 2A2AIE 7B (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
odYes sgxz X
1,036,000 +7& 7,252
VAT o= X2 24,440 30,000 A\b5,560
) 12,220
= 6,110
Al 6.110
307 elztol & 24,440 30,000 25,560
Jl 12,220
[ 6,110
Al 6,110
01 22X 2| 24,440 30,000 A\5,560
0DIFYNER oRY| X
24,440,000& 24,440
Jl 12,220
< 6,110
Al 6,110
MNASE JIMFH ZHES KA 385,750 274,475 111,275
= 192,875
< 96,438
Al 96,437
308 XtXIEMSO0IE 385,750 274,475 111,275
= 192,875
=S 96,438
Al 96,437
11 B[ 2S0He 4 EAS A 385,750 274,475 111,275
OMASE JIHA - ZHES XL
385,750,000 385,750
= 192,875
=S 96,438
Al 96,437
olokate| 3,900 46,050 A42,150
Il 1,400
= 600
Al 1,900
ozJ2 S N=s8d 1,900 2,450 A550
201 fer=3| 1,900 2,450 550
01 AtR2te|Hl 1,900 2,450 2550
ONIACIe e & AL E2S
9503 *2,000H 1,900
224 MEUSE 2SR 2,000 2,000 0
Jl 1,400
== 600
307 elztol & 2,000 2,000 0
) 1,400




PN HEABAL
M AYEW
el Slerae EERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 600
01 S22 &l 2,000 2,000 0
S=E2AZANE 2,000,000 *1SET 2,000
Il 1,400
= 600
HH2IJH(HALHL) 2,097,6% 2,019,547 78,149
= 73,400
Jl 454,093
=S 65,295
Al 1,504,908
el 2E | 1,912,702 1,817,179 95,523
[ 73,400
Jl 454,093
< 65,295
Al 1,319,914
el 863,581 902,450 A38,869
101 @124H| 863,581 902,450 A38,869
01 &= 188,320 232,621 A44,301
oy 188,320
SENECES
11,1302 #4728 x30A1 2+ 122 188,320
02 JIEtA = 75,732 76,281 Ab49
OgEtS I 3,468
OENEEPN
14,4463 x 18 *20A1 2+ 123 3,468
OFAHZE 2,029
Oxz=22=¢
11,2723 x 18+ 1BAI1 2 123 2,029
OZS=22d2AM 70,235
Ollzgsdcd=a 64,800
-9 1t 1,350,000 x2&* 122 32,400
—-stol i, Xl 900,000 «3H 122 32,400
ofgz2e=g 40,0003 x5~ 128 2,400
Ozxu=ze=g 3,035
-Ui< 13,3692 4 *4A| 2t 123 2,567
-S4 9,736 *1H*4A 2123 468
03 SRA(RIH )22+ 599,529 593,548 5,981
(©ftiFals] 539,529
OJles 209,729
-288=2(00H=2) 3,388,400 «1H* 122 40,661
-198=2(0t=) 3,164,500« 1H« 123 37,974
-1853(0t=) 3,108, 7102« 1E« 122 37,305
-1453001=) 2,884,830« 1H« 122 34,618




SH: BEBAL
Hu: HESAAY(HALAL)
chol: ol (19 @)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
-85=(0=) 2,549, 4103 ~1H+ 128 30,593
S=22(00t=) 2,381,5008 1%~ 1228 28,578
OEse 20,640
-t <Xt 40,0002 x17E~ 128 8,160
-EHIS 20,000 7 * 122 1,680
LU PE 20,0002« 11H* 123 2,640
LN E 60,0002 x8& * 122 5,760
-SHO0I= Xt 100,000& x2&+ 123 2,400
o254 942,061,920 *5% 47,104
O&d+g 50,0003 x20H « 12 17,400
ORlg+g 50,0003 «290H 123 17,400
Ooblg=22+¢
8,000 x2EH*102* 12 1,920
Ozxu=22=g
19,0183 20 x15A1 2t 12 99,274
OFHZAHI 140,0003 x20H 123 48,720
Og&E=Itd| 78,505,000& x50%+22] 78,505
Ogt=2 4| 101,443 x20E ~20! 58,837
ZH01d 148,822 122,450 26,372
WM H=sEE=S 148,822 99,250 49,572
M 3RA(RIY) 22X B828E=2 S 148,822 23,964 124,858
OSRA(RIAHA) 22X =0z I|22
g3 1,331,861,000& *4.50% 59,934
OSRA(RINHA)ZEX 2UHLEE D
HEHS 52,261
(@Falz gt 1,331,861, 1002 *3.495% 46,549
OFIIQAEE 46,549,000 *12.27% 5,712
O3RH(RIIAH)22X NSEE |22
g3 1,331,861, 100&*1.75% 23,308
OSRA(RINHA)ZZ2 X MATHHNEE =
1,331,861, 100& x1.00% 13,319
ANZZHULAIS (EX) 65,426 36,859 28,567
Il 32,713
Al 32,713
101 @124H| 63,273 34,811 28,462
Il 31,636
Al 31,637
02 JIEtME = 37,296 34,811 2,485
OAIZIE RN S22 JI2a
1,992,500« 1H 122 23,910
Il 11,995
Al 11,955
OHZEE JI2RE= 1,445
OFalR gt 36,804,000 *3.495% 1,287




SH: BEBAL
Hu: HESAAY(HALAL)
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 643
Al 644
OFIIRAEE 1,287,000&%12.27% 158
7l 79
Al 79
OAIZIEE DN sF& dltadii=
3,399,000& 3,39
7l 1,700
Al 1,699
=g 8,542
OMHEESE 2,880
- Xt 40,0002 x1&* 122 480
Il 240
Al 240
-&EH|= 20,000 18 * 122 240
Il 120
Al 120
LU PE 20,0002 x1& 122 240
Jl 120
Al 120
—=M XA 60,0002 x1& * 122 720
7l 360
Al 360
A AHA 100,000&«1&x12& 1,200
Jl 600
Al 600
OAZ2I22+E
9,620 x1H*20A| 2+ 123 2,309
Il 1,185
Al 1,14
OLdzde=g 43, 75031« 123 525
Il 262
Al 263
OS+=A2=E 95,640 x 18122 1,148
) 574
Al 574
Od A ZAMH| 140,000& x 1= 123 1,680
Jl 840
Al 840
03 SR (RINHA) 222+ 25,977 25,977
OZHTG2USA 25,977
Oel2b| 25,977,0003 1< 25,977
Jl 12,988




2A:
PSR
ool

AL
BH2AHY| (R 2AL)
olt2 o]

RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Al 12,989
204 2P AFH| 2,153 2,048 105
Il 1,077
Al 1,076
02 M= 2xH| 1,628 1,523 105
OAIZMEER I DI HI
155,000 x 12 %35/40A1 2+ 123 1,628
J| 814
Al 814
03 S3g =3l 525 525 0
OAIZHISRIII M Y B S| (REL 48
=) 50,0002 *12x35/40A1 2+ 128 525
Jl 263
Al 262
XIOHQtAMIE 2SR (EX) 257,813 230,370 27,443
Il 206,250
s 10,313
Al 41,250
101 e124d| 242,745 216,037 26,708
Il 194,196
= 9,710
Al 38,839
02 JIeta 2= 242,745 216,037 26,708
OAIRMHIERIQAD M SR Jl=2
2,020,000%*7%*12% 169,680
Il 135,744
= 6,787
Al 27,149
O4UEE JIARE= 8,787
(@Faks-t= 223,915,440 %3.495% 7,826
J| 6,261
=S 313
Al 1,252
OFIIRALEH 7,826,000&+12.27% 961
2l 768
=S 39
Al 154
OAIIIHLIIN B2 HHA013
19,544,000 19,544
Jl 15,635
s 782
Al 3,127
o< 44,734
OH2E=E 5,760




SN BRABAL
M S| (HAEHA)
chel: oleie |
RN - I BRA(E) - HRA - BES of v A
BN} 40,0002 x4 x 122 1,920
Il 1,536
S w7
Al 307
LU PE 20,0002 =2~ 122 480
Il 384
= 19
Al 7
B LUPE 60,0002 3 * 122 2,160
J| 1,728
S 86
Al 346
—ASURH KHA 100,003 x1& =123 1,200
Il 960
S 48
Al 192
OAIteI 22+
9, 1602 x7H+20AI12H+ 123 15,389
Il 12,311
S 616
Al 2,462
OS=Atsg 96,880 7 * 122 8,138
J| 6,511
S 325
Al 1,302
OS2 4| 6,840 777 Al 2t 3,687
J| 2,950
S 147
Al 590
OZAUSAI 140,000 x7 &+ 123 11,760
Il 9,408
S 47
Al 1,881
204 XMRs=HFH| 15,068 14,333
Jl 12,054
S 603
Al 2,411
02 g2 x| 11,393 10,658
OAIZMEERRI DI |
155,000 x72&%35/40A12++ 123 11,393
J| 9,114
S 456
Al 1,823
03 S2Z 23| 3,675 3,675




QA HEBAL
Hu: HESAAY(HALAL)
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAIZEEHANIM eSSt (SSE+&
=) 50,0003 x7 2 %35/40A1 2+ 123 3,675
Jl 2,940
[ 147
Al 588
ML ES S5 AHI(EX) 27,240 26,780 460
Jl 13,620
Al 13,620
101 @124H| 27,240 26,780 460
) 13,620
Al 13,620
03 SR (RIH )22+ 27,240 26,780 460
OV EESSHERY 2500 (12)
27,240,000 27,240
7l 13,620
Al 13,620
XHALE] SEHYBEAIL(EX) 234,360 223,560 10,800
Jl 117,180
< 23,436
Al 93,744
101 @124H| 234,360 223,560 10,800
Jl 117,180
=S 23,436
Al 93,744
03 SR (RIH )22+ 234,360 223,560 10,800
OSEULSIMNY H2e13 IAH|(99) 234,360
@)ulal:] 232,200,000 232,200
Il 116,100
s 23,220
Al 92,880
Od=201d W=H| 240,000 0 2,160
Jl 1,080
s 216
Al 864
KNEASS4 SHAXNIMHIA(EX) 168,660 130,110 38,550
Jl 84,330
=S 16,866
Al 67,464
101 ©1AH| 168,660 130,110 38,550
Jl 84,330
= 16,866
Al 67,464
03 SRH(RIH )22 U2+ 168,660 130,110 38,550
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QA HEBAL
Hu: HESAAY|(HALAL)
29l Jl=3l (crel ®2l)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ooggt 4002 «1,800S+ 122 8,640
OSYI 2,500 +70S5 122 2,100
202 04| 86,400 98,800 12,400
01 2L AL 52,800 67,600 14,800
OJI=&H| 20,0003 x44H 52« 128 52,800
02 XN 33,600 31,200 2,400
OHAIZSEA SHANHI 33,600
OolotRelA XSS
200,000& «4H*12& 9,600
OsNg Y2224 =4
200,000« 1H =122 2,400
OSBIXIY #ew =3
200,000&x0E ~12& 21,600
203 HR=H] 11,700 12,800 21,100
02 FRItArE =AY 3,480 3,920 440
OFIMAHH =AY 40,0002 87 3,480
MU A2 LRSI 8,220 8,880 AB60
OFANEHYE =AY 8,220
(@)=t 8,220
-302! Olat 400,000 123 4,800
-30Q! =1t 5,00021+57& * 122 3,420




